Svenska Bridgeférbundet
SM Par Open - Semifinal 2021-08-06

Partavling, 58 bord, 115 par. Antal brickor: 60. Medel: 3357.2. Frirond (*) ger egen procent.

Plac Par
1 80
2 31
3 29
4 77
5 43
6 40
7 52
8 78
9 81

10 26
11 56
12 65
13 15
14 46
15 68
16 73
17 38
18 54
19 20
20 76
21 101
22 18
23 14
24 48
25 64
26 5
27 44
28 103
29 12
30 62
31 108
32 72
33 32
34 19
35 50
36 69
37 86
38 88
39 93
40 79
41 21
42 66
43 100
44 27
45 1
46 91
47 55
48 82
49 35
50 113
51 42
52 109
53 75
54 114
55 63
56 39
57 92
58 61
59 94
60 13
61 87
62 85
63 7
64 8
65 67
66 34
67 33
68 60
69 97
70 24
71 10
72 51
73 90
74 53
75 70
76 28
777 74
78 11
79 17
80 111
81 112
82 4
83 83
84 47
85 49

Poang

3988.2
3852.3
3805.9
3780.6
3780.5
3766.3
3757.5
3744.1
3724.0
3701.4
3692.8
3690.3
3674.4
3628.2
3620.8
3613.0
3600.7
3600.4
3596.2
3595.0
3578.3
3574.5
3573.3
3543.1
3527.3
3521.5
3521.1
3513.5
3512.9
3512.3
3507.4
3502.7
3495.1
3493.7
3492.8
3491.5
3488.9
3481.5
3480.0
3477.9
3477.2
3473.4
3452.8
3434.0
3429.8
3429.0
3423.4
3422.1
3418.2
3413.5
3404.9
3383.7
3378.8
3377.5
3375.3
3372.6
3372.3
3361.0
3359.3
3356.5
3353.4
3349.4
3345.8
3343.0
3342.5
3332.2
3330.6
3321.2
3313.3
3313.2
3310.8
3303.0
3298.6
3295.0
3291.7
3289.6
3286.0
3280.6
3271.6
3265.5
3249.5
3231.6
3225.2
3219.6
3219.4

%

59.35
57.33
56.63
56.26
56.26
56.05
55.92
55.72
55.42
55.08
54.95
54.92
54.68
53.99
53.88
53.76
53.58
53.58
53.52
53.50
53.25
53.19
53.17
52.73
52.49
52.40
52.40
52.28
52.28
52.27
52.19
52.12
52.01
51.99
51.98
51.96
51.92
51.81
51.79
51.75
51.74
51.69
51.38
51.10
51.04
51.03
50.94
50.92
50.87
50.80
50.67
50.35
50.28
50.26
50.23
50.19
50.18
50.01
49.99
49.95
49.90
49.84
49.79
49.75
49.74
49.59
49.56
49.42
49.31
49.30
49.27
49.15
49.09
49.03
48.98
48.95
48.90
48.82
48.68
48.59
48.36
48.09
47.99
47.91
47.91

Namn

Johnny Ostberg - Tommy Bergdahl
Nils Ahlén - Eva Gunnarsson

Gote Berntsson - Henrik Wegnelius
Johan Safsten - Mans Sjoqvist

Olle Wademark - Daniel Eriksson
Leif Lundberg - Jonatan Johansson
Mats Johansson - Bjorn Alenfalk

Ola Rimstedt - Simon Hult

Lars Ramquist - Joakim Nordlindh
Leif Axelsson - Tommy Fréjdh
Johnny Petersson - Henrik Séllberg
Torbjorn Gustavsson - Per Clarin
Johan Bennet - Thomas Andersson
Marcus Hjelte - Dan Granberg
Magnus Arve - Mats Felldin

Jan Andersson - Mikael Lindblom
Mikael Johansson - Kenneth Hallgren
Per-Arne Karlsson - Hans Kvick
Thomas Brehmer - Johan Gronkvist
Peter Térnblom - David Wrang
Alexander Sandin - Thomas Karlsson
Pasi Kallio - Kenneth Wallin

Hakan Straaf - Mats Sjoberg

Christer Eriksson - Kjell Hedman
Harry Hjort Warlenius - Ivar Lichtenstein
Tony Lindblom - Jonas Hjelte

Goran Anér - Tommy Hagstrém

Lars Kennethsson - Per Jansson
Jan-Erik Thomasson - Olof Bergstrém
Bjorn Ohlsson - Peter Olofsson

Leif Beckman - Sten-Ake Thunberg
Andreas Abragi - Mattias Weiler
Goran Andersson - Stefan Olausson
Pontus Adolfson - Tobias Bern

la Borling - Linnea Edlund

Bjorn Wenneberg - Goran Selldén
Bo-Henry Ek - Mats Pettersson
Hakan Tjarnemo - Pierre Carbonnier
Lars Marjoniemi - Jérgen Lundberg
Simon Bech - Christer Bech

Jimmy Herrdin - Magnus Hultman
Carl-Henrik Nauclér - Tobias Bjorling
Monica Nas - Kenneth Fredriksson
Sten Johansson - Tage Bengtsson
Anders Tjernvik - Lars Johansson
Anders Johansen - Per-Ake Jansson
Per Hansson - Carsten Kofoed
Anders Freij - Jan-Eric Larsson
Andreas Skoglund - Anders Lindstrém
Kent Johansson - Mikael Westerlund
Lars Ericson - Bo Ericson

Hans Eriksson - Claes-Hugo Larsson
Peter Carlsson - Per Leandersson
Tomas Lundh - Jan Hjorth

Lars Nilsson - Magnus Lindkvist

Lars Moquist - Claes Lindh

Lars Lundgren - Mikael Rydstedt
Bogdan Nowacki - Géran Magnusson
Lennart Ekholm - Christer Astrém
Christoffer Jarnestrom - Mattias Forss
Perry Sjoberg - Jan Gutenwik

David Probert - Tomas Borgesson
Christer Géllstrom - Allan Christensen
Kent Lundstrém - Gunnar Schéfer
Cristina Ringstrom - Per Gjellan
Lena Johansson - Leif Johansson
Benny Olsson - Roger Nyman
Morgan Svensson - Johan Isaksson
Mia Breding - Bo Jonsson

UIf Halvorsen - Carina Halvorsen
Ove Olofsson - UIf Andersson
Anders Blomé - Ulf Nohrén

Solveig Bystrom - Nils Andersson
Lars Olsson - Rolf Westman

Mart Altmée - Mari Lindblom

Kaj Toivosson - Jérgen Lantz

Patric Holmberg - Par Ol-Mars

Jaan Heinlo - Jan Geiborg

Johan Sverker - Dejana Sverker
Fredrik Jarlvik - Tatyana Trendafilova
Tomas Andgren - Per Sjéberg
Markus Hedstrém - Torbjoérn Olsson
Gerth Hermansson - Tor-Bjérn Bohman
Jan Norberg - Gosta Krén

Mikael Fahlander - Peter Huotila

MID

2051
1169
92122
35452
14800
20271
15014
88183
80480
1706
11931
1255
93
84282
40423
11704
3510
1246
4133
2265
41730
4029
1161
9292
67520
21037
2820
17074
1304
5648
18021
58640
1857
12775
89037
1912
2381
5534
14508
87173
81411
87456
9852
47019
80178
82466
45045
5548
23392
1834
12536
4844
11594
79113
43950
9743
10275
15806
50946
1977
5775
3990
44292
85082
39288
15309
592
871
87116
3452
30296
13107
57019
2795
5914
1673
17031
2171
50941
4451
49953
87082
3093
2842
13534

2181
12598
2050
2328
24659
62721
2828
36107
35307
11280
29785
10538
15537
6
58833
5094
9758
2878
8342
87080
8958
1597
1198
2832
66621
88994
9775
2485
1200
5771
2754
11482
49941
66187
34773
4863
5587
5538
7657
8966
14044
87624
9842
1688
1242
2714
5868
29190
18346
9690
2962
18560
87992
4158
1831
21588
90657
1123
38022
87222
6302
1073
65809
20696
54463
18448
7522
87278
47392
91477
48309
2798
3543
2821
996
1612
5342
12165
50940
35574
2494
12371
8467
50145
4317

Klubb

Gavle BK - Norrorts Bridge
BK Bjorken - Arvika BS
BK Lyx - BK Alert
Uppsalabridgen - BK S:t Erik
Norrorts Bridge - Gavle BK
Luled BK

Uppsalabridgen

Harplinge BK - Uppsalabridgen
BK Alert

Skoévde BA

Séllskapet, Ronneby

BK S:t Erik

Overums BK
Uppsalabridgen

BK S:t Erik

BK S:t Erik

Karlstads BK
Uppsalabridgen
Orebridgen

BK S:t Erik
Storsjobygdens BK
Orebridgen

Filbyter Bridge
Uppsalabridgen

BK S:t Erik

Kisa BS

Uppsalabridgen

BK Lyx

Filbyter Bridge
Sélvesborgs BK
Onsdagsklubben

BK S:t Erik

BK S:t Erik - Borlange BK
Orebridgen
Uppsalabridgen

BK Alert

Orebridgen - BK Lavec
Lunds BK

Hallstahammars BK - ABB BK
BK S:t Erik

ABK Singelton, Askersund - Lindesbergs BS
BK S:t Erik
Storsjobygdens BK

Boras BA

Filbyter Bridge
Smedstadens BK
Karlshamns BK - Sélvesborgs BK
LUCK

Karlstads BK

BK Lyx - Onsdagsklubben
Gévle BK
Partille/MéInlycke BK

BK S:t Erik

Visby BS

BK S:t Erik
Bridgekamraterna Nybro - Kalmarsunds BK
Arboga BK

Vaxjobridgen - Bridgeklubben Karlskrona
ABB BK

Overums BK

Malmé BK

BK Lavec

Katrineholms BA

Overums BK

Norrorts Bridge
Ulricehamns BK

Skovde BA - Hunnebostrand-Kungshamns BK
Hovmantorps BK
Storsjébygdens BK
Vanershorgs BS
Norrkdpingsbridgen
Uppsalabridgen

ABB BK

Uppsalabridgen

BK S:t Erik - Varnamo BK
Ulricehamns BK

BK S:t Erik

Gnesta BK

Orebridgen

Malmo BK

BK Lyx

Amaéls BS.

BK Lyx - Angelholms BS
Vaddo BK

Uppsalabridgen
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86 45 3204.6 47.69 Johan Froberg - Leif Mattsson 19626 1808 Vaddo BK .
87 6 3203.1 47.67 Peter Kennerfalk - Lena Lundqvist 7397 25982 Valdemarsviks BK - Orebridgen
88 57 3187.4 47.43 Bengt Bellander - Gabor Barath 903 916  Véxjobridgen
89 4 31823 47.36 Goran Forss - Marie Afors 809 48302 Norrkopingsbridgen
90 84 3179.6 47.32 KentHermansson - Lars Becklén 94292 80419 BK Bridgehuset - Malmé BK
91 23 3174.2 47.23 Ulf Backman - Ola Svensson 82648 21351 Laholms BK - Munka Ljungby BS
92 95 3169.7 47.17 Gunilla Bjerregard - Asa Andersson 4757 7928 ABB BK
93 30 3157.3 46.98 Bo Roos - Bjorn Sorling 13691 80438 Ulricehamns BK
94 71 31549 46.95 Louise Hallgvist - Ylva Johansson 8874 14116 BK S:tErik
95 3 3153.0 46.92 Roger Hilmersson - Anita Bergstedt 42107 35005 Filbyter Bridge
96 37 3136.5 46.67 Magnus Gronberg - Joakim Ericson 26280 26279 Skutskéars BK
97 107 3135.5 46.66 Kjell Evensen - Adam Kovasznay 11738 50874 Askims BK
98 58 3131.6 46.60 Per Hult-Jonas Hagg 13220 27584 Vishy BS - BK S:t Erik
99 16 3129.6 46.57 Claus Rohnisch - Lars S Karlsson 4081 63419 Orebridgen
100 25 3114.6 46.35 Goran Lidgren - Bjorn Westling 10066 1666 Boras BA
101 115 3112.1 46.31 Roger Elovsson - Ingrid Skoglund 10671 3419 Karlstads BK - Hammar6 BK
102 102 3108.1 46.25 Per Andersson - Nils Svensson 17111 26780 BK Albrekts
103 59 3100.1 46.13 Lena Schalin - Ronny Schalin 91200 713  Bridgeklubben Karlskrona
104 2 3081.6 45.86 Peter Johansson - Simon Grandell 64340 66921 Norrkdpingsbridgen
105 110 3057.9 4550 Bo Larsson - Carl Heyman 35666 37760 Bohus Nations BS
106 106 3048.3 45.36 Jan Andersson - Hans Thimell 37709 37708 BK Lyx
107 89 3020.6 44.95 Gisela Sjoholm - Inge Johansson 53325 53324 Arboga BK
108 104 3008.9 44.77 Sten Aronsson - Sven-Olof Onnesson 37634 10902 BK Falkenberg
109 22 3007.3 44.75 Christer Ferm - Irene Forss 61548 61545 Tidaholms BK
110 96 2962.6 44.09 Sture Helmersson - Lars Rydman 16749 17814 ABB BK
111 9 2895.3 43.09 Sven Andersson - Ingegard Andersson 6682 2813 BK Sang, Oxelésund - Stigtomta BK
112 36 2819.1 41.95 Eva Nilsson - Seija Karkkainen 60259 61171 Karlstads BK
113 99 2735.4 40.71 Curt Alstergren - Anders Hyttstrand 55007 36293 Are-Duveds BK
114 105 2599.3 38.68 Yr Logadottir - Barbro Lindemalm--Lundstam 65013 41690 Askims BK
115 98 2113.7 31.45 Carina Sollander - Inger Svardby Hyttstrand 34758 36294 Storsjobygdens BK - Are-Duveds BK
1 A E74 2 4Kn 3 4« EKn8
Nord v K106 Ost v E932 Syd v K1065
Ingen + K86 NS ¢ K643 ov ¢+ EK
#D985 #DKn42 #10753
« K92 & DKn6 4 E652 #D10743 4D10743 #K52
v32 v ED854 vD7 v5 v 83 vD94
¢ D10973 ¢42 4987 ¢ EDKn1052 + 1065 + DKn973
K64 #E73 #9765 &3 *Kn84 &E2
410853 4 K98 496
v Kn97 v KKn10864 vEKn72
¢ EKn5 ¢- ¢ 842
#Kn102 #EK108 2#KD96
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
107 89 2NO-2 «J 100 1120 00| 11 28 6vDS= ¢7 1660 1120 00| 75 3 4vN+2 ¢Q 480 1120 0.0
4 9 INN= v5 90 1060 6.0 15 32 6v S= 4A 1430 101.0 11.0| 99 83 3NN+2 ¢3 460 1100 2.0
17 68 INN-= v5 90 106.0 6.0( 18 106 6v S= ¢7 1430 101.0 110 1 84 4vy N+l ¢Q 450 87.0 25.0
35 10 INN= +4 90 106.0 6.0 24 52 6v S= 4A 1430 101.0 11.0| 2 37 4v N+1 3 450 87.0 25.0
58 93 INN= *7 90 1060 6.0| 41 61 6¥Y S= ¢7 1430 101.0 11.0( 5115 4vy N+1 3 450 87.0 25.0
90 70 INN= 4Q 90 106.0 6.0| 47 103 6v S= 4A 1430 101.0 11.0| 27 59 4v S+1 43 450 87.0 25.0
41 61 INV-1 *5 50 99.0 13.0| 50 67 6v S= 4A 1430 101.0 11.0| 33 73 4vy N+1 ¢Q 450 87.0 25.0
81 33 INV-1 &5 50 99.0 13.0| 54 109 6v S= A 1430 101.0 11.0| 40 78 4y N+1 ¢Q 450 87.0 25.0
15 32 INS-1 v3 -50 91.0 21.0|111 43 6v S= ¢7 1430 101.0 110( 50 13 4vy N+1 ¢Q 450 87.0 25.0
47 103 INN-1 v4 -50 91.0 21.0|112 22 6v S= ¢9 1430 101.0 110( 65 49 4vy N+1 +Q 450 87.0 25.0
72 29 INN-1 v4 -50 91.0 21.0|114 20 6v S= «A 1430 101.0 11.0| 67 52 4y N+1 ¢Q 450 87.0 25.0
80 79 INS-1 v3 -50 91.0 21.0| 6 101 5vDS+1 4A 1050 90.0 22.0| 70 9 4vy N+1 &A 450 87.0 25.0
92 77 INN-1 v5 -50 91.0 21.0| 4 9 5aD0O-4 &A 800 83.0 29.0| 72 55 4vy N+1 &2 450 87.0 25.0
113 87 INN-1 v4 -50 91.0 21.0| 26 27 6aDO-4 #A 800 83.0 29.0| 76 28 4v S+1 v8 450 87.0 25.0
19 21 INV= 8 -90 80.0 32.0| 49 38 54D0O-4 &A 800 83.0 29.0| 77 6 4vy N+1 &A 450 87.0 25.0
26 27 INV= +6 -90 80.0 32.0| 55 84 6aDO-4 &K 800 83.0 29.0| 79 105 4v S+1 ¢T 450 87.0 25.0
57 95 INV= &5 90 800 320| 82 65 54DO-4 &A 800 83.0 29.0| 81 42 4vy N+1 ¢Q 450 87.0 25.0
112 22 INV= a4 -90 80.0 32.0| 90 70 54D O-4 ¥4 800 83.0 29.0| 82 20 4y N+1 ¢Q 450 87.0 25.0
115 31 INV= 8 -90 80.0 32.0| 8 100 4v S+2 +9 680 58.0 54.0| 87 44 4v N+1 ¢Q 450 87.0 25.0
5 75 INN-2 v5 -100 66.0 46.0( 16 96 4v S+2 +9 680 580 54.0| 91 16 4v N+1 ¢Q 450 87.0 25.0
18 106 1NN -2 v5 -100 66.0 46.0( 23 88 5v S+1 A 680 58.0 54.0| 92 12 4y N+1 ¢Q 450 87.0 25.0
54 109 1NN -2 v4 -100 66.0 46.0( 25 94 5v S+1 A 680 58.0 54.0|103 32 4vy N+1 ¢Q 450 87.0 25.0
55 84 INN-2 «Q -100 66.0 46.0| 30 37 5v S+1 ¢7 680 58.0 54.0|107 39 4vy N+1 ¢Q 450 87.0 25.0
62 105 INDN-1 ¥5 -100 66.0 46.0| 34 63 4v S+2 +9 680 58.0 54.0|108 62 4vy N+1 ¢Q 450 87.0 25.0
66 12 INN-2 v4 -100 66.0 46.0( 35 10 5v S+1 +9 680 58.0 54.0| 54 111 3NN +1 ¢3 430 64.0 48.0
76 7 INN-2 v4 -100 66.0 460 36 2 5v S+1 A 680 58.0 54.0| 8 86 4v N= ¢Q 420 37.0 75.0
108 44 INN-2 4Q -100 66.0 46.0| 53 3 4v S+2 ¢9 680 58.0 54.0| 14 41 4y N= ¢+Q 420 37.0 75.0
111 43 INN-2 v4 -100 66.0 46.0( 57 95 4v S+2 ¢7 680 58.0 54.0| 15 69 4v N= ¢Q 420 37.0 75.0
1 51 1vO+1 &5 -110 46.0 66.0 58 93 4v S+2 A 680 58.0 54.0| 23 19 4y N= ¢Q 420 37.0 75.0
30 37 2v 0= 45 -110 46.0 66.0| 62 105 4v S+2 A 680 58.0 54.0| 30 36 4y N= ¢+Q 420 37.0 75.0
34 63 2v O= %] -110 46.0 66.0| 64 97 5v S+1 +9 680 58.0 54.0| 35 26 4v N= ¢Q 420 37.0 75.0
36 2 2v0= LN -110 46.0 66.0| 66 12 5v N+1 43 680 580 54.0| 45 4 4y N= ¢Q 420 37.0 75.0
49 38 2vO= LN -110  46.0 66.0| 72 29 5v S+1 A 680 58.0 54.0| 46 74 4v N= ¢+Q 420 37.0 75.0
59 42 2¢ V+1 #8 -110 46.0 66.0( 81 33 4v S+2 +8 680 58.0 54.0| 48 18 4v N= ¢Q 420 37.0 75.0
73 78 2¢ V+1 8 -110 46.0 66.0| 86 60 5v S+1 A 680 58.0 54.0| 57 88 4y N= ¢Q 420 37.0 75.0
85 71 2¢ V+1 8 -110 46.0 66.0|107 89 5v S+1 ¢9 680 58.0 54.0| 58 96 4v N= ¢+Q 420 37.0 75.0
91 48 2v V= 8 -110 46.0 66.0(108 44 5v S+1 ¢7 680 58.0 54.0| 60 100 4v N = ¢Q 420 37.0 75.0
102 104 1v O+1  #J -110 46.0 66.0| 98 39 4v S+1 ¢9 650 38.0 74.0| 63 24 4y N= ¢J 420 37.0 75.0
110 40 2¢ V+1 4A -110 46.0 66.0| 1 51 54DO-3 &#A 500 33.0 79.0| 64 29 4y N= ¢Q 420 37.0 75.0
6 101 1INV +1 44 120 310 81.0| 76 7 44DO-3 #A 500 33.0 79.0| 68 38 4y N= +Q 420 37.0 75.0
53 3 INV+1 4 -120 31.0 81.0| 80 79 54DO-3 #K 500 33.0 79.0| 71 104 4v N= ¢Q 420 37.0 75.0
83 56 INV+1 8 -120 31.0 81.0|113 87 54D0O-3 #A 500 33.0 79.0| 80 66 4y N= ¢+Q 420 37.0 75.0
99 45 2NO= 48 -120 310 81.0| 5 75 44DO-2 &#A 300 240 88.0| 93 10 4v S= ¢5 420 37.0 75.0
23 88 1lvO+2 45 -140 250 87.0| 17 68 54DO-2 &A 300 240 88.0| 94 97 4y N= A 420 37.0 75.0
114 20 2¢» O+1 45 -140 250 87.0( 73 78 54DO-2 &K 300 240 88.0| 95 53 4y N= ¢+Q 420 37.0 75.0
8 100 INN-3 v4 150 13.0 99.0| 74 69 54D O-2 A 300 240 88.0|101 34 4v S= 43 420 37.0 75.0
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11 28 24 S-3 v3 -150 13.0 99.0(110 40 6¢DO-2 #A 300 240 88.0|102 22 4y N= A 420 37.0 75.0
24 52 24 N-3 ¢4 150 130 99.0| 59 42 44 O-3 A 150 18.0 94.0|106 109 4v N = ¢+Q 420 37.0 75.0
25 94 1INV +2 44 -150 13.0 99.0| 46 14 44 O-2 A 100 11.0 101.0 |112 56 4y N= +Q 420 37.0 75.0
46 14 INN-3 v4 -150 13.0 99.0( 83 56 44 V-2 vA 100 11.0 101.0|113 11 4v N= ¢+Q 420 37.0 75.0
50 67 1INV +2 44 150 13.0 99.0| 91 48 44 O-2 K 100 11.0 101.0|114 7 4vy N= +Q 420 37.0 75.0
64 97 1INV +2 44 -150 13.0 99.0| 92 77 54DO-1 &A 100 11.0 101.0| 17 31 2v S+3 +5 200 8.0 104.0
82 65 INV+2 44 150 13.0 99.0| 99 45 44 O-2 «A 100 11.0 101.0| 25 110 3v N +2 +Q 200 8.0 104.0
86 60 1INV +2 a4 150 13.0 99.0(115 31 5¢DO-1 #A 100 11.0 101.0| 47 90 3v N +2 *«A 200 8.0 104.0
98 39 INV+2 &5 -150 13.0 99.0| 8 71 7v S-1 «A -100 4.0 108.0| 43 89 3v N+1 A 170 4.0 108.0
74 69 INRDN-2 v4  -600 2.0 110.0 {102 104 44 N-6 &3  -600 2.0 110.0| 98 85 3v N= +Q 140 2.0 110.0
16 96 34DS-4 v3 -800 0.0 112.0| 19 21 6NDN-6 43 -1700 0.0 112.0| 21 51 3NN-1 +Q -50 0.0 112.0
13 - 55.9 13 - 55.9 61 - 56.0
4 « D87652 5 + K96 6 4 Kn
Vast v 106 Nord v97 Ost vD10965
Alla + Kn8 NS ¢+ E8 ov + D853
#DKn9 #EK8632 #EKn3
4E104 &KKn3 4 E532 410874 4 EKD92 410843
v E98 v KKn543 v10832 vEK5 vK v 874
¢E102 753 ¢+Kn42 ¢ K93 ¢ EKKn ¢ 107
210632 &EK «D9 *754 210976 #D854
49 4« DKn 4765
vD72 v DKn64 v EKn32
+ KD964 + D10765 49642
#8754 #Knl0 »K2
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
75 3 4v V-1 +J 100 111.0 1.0| 27 57 3NN+1 vA 630 1100 2.0| 28 16 3v N= v4 140 111.0 1.0
79 105 3NO-1 +4 100 111.0 10| 31 14 3NN+1 vyA 630 1100 2.0|114 39 3v N= &4 140 111.0 1.0
102 22 3v O+1 49 -170 1080 4.0| 51 26 3NN+1 vA 630 1100 20| 1 64 4e V-1 v9 100 1040 8.0
5115 2¢vO+3 49 -200 1050 7.0| 30 15 3NN= vA 600 1050 7.0| 21 89 4aV-1 v5 100 1040 8.0
76 28 24 N-2 &K -200 1050 7.0| 88 77 3NS= v2 600 105.0 7.0| 42 2 4eV-1 v5 100 1040 8.0
43 89 29y O+4 9  -230 102.0 10.0| 23 12 INN+3 &7 180 100.0 12.0| 74 13 4a V-1 v5 100 1040 8.0
30 36 3NO= ¢+K -600 100.0 12.0( 44 20 INN+3 «7 180 100.0 12.0| 84 85 2NV-1 v5 100 1040 8.0
14 41 4v O= 49 620 87.0 25.0| 54 50 INN+3 &7 180 100.0 12.0| 51 26 3v S-1 LY -50 97.0 15.0
58 96 4v O= 49 620 870 250| 1 64 34 O-3 &J 150 90.0 22.0|100 97 3v N-1 Ly -50 97.0 15.0
60 100 4v O = ¢K -620 87.0 25.0( 9 98 INN+2 «4 150 90.0 22.0| 73 49 2NV= v9 -120 93.0 19.0
65 49 4v O= 49 -620 87.0 25.0| 38 102 2NN +1 &7 150 90.0 22.0|105 115 2N O = v3 -120 93.0 19.0
68 38 4v O= 49 620 87.0 25.0| 41 79 3 N+2 vA 150 90.0 22.0| 23 12 24 V+1 v9 -140 88.0 24.0
77 6 4v O= 49 620 87.0 25.0| 48 96 2NN +1 47 150 90.0 22.0| 25 3 1la V+2 v6 -140 88.0 24.0
80 66 4v O= ¢K -620 87.0 25.0( 61 106 34 O-3 «J 150 90.0 22.0| 63 33 14 O+2 &5 -140 88.0 24.0
92 12 4v O= 9 620 87.0 25.0| 65 104 INN+2 &7 150 90.0 22.0| 4 112 24 V+2 v5 -170 64.0 48.0
94 97 4v V= &0Q -620 87.0 25.0| 21 89 2# N +2 vA 130 68.0 44.0| 6 17 1a V43 v5 -170 64.0 48.0
101 34 4v O= ¢K -620 87.0 25.0( 25 3 3&N+1 vA 130 68.0 44.0| 9 98 3& V+1 v6 -170 64.0 48.0
107 39 4v O= 49 620 87.0 25.0| 28 16 2# N +2 vK 130 68.0 44.0| 10 52 3a V+1 v6 -170 64.0 48.0
112 56 4y O= 49 620 87.0 25.0| 29 37 2# N+2 vA 130 68.0 440 19 67 14 V+3 v5 -170 64.0 48.0
2 37 3NV+1 46 -630 60.0 52.0| 32 43 34 S+1 v3 130 68.0 44.0( 22 46 34 V+1 v5 -170 64.0 48.0
25 110 3NV +1 46 -630 60.0 52.0| 42 2 2& N+2 vA 130 68.0 44.0| 24 71 3a4 V+1 v9 -170 64.0 48.0
27 59 3NV +1 46 -630 60.0 52.0| 55 94 2& N +2 vA 130 68.0 440 27 57 34 0+1 vA -170 64.0 48.0
45 4 3NV +1 46 -630 60.0 52.0| 60 45 2& N +2 vA 130 68.0 44.0| 31 14 24 V+2 v9 -170 64.0 48.0
46 74 3NO+1 49 -630 60.0 52.0| 69 90 2# N +2 vA 130 68.0 44.0| 36 113 34 O+1 &5 -170 64.0 48.0
48 18 3NV +1 #Q -630 60.0 520| 72 109 24 N+2 47 130 68.0 44.0( 48 96 34 V+1 v9 -170 64.0 48.0
50 13 3NV +1 5 -630 60.0 52.0| 87 108 2# N +2 +3 130 68.0 44.0| 54 50 1a V+3 +5 -170 64.0 48.0
64 29 3NV +1 7 -630 60.0 52.0| 91 34 2& N+2 vA 130 68.0 44.0| 59 8 34 V+1 v9 -170 64.0 48.0
70 9 3NV+1 5 -630 60.0 52.0({100 97 2& N +2 vA 130 68.0 44.0( 65 104 34 V+1 v5 -170 64.0 48.0
71 104 3NV +1 7 -630 60.0 52.0|105 115 24 N+2 47 130 68.0 44.0| 69 90 3& V+1 v9 -170 64.0 48.0
91 16 3NV +1 5 -630 60.0 520111 18 3« N+1 &4 130 68.0 44.0| 78 11 3a V+1 v9 -170 64.0 48.0
95 53 3NV+1 45 630 60.0 520| 4 112 24 N+1 vA 110 31.0 81.0( 80 62 34 V+1 v9 -170 64.0 48.0
98 85 3NV+1 2 -630 600 520| 6 17 3#N-= vA 110 31.0 81.0| 86 101 1a V+3 v9 -170 64.0 48.0
99 83 3NV+1 42 -630 60.0 520| 10 52 2« N+1 47 110 310 81.0| 91 34 1a V43 v9 -170 64.0 48.0
114 7 3NV +1 5 630 600 520| 19 67 24 N+1 44 110 31.0 81.0| 93 103 24 V +2 v6 -170 64.0 48.0
8 86 4vO+1 49 -650 310 81.0| 24 71 2#N+1 #4 110 31.0 81.0|110 66 1a V+3 v5 -170 64.0 48.0
17 31 4vO+1 49 -650 31.0 81.0( 36 113 2& N +1 vA 110 310 81.0| 7 40 1la V+4 ] -200  40.0 72.0
21 51 4v0O+1 K -650 31.0 810|566 5 2&N+1 vA 110 31.0 81.0( 5 5 1laV+4 v9 -200 40.0 72.0
23 19 4v0O+1 49 650 31.0 810( 59 8 2&N+1 vK 110 310 81.0| 99 82 24 O+3 v2 -200 400 720
33 73 4vyO+1 ¢Q -650 310 810| 63 33 24 N+1 48 110 310 81.0| 47 35 4vyDS-2 A -300 340 780
54 111 4y O+1 49 -650 31.0 81.0| 73 49 3 N-= vA 110 310 81.0| 76 58 5¢vDN-2 T -300 34.0 780
57 88 49y O+1 &7 -650 310 810| 74 13 24 N+1 &4 110 31.0 81.0(111 18 5vDS-2 A -300 340 78.0
63 24 4vyO+1 49 650 31.0 810 76 58 3& N= «7 110 310 81.0| 72 109 5vDS-3 ¢A -500 30.0 82.0
67 52 4vO+1 49 -650 31.0 810 78 11 24 N+1 T 110 310 81.0| 29 37 44 V= 4] -620 15.0 97.0
8l 42 49y 0O+1 49 -650 31.0 81.0| 80 62 2& N +1 vA 110 310 81.0| 30 15 4e V= LN -620 15.0 97.0
82 20 4vyO+1 49 650 31.0 81.0| 84 85 3#N-= &4 110 310 81.0| 32 43 44 O= ¢4 620 15.0 97.0
87 44 4v O+1 49 -650 31.0 81.0| 86 101 2# N +1 vA 110 31.0 81.0| 38 102 44 V= v9 -620 15.0 97.0
93 10 49y O+1 49 -650 31.0 81.0| 92 81 2& N +1 vA 110 31.0 81.0( 41 79 44 V= v5 -620 150 97.0
113 11 4vO+1 49 -650 31.0 81.0| 93 103 3# N= vA 110 310 81.0| 53 68 4a V= v9 -620 15.0 97.0
15 69 3NV +2 46 -660 10.0 102.0| 99 82 34 N-= «7 110 310 81.0| 55 94 4a V= v9 -620 15.0 97.0
35 26 3NV +2 45 -660 10.0 102.0|107 75 2&# N+1 47 110 310 81.0| 60 45 4e4 V= v9 -620 15.0 97.0
40 78 3NV +2 48 -660 10.0 102.0|110 66 3¢ S= ¢2 110 31.0 81.0| 61 106 4s V= v9 -620 15.0 97.0
47 90 3NV +2 #0Q -660 10.0 102.0|114 39 24 N+1 T 110 31.0 81.0| 87 108 44 V= v9 -620 15.0 97.0
72 55 3NV +2 vyT -660 10.0 102.0| 7 40 24 V-2 A 100 8.0 104.0| 88 77 44 V= v9 -620 15.0 97.0
103 32 3NV +2 vT -660 10.0 102.0( 22 46 24 V-1 ¢+A 50 4.0 108.0| 92 81 44 V= v5 -620 15.0 97.0
108 62 3NV +2 46 -660 10.0 102.0| 53 68 24 O-1 &J 50 4.0 108.0| 95 70 44 V= v9 -620 15.0 97.0
106 109 4v O+2 49  -680 2.0 1100 95 70 24 O-1 LN 50 4.0 108.0 {107 75 44 V= v6 -620 15.0 97.0
1 84 24DN-5 &A -1400 0.0 1120 47 35 24 O= «Q -110 0.0 112.0( 44 20 14DN-4 &) -800 0.0 112.0
61 - 56.0 83 - 53.8 83 - 53.8
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7 « E986 8 a- 9 2 D632
Syd v K752 Vast v E9632 Nord vED
Alla +D Ingen ¢ KD42 ov + K64
£#Kn973 #KD107 &DKn64
4 KD3 4 Kn1042 4 KDKn942 4853 4 K10875 4 E94
v10 v Kn643 vK74 v Kn8 v 9765 v8
¢ EKn84 ¢ 765 ¢+ E97 4 Kn653 .- + ED87532
&#K8652 #E4 *9 &E542 #10832 #EK
475 4 E1076 & Kn
v ED98 v D105 v KKn10432
¢ K10932 + 108 4 Kn109
D10 #Kn863 #975
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
91 3yDN+1 ¢7 930 1120 0.0| 49 99 54DV-4 &K 800 1120 0.0| 81 48 5¢DO-2 4J 500 1120 0.0
85 3#aDV-3 ¢Q 800 1100 20| 76 66 4vyDN= 48 590 110.0 2.0| 3 64 44 V-3 «Q 300 1099 21
80 34DO-2 vA 500 1080 40| 63 43 3#DS+1 4K 570 108.0 4.0 10 109 5¢ O-2 «J 200 1069 5.1
30 2%V -2 +Q 200 102.0 10.0| 74 105 44DV-3 &K 500 105.0 7.0 43 105 4¢ O-2 «J 200 1069 5.1
49 2DV -1 ¢Q 200 102.0 10.0| 78 104 34DV-3 &K 500 1050 7.0| 29 25 44 O-1 «J 100 99.8 12.2
57 INV - 46 200 102.0 10.0| 26 55 4vy N= 3 420 99.0 13.0| 76 100 4s V-1 vA 100 99.8 12.2
63 264 O-2 5 200 102.0 100| 41 4 4y N= 8 420 99.0 13.0( 82 42 44 O-1 «J 100 99.8 12.2
89 34 O-2 v8 200 102.0 10.0| 79 18 4vy N= 8 420 99.0 13.0| 85 60 4e V-1 42 100 99.8 12.2
41 2v N +1 «J 140 91.0 21.0( 80 37 4v S= &9 420 99.0 13.0( 87 104 4¢ O-1 «J 100 99.8 12.2
48 2v N +1 44 140 91.0 21.0( 28 10 3NS= 4K 400 94.0 18.0( 15 108 3NN-1 *7 -50 916 204
51 3v N= «J 140 91.0 21.0( 12 115 34DV-2 &K 300 87.0 25.0| 90 112 3v S-1 a5 -50 916 204
52 2v S+1 &2 140 91.0 21.0( 29 36 34aDV-2 &K 300 87.0 25.0(101 30 3NN-1 +3 -50 916 204
69 2v N +1 «J 140 91.0 21.0( 51 75 34DV-2 &K 300 87.0 25.0| 38 74 3vS-2 *3 -100 86.5 255
87 2v N +1 «J 140 91.0 21.0| 56 21 34DV-2 &K 300 87.0 25.0| 45 71 3NN-2 ¢A -100 86.5 255
2 2v N= &A 110 740 38.0| 58 65 44DV-2 &K 300 870 250| 4 17 3¢ O= aJ -110 70.3 41.8
8 2v N= «J 110 74.0 38.0( 60 101 44DV-2 &K 300 87.0 250| 9 83 34 O= aJ -110 70.3 418
12 2v S= 4K 110 740 38.0| 61 22 44 V-3 K 150 80.0 32.0| 18 77 3¢ O= aJ -110 70.3 418
27 2v N= «J 110 74.0 38.0( 50 113 44 S= 4K 130 770 350| 24 44 3¢ O= aJ -110 70.3 41.8
29 2v N= +5 110 740 38.0( 52 84 44 S-= 4K 130 770 350 34 73 2¢ O+1 aJ -110 70.3 418
56 2v S= 4K 110 740 38.0| 5 42 44DV-1 &K 100 62.0 50.0| 36 12 3¢ O= aJ -110 70.3 418
71 2v N= «J 110 740 38.0| 11 88 44 V-2 &K 100 62.0 50.0| 39 33 3¢ O= aJ -110 70.3 41.8
73 2v S= 4K 110 740 380 15 72 44 V-2 &K 100 62.0 50.0| 53 86 3¢ O= &5 -110 70.3 418
74 2v N= «A 110 740 38.0( 33 25 34DV-1 &#Q 100 62.0 50.0| 59 106 2¢ O +1 aJ -110 70.3 418
76 2v S= vyT 110 740 38.0( 47 32 44DV-1 <A 100 62.0 50.0| 61 13 2¢ O+1 aJ -110 70.3 41.8
96 2v N= &A 110 740 38.0| 68 54 34DV-1 &K 100 620 50.0| 89 8 34 O= aJ -110 70.3 418
9 INV-1 6 100 60.0 52.0| 69 31 34 V-2 «K 100 62.0 50.0| 92 97 3¢ O= aJ -110 70.3 418
61 3 V-1 +Q 100 60.0 52.0( 81 90 24aDV-1 &K 100 62.0 50.0102 57 2¢ O+1 aJ -110 70.3 41.8
102 le V-1 v5 100 60.0 52.0| 85 39 34 V-2 &K 100 62.0 50.0|103 21 34 O= aJ -110 70.3 418
78 2¢ S= vT 20 55.0 57.0| 96 23 34 V-2 «K 100 62.0 50.0| 51 69 3¢ O+1 aJ -130 529 59.1
95 2¢ S= vT 90 55.0 57.0(106 3 44 V-2 &K 100 62.0 50.0| 54 31 3¢ O+1 aJ -130 529 59.1
28 INV= +Q -90 48.0 64.0|107 24 34 V-2 &K 100 62.0 50.0 (111 62 3¢ O+1 aJ -130 529 59.1
45 2¢ V= *3 -90 48.0 64.0|111 70 3«4DV-1 &K 100 62.0 500 2 84 34 V= «Q -140 458 66.2
77 INV= 46 -90 480 64.0| 27 62 34 V-1 «Q 50 410 710| 6 99 34 V= vyA -140 458 66.2
79 INV= 48 90 480 64.0| 45 94 34 V-1 &K 50 410 710| 22 95 34 V= vA -140 458 66.2
98 INV= 46 90 48.0 64.0| 59 53 34 V-1 «K 50 410 71.0| 41 75 34 V= vA -140 458 66.2
5 2¢ S-1 vyT -100 27.0 850| 77 35 24 V-1 &K 50 410 71.0| 14 49 3v N-3 #A -150 356 764
6 3v N-1 aJ -100 27.0 85.0(| 86 92 24 V-1 &K 50 410 71.0| 19 113 3v S-3 a5 -150 356 76.4
7 3v N-1 L) -100 27.0 85.0| 87 34 34 V-1 «K 50 410 71.0| 23 50 3v S-3 a5 -150 35.6 76.4
11 3v N-1 a] -100 27.0 85.0| 89 93 34 V-1 &K 50 410 710| 35 78 3v S-3 #3 -150 35.6 76.4
15 3v S-1 4K -100 270 85.0(108 1 34 V-1 &K 50 410 710| 40 96 3v S-3 *3 -150 356 76.4
40 2v S-1 4K -100 270 850| 7 38 4vS-1 *9 -50 28.0 84.0| 68 52 3v S-3 *3 -150 35.6 76.4
50 2¢ S-1 vyT -100 27.0 850( 8 46 4v N-1 43 -50 28.0 84.0| 20 56 4v S-4 #3 -200 275 845
58 3v N-1 &#A -100 270 850| 71 14 44 S-1 &K -50 280 84.0| 28 91 2¢ S-4 a5 -200 275 845
59 3v N-1 L] -100 27.0 85.0| 95 64 44 S-1 &K -50 28.0 84.0| 37 7 4vyDS-3 43 -500 22.4 89.6
60 3vy N-1 &A -100 27.0 85.0(|114 44 4v N-1 43 -50 28.0 84.0| 55 67 3vyDS-3 &7 -500 22.4 89.6
68 2¢ S-1 vyT -100 27.0 850| 9103 3NS-2 4K -100 19.0 93.0| 88 80 4¢vDS-3 45 -500 22.4 89.6
86 2v S-1 vT -100 27.0 85.0( 40 112 5v N-2 a3 -100 19.0 93.0( 11 27 4a V= vyA -620 122 998
106 3v S-1 &2 -100 27.0 85.0(| 57 13 44 S-2 4K -100 19.0 93.0| 46 32 44 V= «Q -620 122 99.8
107 2¢ S-1 vyT -100 27.0 850(109 82 5vDN-1 43 -100 19.0 93.0( 47 93 4a V= vyA -620 122 998
108 3v S-1 vT -100 27.0 850 98 83 24 V+1 *4 -140 14.0 98.0( 65 79 4a V= *6 -620 12.2 99.8
111 2v N-1 s -100 27.0 85.0| 48 100 3NS-3 K -150 120 . 70 5 44 V= YA -620 122 99.8
26 3v S-2 4K  -200 6.0 . 6 20 34 V+1 v2 -170 10.0 107 72 44 V= vyA -620 122 998
33 3v N-2 «A  -200 6.0 2 110 3NS-4 aK  -200 8.0 114 66 44 V= «Q -620 122 998
47 3yDN-1 «J -200 6.0 73 17 54DS-2 4K -300 5.0 110 26 3NO+1 »5 -630 4.1 107.9
81 4v S -2 4K  -200 6.0 91 19 5¢vDN-2 43 -300 5.0 58 94 4¢vyDN-4 &A -800 1.0 111.0
109 3v S-2 «K  -200 6.0 30 67 64DN-3 8 -500 1.0 63 1 4¢vDS-4 45 -800 1.0 111.0
114 4v S -3 4K  -300 0.0 102 97 5#4DS-3 &K -500 1.0 98 - 35.2
16 52.2 16 - 52.2 16 115 A-/A+ 448 67.2
10 « 87 11 & K5 12 49865
Ost v52 Syd v DKn74 Vast v763
Alla ¢ EKn54 Ingen + E106532 NS ¢ E107
&EKKn42 10 #E105
& K62 4 D103 & E763 « D104 «ED3 & Kn
vEKn976 vKD1084 v K86 vE109 v EKKn5 v D10942
$732 + K9 +D + 87 ¢+ Kn43 ¢ 965
+D6 #953 #EKKN97 #D6432 743 &#KKn98
« EKn954 4« Kn982 « K10742
v3 v532 v8
+ D1086 ¢ KKn94 + KD82
#1087 £85 D62
Par Kontr ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
28 49DO-2 ¢8 500 1120 0.0| 43 103 3¢DN= ¢8 470 111.0 10| 7 60 34 S= vA 140 1049 7.1
20 4v V -2 &A 200 1028 92| 67 32 3¢DN= 8 470 1110 10| 46 89 34 N= v4 140 1049 7.1
34 4y V -2 &A 200 1028 9.2|112 69 4v O-3 +K 150 1079 4.1| 55 100 34 S= vA 140 1049 7.1
35 24 S+3 «Q 200 102.8 9.2 106 105 3¢ N= «2 110 1049 7.1| 64 115 24 N+1 8 140 1049 7.1
54 4vDO-1 ¢8 200 1028 9.2|114 99 3¢ N= &2 110 1049 7.1| 74 10 34 N= v9 140 1049 7.1
55 4v O -2 +8 200 1028 9.2 15 29 3NV-2 +5 100 97.7 143| 87 31 24 N+1 v9 140 1049 7.1
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87 104 4vDO-1 &7 200 1028 92| 22 6 3NV-2 +3 100 97.7 143 (106 105 34 S= vA 140 1049 7.1
92 97 4v V-2 #A 200 1028 92| 34 17 34 V-2 ¢A 100 97.7 143108 110 34 S= vA 140 1049 7.1
101 30 3vDO-1 &7 200 1028 92| 76 42 4NO-2 v2 100 97.7 143| 2 13 4v V-2 «6 100 93.7 183
38 74 24 S+2 ¢2 170 92.6 194 (109 83 5#4DV-1 +¢A 100 97.7 143( 19 8 4v V-2 v7 100 93.7 183
53 86 34 S+1 vA 170 926 194( 2 13 3NO-1 v3 50 784 336|838 85 4vDV-1 46 100 93.7 183
51 69 4#N+1 vK 150 89.6 224 12 104 54 V-1 ¢A 50 784 336| 35 82 3v V-1 v3 50 76.4 35.6
11 27 24 S+1  vA 140 86.5 255 44 72 54V-1 ¢A 50 78.4 33.6( 40 25 4v V-1 A 50 76.4 35.6
59 106 34 S= vA 140 86.5 25.5( 53 107 5# V-1 ¢A 50 78.4 33.6( 43 103 4v V-1 46 50 76.4 35.6
3 64 4¢ N= vK 130 76.4 356| 62 24 54 V-1 ¢A 50 784 336| 44 72 3v V-1 +9 50 76.4 35.6
15 108 3« N+1 vK 130 764 356( 73 9 54V-1 ¢A 50 784 336( 48 4 3vV-1 v3 50 76.4 35.6
22 95 4 N= vK 130 76.4 356 77 14 54 V-1 ¢A 50 78.4 33.6( 58 26 4v V-1 46 50 76.4 35.6
23 50 44 N= vK 130 76.4 356| 79 51 54 V-1 T 50 784 33.6| 62 24 3v V-1 v3 50 76.4 35.6
43 105 3#N+1 vK 130 76.4 356( 86 36 5# V-1 ¢A 50 78.4 33.6( 63 84 4v V-1 46 50 76.4 35.6
68 52 3¢ S+1 #Q 130 76.4 356 87 31 5#V-1 ¢A 50 784 336( 75 81 3vO-1 ¢K 50 76.4 35.6
81 48 44 N-= vK 130 76.4 356| 93 57 54 V-1 T 50 784 336| 77 14 3v V-1 v3 50 76.4 35.6
111 62 4¢ N= vK 130 76.4 35.6( 94 101 54 V-1 T 50 78.4 33.6( 80 41 3v V-1 v3 50 76.4 35.6
14 49 3v V-1 #A 100 56.0 56.0( 95 37 5#V-1 ¢A 50 784 336( 8 36 3v V-1 46 50 76.4 35.6
18 77 3v V-1 A 100 56.0 56.0| 96 92 5& V-1 ¢A 50 784 33.6| 95 37 3v V-1 46 50 76.4 35.6
29 25 3vO-1 &7 100 56.0 56.0( 49 52 4¢ N-1 a4 -50 61.1 50.9| 96 92 4v V-1 v6 50 76.4 35.6
41 75 3v V-1 #A 100 56.0 56.0( 64 115 4¢ N-1 *7 50 61.1 509| 50 91 INV= 46 -90 61.1 50.9
58 94 3v V-1 A 100 56.0 56.0| 74 10 4¢ N-1 &4 50 61.1 509| 1 5 2vV= v3 -110 519 60.1
61 13 3v V-1 A 100 56.0 56.0( 55 100 4¢DN-1 4 -100 56.0 56.0( 39 59 2v V= ¢A -110 519 60.1
63 1 3v0O-1 «7 100 56.0 56.0( 80 41 4¢DN-1 8 -100 56.0 56.0( 45 56 2v V= v3 -110 519 60.1
70 5 3v0-1 v3 100 56.0 56.0| 1 5 4aV= ¢A -130 438 682 67 32 2vV-= v3 -110 519 60.1
76 100 3v O-1 &7 100 56.0 56.0( 3 97 4aV= ¢A -130 438 68.2| 76 42 2v O= ¢K -110 519 60.1
85 60 3v O-1 «7 100 56.0 56.0( 7 60 4#V= ¢A -130 438 68.2(102 33 2v V= v3 -110 519 60.1
88 80 3v V-1 A 100 56.0 56.0| 27 71 4&V= T -130 43.8 68.2|109 83 2v V= v3 -110 519 60.1
107 72 3v O-1 T 100 56.0 56.0( 39 59 4#V= ¢A -130 43.8 68.2(114 99 2v V= v3 -110 519 60.1
6 99 la S= ¢7 80 428 69.2| 40 25 3#V+l ¢A -130 438 68.2| 12 104 2NV = 49 -120 418 703
4 17 5¢ S-1 vA -100 38.7 73.3| 46 89 44 V= ¢A  -130 438 682 34 17 INV+1 49 -120 418 70.3
19 113 44 S-1 vA -100 38.7 73.3| 58 26 44 V= T -130 438 682| 3 97 2¢vyV+1l 46 -140 194 926
36 12 44 S-1 ¢2 -100 387 73.3| 68 111 3#V+1 &»T -130 438 682 15 29 3v V= 46 -140 194 926
39 33 2v 0= ¢+8 -110 316 804 (| 70 28 44 V= ¢A  -130 438 682 18 78 2¢V+1l 46 -140 194 926
46 32 2v O = ¢6 -110 316 80.4| 20 38 44 S-3 #A -150 265 855| 20 38 3v V= 49 -140 194 926
102 57 2v O= &7 -110 316 804| 23 21 44V+l ¢A -150 265 855|222 6 2vV+l 49 -140 194 926
103 21 2vO= ¢8 -110 316 804 45 56 3#V+2 A -150 265 855( 23 21 2¢vV+1 49 -140 194 926
2 84 2vO+1 «A -140 133 988| 61 30 3#V+2 vQ -150 265 855| 27 71 3v V= 48 -140 194 926
9 83 3v 0= #8 -140 133 988| 75 81 44#V+l &»T -150 265 855 49 52 3v V= 46 -140 194 926
10 109 3v O = #7 -140 133 988| 90 54 4+#V+1l ¢A -150 265 855 53 107 3v V= 46 -140 194 926
24 44 3v O= &7 -140 133 988|113 65 4+V+l vQ -150 26,5 855| 61 30 3v V= v3 -140 194 92.6
37 7 3v0O= &7 -140 133 988| 66 11 24 V+2 &»T -170 183 93.7| 66 11 2vV+l1 ¢3 -140 194 926
40 96 3v O= &7 -140 133 988| 35 82 54DN-2 #2 -300 153 96.7| 68 111 3v V= v7 -140 194 926
45 71 3v 0= ¢6 -140 133 98.8| 48 4 5¢DN-2 &2 -300 153 96.7| 70 28 3v V= 46 -140 194 926
47 93 3v 0= T -140 133 98.8| 18 78 5# V= vQ -400 711049| 73 9 3v V= 46 -140 194 926
65 79 3v O= &7 -140 133 988| 19 8 5&4V= vQ -400 711049| 79 51 2¢vV+1l 46 -140 194 926
82 42 3v 0= &7 -140 133 988| 50 91 5&V-= vQ -400 711049 90 54 3v V= v3 -140 194 926
89 8 3vO= #8 -140 133 98.8| 63 84 5#V= ¢A  -400 711049 93 57 3v V= 45 -140 194 926
90 112 3v O = T -140 133 98.8|102 33 5% V= ¢A  -400 7.1 1049 94 101 3v V= 46 -140 194 926
110 26 3v O= &7 -140 13.3 98.8|108 110 3NV = ¢5  -400 7.1 1049)112 69 3v V= 49 -140 194 926
114 66 3v O= &7 -140 133 98.8| 88 85 44 V= &T  -420 0.0 112.0|113 65 3v V= 46 -140 194 926
98 - 35.2 47 - 53.7 47 - 53.7
16 115 A-IA+ 448 67.2| 16 98 A-IA+ 448 67.2| 16 98 A-IA+ 448 67.2
13 4E75 14 « 107 15 4963
Nord v KKn62 Ost v 1086 Syd vD9
Alla ¢ EKn952 Ingen + D64 NS ¢ D954
+10 #DKn732 #10864
» 84 « KDKn102 «D4 + Kn9632 «ED87 # KKn5
vED74 v10 vK3 v EDKn7 vEKn542 v 107
+ D873 ¢106 ¢ E108532 ¢ Kn9 ¢ Kn + EK1082
#E62 #D9874 #965 *K8 #DKn5 #EK2
# 963 « EK85 « 1042
v 9853 v 9542 v K863
¢ K4 ¢ K7 ¢ 763
#KKn53 *E104 #973
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
113 2 3NDV-5 v6 1400 1120 00| 75 90 24 O-3 ¢K 150 112.0 0.0({105 47 7y V-2 «3 100 1120 0.0
78 87 3yDN= K 730 1100 20| 40 33 INS+1 5 120 1089 3.1| 22 115 6NV-1 «9 50 107.0 5.0
103 39 44DO-2 v5 500 1080 40| 74107 2NS= ¢5 120 1089 31|65 5 6NV-1 #6 50 107.0 5.0
28 42 3NV -4 ¢5 400 103.0 90| 46 110 3 N= 2 110 1059 6.1| 66 83 5#0-1 «3 50 107.0 50
65 35 44 O-4 ¢K 400 103.0 9.0| 18 109 3« O-2 v4 100 98.8 13.3| 98 99 6NO-1 9 50 107.0 5.0
69 76 2NV-4 ¢2 400 103.0 9.0| 27 97 4e V-2 «J 100 98.8 13.3| 38101 3NO+2 #3 -460 102.0 10.0
100 63 44 O-4 ¢K 400 103.0 90| 65 35 INV-2 «2 100 98.8 133| 6106 3NO+3 42 -490 79.0 33.0
5 96 3#V-3 v2 300 96.0 16.0( 70 14 1INV-2 «2 100 988 133| 8 14 3NO+3 42 -490 79.0 33.0
18 109 24 O-3 ¢ K 300 96.0 16.0( 82 94 1INV-2 v6 100 98.8 133| 21 76 3NO+3 42 -490 79.0 33.0
32 17 3NV-3 ¢2 300 96.0 16.0(115 37 INV-2 2 100 988 13.3| 23 84 3NV+3 #6 -490 79.0 33.0
71 111 3NV-2 T 200 92.0 20.0f 3 59 INV-1 «Q 50 743 37.7| 25 17 3NV+3 46 -490 79.0 33.0
31 30 2¢ N+1 &K 140 89.0 23.0( 5 96 INV-1 «3 50 743 37.7| 32 30 4NO+2 #3 -490 79.0 33.0
101 11 3v N= «K 140 89.0 230 6 13 INV-1 «Q 50 743 37.7| 35 72 5NV+1 5 -490 79.0 33.0
23 106 2v N= «K 110 82.0 30.0( 23 106 2¢ V-1 T 50 743 37.7| 40 70 4NO+2 #9 -490 79.0 33.0
40 33 2v N= «Q 110 82.0 30.0( 31 30 INV-1 &2 50 743 37.7( 42 18 3NO+3 T -490 79.0 33.0
56 58 2v N= «K 110 82.0 30.0f 36 89 INV-1 «Q 50 743 37.7| 43 7 3NV+3 3 -490 79.0 33.0
70 14 2v N= K 110 82.0 30.0( 51 54 24 O-1 5 50 743 37.7| 49 29 3NO+3 T -490 79.0 33.0
74 107 2v N= K 110 82.0 30.0( 56 58 INV-1 &2 50 743 37.7( 52 85 3NV+3 &6 -490 79.0 33.0
6 13 34 0-1 ¢+K 100 67.0 45.0| 62 88 34 O-1 «A 50 743 37.7| 5 44 3NO+3 #3 -490 79.0 33.0
9104 INV-1 ¢5 100 67.0 45.0( 67 77 44 O-1 «A 50 743 37.7| 58 53 3NV+3 49 -490 79.0 33.0
22 73 24 O-1 ¢K 100 67.0 45.0( 69 76 24 O-1 5 50 743 37.7| 74 77 4NO+2 #3 -490 79.0 33.0
44 41 24 O-1 ¢+K 100 67.0 45.0| 71 111 24 O-1 ¢K 50 743 37.7| 78 69 3NO+3 T -490 79.0 33.0
80 38 3#0-1 ¢K 100 67.0 450( 72 20 24 O-1 ¢K 50 743 377|180 71 3NO+3 T -490 79.0 33.0
82 94 24 O-1 v5 100 67.0 45.0( 85 48 24 O-1 «A 50 743 37.7| 88 48 3NO+3 #3 -490 79.0 33.0
85 48 34+ 0-1 v9 100 67.0 45.0| 98 47 INV-1 2 50 743 37.7(103 24 3NV+3 &6 -490 79.0 33.0
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92 15 2NV-1 ¢2 100 67.0 45.0(101 11 24 O-1 ¢7 50 743 37.7|108 86 3NV+3 #4 -490 79.0 33.0
99 16 3#0-1 ¢K 100 67.0 45.0(103 39 3¢ V-1 T 50 743 37.7|110 57 3NO+3 #3 -490 79.0 33.0
102 64 2NV-1 ¢2 100 67.0 450|113 2 24 O-1 v4 50 743 37.7(111 67 3NV+3 &6 -490 79.0 33.0
27 97 3v S-1 8 -100 480 64.0| 29 81 2¢ V= v6 90 519 60.1| 10 39 3NO+4 &9 -520 56.0 56.0
36 89 3vS-1 8 -100 48.0 64.0| 44 41 2¢ V= *Q 90 519 60.1| 15 94 64 V= #6 -980 53.0 59.0
55 52 2v N-1 K -100 48.0 64.0| 49 34 2¢ V= oT 90 519 60.1| 91 97 64 V= &6 -980 53.0 59.0
57 25 3v N-1 K -100 480 64.0| 78 87 2¢ V= *Q 90 519 60.1| 1 75 6NO= 3 -990 25.0 87.0
75 90 3v S-1 48 -100 480 64.0| 8 66 24 O= &4 -110 36.7 753| 2 73 6NO-= &7 990 25.0 87.0
86 50 2v N-1 4K -100 480 640| 24 53 2¢ V+1 #3 -110 36.7 753| 3109 6NV= &6 990 25.0 87.0
95 61 2vS-1 48 -100 48.0 64.0| 28 42 24 O= A -110 36.7 753| 4 46 6NV= &4 990 25.0 87.0
108 93 2v N-1 4K -100 480 64.0| 55 52 24 O= ¢K -110 36.7 753| 13 16 6NO= 42 990 25.0 87.0
115 37 3v S-1 8 -100 480 64.0| 80 38 24 O= #A  -110 36.7 753| 27 113 6NO= 4 990 25.0 87.0
8 66 24 O= v5 -110 340 780( 8 50 2¢ V+1 v6 -110 36.7 753| 31 20 6NO= 42 990 25.0 87.0
24 53 24 O= v9 -110 34.0 78.0| 91 43 24 O= #A -110 36.7 753| 33 61 6NV= 8 -990 25.0 87.0
45 7 24 O= ¢K -110 340 780 95 61 2¢ V+1 T -110 36.7 753 36 64 6NV = ¢5 990 25.0 87.0
62 88 24 O= 3 -110 340 78.0|100 63 24 O= «A -110 36.7 753| 41 28 6NO= 42 990 25.0 87.0
98 47 24 O = ¢K -110 34.0 78.0(102 64 3¢ V= v6 -110 36.7 753| 50 12 6NO= 9 990 25.0 87.0
4 68 34 0= 3 -140 240 88.0|114 12 2¢ V+1 #Q -110 36.7 753| 51 82 6NO= &9 990 25.0 87.0
67 77 24 O+1 ¢K -140 240 880| 45 7 2¢V+2 T -130 234 88.6| 59 93 6NV= &4 990 25.0 87.0
84 21 24 O+1 v9 -140 240 880 57 25 2¢ V+2 #2 -130 234 886| 60 102 6NV = 43 990 25.0 87.0
91 43 24 O+1 ¢K -140 240 880| 4 68 24 O+1 4A -140 122 998| 62 11 6NO= 3 990 25.0 87.0
114 12 24 O+1 ¢K -140 240 880| 9104 24 O+1 K -140 122 998| 63 45 6NO= 3 990 25.0 87.0
3 59 3vS-2 8 -200 11.0 101.0| 10 83 24 O+1 &A -140 122 998 79 54 6NV= 43 990 25.0 87.0
10 83 3v S-2 48 -200 11.0101.0| 22 73 24 O+l ¢K -140 122 99.8| 81 87 6NO= &7 -990 25.0 870
26 1 3¢ N-2 vT -200 11.0 101.0| 26 1 24 O+1 &5 -140 122 998 89 95 6NO= ¢6 -990 25.0 87.0
46 110 3v S-2 8 -200 11.0 101.0| 60 19 24 O+1 &A -140 122 99.8| 90 34 6NO= 4T 990 25.0 87.0
49 34 3yDN-1 «K -200 11.0 101.0( 84 21 24 O+1 &4 -140 122 998 92 26 6NV = &6 990 25.0 87.0
60 19 2v N-2 4K -200 11.0101.0| 99 16 24 O+1 &4 -140 122 99.8| 96 55 6NO= 42 990 25.0 87.0
72 20 3vyDN-1 4K -200 11.0 101.0|112 79 24 O+1 A -140 122 99.8|100 19 6NO = 42 990 25.0 87.0
112 79 3v N-2 K -200 11.0 101.0| 92 15 INO+2 A -150 2.1 109.9 (107 104 6N O = &9 990 25.0 87.0
51 54 3vDN-2 &K -500 2.0 110.0| 32 17 24DO= ¢K -470 0.0 112.0|112 68 6NV = &6 -990 25.0 87.0
29 81 3NV+l v6  -630 0.0 112.0 {105 - 433 114 9 6NV= &6 -990 25.0 87.0
105 - 43.3 108 93 A-IA+ 448 67.2| 37 - 52.3
16 «D1072 17 « KDKn97 18 « EKD108
Vast v Kn54 Nord v EKn6 Ost v2
ov ¢ Kn7 Ingen + D4 NS ¢+ E10
#9854 #953 #KDKn43
49543 #E8 +106 4854 4543 & Kn62
v2 v 10976 v 983 v 752 vE9 v Kn8763
¢ 86542 ¢ KD9 ¢ EKn108 ¢ K53 ¢ K32 ¢ Kn64
#KKn7 #ED32 #DKn106 #K872 #E9872 #65
« KKn6 «E32 497
v EKD83 vKD104 vKD1054
¢ E103 ¢ 9762 ¢ D9875
#106 &E4 «10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
92 26 4eDV-3 &7 800 111.0 10| 2 9 44 N+1 «4 450 98.0 14.0( 77 40 3vDO-4 «9 800 1120 0.0
114 9 2¢vyDO-3 T 800 111.0 10| 7 58 44 N+1 44 450 98.0 14.0( 35 25 3NN+3 42 690 1090 3.0
27 113 2vDS+1 «7 570 1079 41| 14 114 44 N+1 &5 450 98.0 14.0| 81 79 3NN+3 #6 690 1090 3.0
43 7 3¢ V-3 v4 300 1059 6.1 24 86 44 N+1 44 450 98.0 14.0| 28 101 3NN+2 #6 660 100.0 12.0
3109 2v S+2 «9 170 947 17.3| 29 57 44 N+1 4 450 98.0 14.0| 29 57 3NN+2 ¢3 660 100.0 12.0
25 17 2v S+2 2 170 947 17.3| 35 25 44 N+1 44 450 98.0 14.0| 65 51 3NN+2 &5 660 100.0 12.0
40 70 34 N+1 v7 170 947 17.3| 52 76 44 N+1 «4 450 98.0 14.0| 70 32 3NN+2 ¢7 660 100.0 12.0
51 82 2y N+2 vT 170 947 17.3| 60 13 44 N+1 4 450 98.0 14.0| 75 38 3NN+2 2 660 100.0 12.0
63 45 2v S+2 2 170 947 17.3| 66 90 44 N+1 44 450 98.0 14.0| 98 105 3NN+2 ¥v6 660 100.0 12.0
66 83 24 N+2 ¢K 170 947 17.3| 68 5 44 N+1 &4 450 98.0 14.0|100 92 3NN+2 #6 660 100.0 12.0
81 87 24 N+2 ¢K 170 947 173| 74 20 44 N+1 4 450 98.0 14.0| 2 9 44 N+1 #6 650 87.0 25.0
90 34 2v S+2 44 170 947 17.3| 82 78 44 N+1 4 450 98.0 14.0| 21 111 44 N+1  #6 650 87.0 25.0
100 19 3v S+1 ¢2 170 947 17.3| 85 87 44 N+1 «4 450 98.0 14.0( 36 10 44 N+1 v7 650 87.0 25.0
105 47 3v S+1 v2 170 947 17.3| 96 18 44 N+1 4 450 98.0 14.0| 52 76 44 S+1 vA 650 87.0 25.0
6 106 2v S+1 5 140 753 36.7 (113 67 44 N+1 #4450 98.0 14.0( 84 91 44 N+1 v3 650 87.0 25.0
8 14 2v S+1 2 140 753 36.7( 30 4 3NS+1 T 430 76.0 36.0(110 83 44 N+1 v3 650 87.0 25.0
15 94 3v S= ¢5 140 753 36.7| 39 99 3NS+1 #Q 430 76.0 36.0| 1 71 3NN+1 2 630 70.0 42.0
31 20 3vy N= ¢K 140 753 36.7| 41 56 3NN+1 v2 430 76.0 36.0( 12 63 3NN+1 &6 630 70.0 42.0
32 30 2¢v N+1  ¢K 140 753 36.7| 62 93 3NS+1 #Q 430 76.0 36.0| 24 86 3NN+1 42 630 70.0 42.0
35 72 2vS+1  e2 140 753 36.7| 95107 3NN+1 42 430 76.0 36.0| 31 112 3NN+1 ¢4 630 70.0 42.0
41 28 2vS+1 ¢2 140 753 36.7 (102 23 3NN+1 &7 430 76.0 36.0| 43 11 3NN+1 &6 630 70.0 42.0
49 29 2¢vS+1 ¢5 140 753 36.7 (110 83 3NN+1 &7 430 76.0 36.0| 50 73 3NS+1 #2 630 70.0 42.0
50 12 2v S+1 ¢8 140 753 36.7| 1 71 44 N= a4 420 36.0 76.0| 54 69 3NN+1 ¢33 630 70.0 42.0
89 95 2vS= ¢4 110 63.1 489 12 63 44 N= a4 420 36.0 76.0( 60 13 3NN+1 ¢4 630 70.0 42.0
91 97 24 N= v7 110 63.1 48.9( 17 64 44 N= a4 420 36.0 76.0( 66 90 3NN+1 v3 630 70.0 42.0
111 67 2v S= «3 110 63.1 48.9| 21 111 44 N= &7 420 36.0 76.0|106 89 3NS+1 #2 630 70.0 42.0
1 75 INO-1 vA 100 519 60.1( 22 33 44 N= a5 420 36.0 76.0(113 67 3NN+1 &6 630 70.0 42.0
4 46 INO-1 vA 100 51.9 60.1( 28 101 44 N= a4 420 36.0 76.0( 30 4 44 N= v3 620 52.0 60.0
38 101 24 O-1 vA 100 519 60.1| 31 112 44 N= a4 420 36.0 76.0| 39 99 44 N= &5 620 52.0 60.0
42 18 34 0-1 vA 100 519 60.1( 34 27 44 N= v5 420 36.0 76.0( 44 80 44 N= &6 620 52.0 60.0
52 85 3¢ V-1 ¢J 100 519 60.1( 36 10 44 N= v5 420 36.0 76.0( 49 19 44 N= &6 620 52.0 60.0
65 5 3¢ V-1 v4 100 519 60.1| 37 47 44 N= &5 420 36.0 76.0| 74 20 44 N= ¢4 620 52.0 60.0
96 55 3¢ V-1 «9 100 519 60.1( 43 11 44 N= v7 420 36.0 76.0( 85 87 44 N= &6 620 52.0 60.0
103 24 2NO-1 vA 100 519 60.1( 44 80 44 N= &7 420 36.0 76.0({109 16 44 N= 42 620 52.0 60.0
22 115 3v S-1 &K -50 40.7 71.3| 45 61 44 N= a4 420 36.0 76.0| 3108 3NN= +4 600 350 77.0
36 64 3vS-1 &7 -50 40.7 71.3| 46 103 44 N= a4 420 36.0 76.0f 7 58 3NN= &6 600 35.0 77.0
59 93 2&#S-1 v2 -50 407 71.3| 49 19 44 N= a4 420 36.0 76.0( 14 114 3NN= &6 600 350 77.0
33 61 INO= vK 90 336 784 | 50 73 44 N= v2 420 36.0 76.0| 37 47 3NN= «6 600 350 77.0
80 71 INO= vA 90 33.6 78.4| 53 88 44 N= v2 420 36.0 76.0( 46 103 3NS= &2 600 35.0 77.0
107 104 INO= vA 90 336 784 | 54 69 44 N= v2 420 36.0 76.0( 62 93 3NS= &7 600 350 77.0
112 68 INO= vA 90 336 784 | 55 15 44 N= v2 420 36.0 76.0| 68 5 3NN= ¢J 600 35.0 77.0
2 73 3¢ O= T -110 265 855| 59 6 44 N= v2 420 36.0 76.0( 82 78 3NN= 42 600 35.0 77.0
58 53 3¢ V= v4 -110 265 855| 65 51 44 N= &2 420 36.0 76.0( 94 42 3NN= 42 600 350 77.0
79 54 3¢ V= 5 -110 265 855| 70 32 44 N= v2 420 36.0 76.0| 95 107 3NS= &7 600 35.0 77.0
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23 84 INO+1 vA -120 204 916| 72 8 44 N= a4 420 36.0 76.0| 17 64 2¢vDO-3 &#T 500 22.0 90.0
62 11 INO+1 vA -120 204 916| 75 38 44 N= v2 420 36.0 76.0| 53 88 2vDV-3 &4A 500 22.0 90.0
108 8 INO+1 vA -120 204 91.6| 77 40 44 N= a4 420 36.0 76.0| 55 15 2vDV-3 &4A 500 22.0 90.0
110 57 2# N-3 ¢K -150 163 957 81 79 44 N= &7 420 36.0 76.0| 22 33 14 N+4 6 200 18.0 94.0
13 16 INDO= vA -180 133 98.8| 84 91 44 N= v7 420 36.0 76.0|102 23 14 N+3 #6 170 16.0 96.0
78 69 2¢DV= ¢J -180 13.3 98.8| 94 42 44 N= v2 420 36.0 76.0| 34 27 54 N-1 5 -100 9.0 103.0
56 44 INDO+1 vA -380 6.1 1059 | 97 48 44 N= v2 420 36.0 76.0| 41 56 44 N-1 v3 -100 9.0 103.0
60 102 INDO+1 vA -380 6.1 105.9 (100 92 44 N= a4 420 36.0 76.0| 45 61 3NN-1 v6  -100 9.0 103.0
74 77 INDO+1 vA -380 6.1 105.9 (104 26 44 N= v2 420 36.0 76.0| 59 6 44 N-1 42  -100 9.0 103.0
88 48 INDO+1 vA -380 6.1 105.9 (106 89 44 N= &2 420 36.0 76.0| 96 18 3NS-1 «7  -100 9.0 103.0
98 99 INDO+1 vA -380 6.1 105.9 (109 16 44 N= a4 420 36.0 76.0| 97 48 5¢ S-1 A -100 9.0 103.0
21 76 INRDO= vA -760 0.0 112.0| 3 108 INS+3 »Q 180 2.0 1100 72 8 54 N-2 6  -200 1.0 111.0
37 - 52.3 98 105 4v S-1 *T -50 0.0 112.0 (104 26 44 N-2 6  -200 1.0 111.0
10 39 A+/A- 672 448|115 - 51.9 115 - 51.9
19 & Kn9 20 4 654 21 « ED52
Syd v 107 Vast v EKDKn Nord v K972
oV + E9863 Alla ¢ EKKn8 NS ¢ E65
£K1084 &E6 &76
4 ED1076 #4K43 4 EKKn82 4D1093 4 K6 4 Kn1083
vEKD632 vKn94 v8 v 10765 vD1083 vEKn64
2 *4 32 4765 +D74 4932
*6 #EKn9532 #KD1043 #85 #ED103 #Kn5
4 852 a7 4974
v 385 v 9432 v5
¢ KDKn1075 + D1094 ¢ KKn108
«D7 #Kn972 #K9842
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
115 47 6v V-1 ¢A 100 1120 00| 22 98 44DV-3 vA 800 1120 00| 95 32 2#V-3 #7 150 1120 0.0
97 104 5v V= ¢A -650 1100 20| 2 33 4¢v S+l 4K 650 87.0 25.0| 92 91 INS+1 T 120 1100 2.0
2 33 4v V+2 ¢A 680 81.0 310 5 11 4vS+l1 &A 650 87.0 25.0| 10 22 4v O-2 ¢T 100 106.0 6.0
5 11 5v V+1 ¢A -680 81.0 310 7 90 4¢vS+1 4A 650 87.0 25.0| 35101 24 O-2 v5 100 106.0 6.0
6 12 5v V+1 ¢A -680 81.0 310 10 106 4v S+1 &4A 650 87.0 25.0|109 97 3vDV-1 A 100 106.0 6.0
10 106 5v V +1 ¢A 680 81.0 31.0( 14 4 4vy S+l «A 650 87.0 25.0| 4 53 INS-= v3 90 90.0 22.0
19 112 5v V +1 ¢A -680 81.0 31.0( 16 30 4¢vS+1 «A 650 87.0 25.0| 9 59 INS= 3 90 90.0 22.0
21 88 5vO0+1 ¢K -680 810 310| 26 76 4v S+1 4A 650 87.0 25.0| 12 2 INS= v3 90 90.0 22.0
22 98 4v V +2 ¢A 680 81.0 310( 28 35 4vS+1 &A 650 87.0 25.0| 17 46 INS= v3 90 90.0 22.0
36 3 4y V+2 ¢A -680 81.0 31.0( 29 20 5v S= A 650 87.0 25.0| 23 58 INN= L) 90 90.0 22.0
40 113 54 O+1 ¢K -680 81.0 31.0( 41 111 4v S+1 &A 650 87.0 25.0| 30 104 INN= v6 90 90.0 22.0
45 72 54 O+1 ¢K -680 81.0 310(| 45 72 4vy N+1 49 650 87.0 25.0| 37 99 2&#S= ¢4 90 90.0 22.0
49 70 5v V+1 ¢A -680 81.0 310 56 42 4¢v S+l «A 650 870 25.0| 38 5 INS= 3 90 90.0 22.0
52 51 5v V+1 ¢A -680 81.0 310( 60 59 4vS+1 &A 650 87.0 25.0| 48 44 INS= «Q 90 90.0 22.0
55 18 54 O+1 ¢K -680 81.0 310( 73 25 4vS+1 &A 650 87.0 25.0| 57 33 INS= v3 90 90.0 22.0
60 59 5v V+1 ¢A -680 81.0 31.0( 79 38 4¢v S+l 4A 650 87.0 25.0| 72 36 2&# N-= s 90 90.0 22.0
61 96 4v V +2 ¢3 -680 81.0 31.0( 80 15 4vS+1 &A 650 87.0 25.0|107 60 INS= 3 90 90.0 22.0
64 58 54 O+1 ¢K -680 810 31.0| 82 75 4v S+l 4A 650 87.0 25.0|114 105 INS= T 90 90.0 22.0
65 69 5v O+1 ¢K -680 810 31.0| 83 57 4v S+1 4K 650 87.0 25.0| 55 49 1¢ N= %] 70 76.0 36.0
73 25 54 O+1 ¢K -680 810 31.0| 84 93 4v S+1 4A 650 87.0 25.0| 18 63 2v V-1 &7 50 71.0 41.0
81 54 59 O+1 ¢K -680 81.0 310| 91 23 4vyN+1 49 650 870 25021 1 3vV-1 #7 50 71.0 41.0
82 75 5vO+1 ¢K -680 81.0 310| 95 86 4vS+1 4A 650 87.0 25.0| 67 39 2v O-1 ¢T 50 71.0 41.0
85 27 5v V+1 ¢A -680 81.0 31.0(101 74 5v N= 8 650 87.0 25.0| 82 69 3v V-1 v2 50 71.0 41.0
95 86 4v V+2 ¢A -680 81.0 31.0(102 46 5v S= K 650 87.0 25.0| 16 62 Pass 66.0 46.0
100 87 5v V+1 ¢A -680 81.0 31.0(109 114 4v S+1 &K 650 87.0 25.0| 14 25 INS-1 v3 -100 54.0 580
101 74 5v V+1 ¢A -680 81.0 31.0(115 47 4v S= A 620 62.0 50.0| 47 13 INS-1 4K -100 54.0 580
102 46 5v V+1 ¢A 680 81.0 310 19 112 5¢ N= 49 600 59.0 53.0| 52 80 2# N-1 s -100 54.0 58.0
105 99 4vV+2 49 680 81.0 310| 61 96 3NS= K 600 59.0 53.0| 61 66 INS-1 v3 -100 54.0 580
109 114 5v V +1 ¢A -680 81.0 31.0( 40 113 44DV-2 vA 500 56.0 56.0| 70 8 INS-1 v8 -100 54.0 580
110 50 54 O+1 ¢K -680 81.0 310 1 78 34DV-1 44 200 440 68.0| 81 51 INN-1 s -100 54.0 58.0
8 48 4v V+3 v7 -710 510 610 6 12 44DV-1 vA 200 440 68.0| 83 3 2¢S-1 v8 -100 54.0 580
16 30 5v V+2 v7 -710 51.0 61.0( 21 83 3y N+2 49 200 440 68.0| 87 26 INN-1 ] -100 54.0 58.0
41 111 6¢DS-4 vA -800 46.0 660 32 24 3vy S+2 &K 200 440 68.0| 90 29 INS-1 v3 -100 54.0 58.0
79 38 6eDS-4 vA -800 460 66.0| 36 3 44DV-1 &A 200 440 68.0| 93 96 2¢ S-1 4K -100 54.0 580
80 15 5¢DS-4 vA -800 46.0 66.0| 44 43 44DV-1 vA 200 44.0 68.0|103 108 INS-1 v3 -100 54.0 580
7 90 66DS-5 vA -1100 380 74.0| 49 70 44DV-1 ¢A 200 440 68.0( 45 50 2y O= 2 -110 42,0 70.0
14 4 7¢DS-5 vA -1100 380 74.0| 64 58 44DV-1 vA 200 440 68.0| 6 64 INV+1 ¢5 -120 39.0 73.0
32 24 6eDS-5 vK -1100 38.0 740| 65 69 44DV-1 vA 200 440 68.0 111 113 1INV +1 42 -120 39.0 730
62 103 6¢DS-5 vA -1100 38.0 740 92 34 44DV-1 vA 200 440 68.0( 11 76 2¢ S-2 4K -200 22.0 90.0
68 71 6¢DS-5 vK -1100 38.0 74.0(|107 17 44 V-2 vA 200 440 68.0| 15 27 INN-2 4T -200 22.0 90.0
1 78 6y V= ¢A -1430 16.0 96.0( 62 103 4¢ S+1 &4A 150 31.0 81.0| 19 88 INS-2 v8 -200 22.0 90.0
13 37 6y V= ¢A -1430 16.0 96.0(100 87 44 S+1 &A 150 31.0 81.0| 20 112 3¢ N-2 s -200 22.0 90.0
26 76 6v O= ¢K -1430 16.0 96.0(110 50 4¢ N= 49 130 28.0 84.0| 43 75 INS-2 v3 -200 22.0 90.0
28 35 64 O= ¢K -1430 16.0 96.0(105 99 2NN= «Q 120 26.0 86.0| 54 65 2¢ N-2 ] -200 22.0 90.0
29 20 64 O= ¢K -1430 16.0 960 8 48 34 V-1 vA 100 21.0 91.0| 68 56 INS-2 4K -200 22.0 90.0
31 94 64 O= ¢K -1430 16.0 96.0( 67 108 44 V-1 ¢A 100 21.0 91.0| 74 7 2¢ S-2 v8 -200 22.0 90.0
44 43 64 O= ¢K -1430 16.0 96.0| 68 71 44 V-1 vA 100 21.0 91.0| 77 71 2&N-2 sJ -200 22.0 90.0
53 63 6v V= ¢A -1430 16.0 96.0( 85 27 4e V-1 «4 100 21.0 91.0| 78 79 3¢ N-2 a] -200 22.0 90.0
56 42 6v V= ¢A -1430 16.0 96.0( 81 54 64 N-1 49 -100 150 97.0| 94 28 INN-2 aJ -200 22.0 90.0
66 77 64 O= ¢K -1430 16.0 96.0( 89 39 4v S-1 4A -100 15.0 97.0| 98 106 24 N-2 %] -200 22.0 90.0
67 108 64 O = ¢K -1430 16.0 960 66 77 24 V= vA -110 12.0 100.0 {100 34 INS-2 v8 -200 22.0 90.0
83 57 6y V= ¢A -1430 16.0 96.0| 52 51 34 V= vA -140 9.0 103.0 (102 84 INS-2 4K -200 22.0 90.0
84 93 64 O= ¢K -1430 16.0 96.0| 55 18 34 V= vA  -140 9.0 103.0 (110 31 INS-2 4K -200 22.0 90.0
89 39 64 O= ¢K -1430 16.0 96.0( 13 37 3#S-2 v8  -200 5.0 107.0| 85 42 INS-3 3  -300 6.0 106.0
91 23 6y V= ¢A -1430 16.0 96.0( 31 94 3#S-2 A -200 5.0 107.0| 24 73 INS-4 v8  -400 2.0 110.0
92 34 6y V= ¢A -1430 16.0 96.0| 53 63 3«DV= vA -730 2.0 110.0| 41 40 INS-4 oK  -400 2.0 110.0
107 17 6v V= ¢A -1430 16.0 96.0| 97 104 4eDV= vA -790 0.0 112.0 {115 86 3NN-4 s -400 2.0 110.0
9 - 48.3 9 - 48.3 89 - 50.3
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22 454 23 « EKNn94 24 « E653
Ost v EKn1052 Syd v K1062 Vast v K863
ov 4 9865 Alla +92 Ingen + K1094
&K7 #1042 &8
4 EKD986 4 Kn3 4 87 4 KD10 & 87 & KKn102
v- v KD93 v D85 vE7 v 92 vED4
¢ ED104 ¢ Kn72 ¢ EKD64 ¢ Kn875 + Kn732 +6
&E52 #DKn94 «D75 #EKKN9 #Knl1l0965 #ED742
41072 4 6532 « D94
v 38764 v Kn943 v Kn1075
+ K3 +103 + ED85
#10863 #3863 K3
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
23 58 64 V-1 5 100 1110 10| 25 45 6NO-2 v3 200 111.0 1.0 13 98 54D O-2 ¥J 300 1089 3.1
54 65 6& O-1 v6 100 111.0 1.0| 59 115 6NV -2 2 200 111.0 1.0| 64 84 54DO-2 ¥J 300 1089 3.1
11 76 2¢yDN-3 & -500 108.0 4.0 22 36 6NO-1 v4 100 1079 41| 69 40 54DO-2 vJ 300 1089 3.1
30 104 44 V= +6 -620 106.0 6.0| 26 113 5# O +1 ¢T -620 1049 7.1| 92 112 54DO-2 ¢7 300 1089 3.1
37 99 3NV+1 +9 -630 1040 80| 30 6 5#0+1 43 -620 1049 7.1| 15 76 3v N+1 +6 170 103.8 8.2
10 22 44 V+1 vA -650 100.0 120 3 33 3NO+1 v4 -630 95.7 16.3| 14 109 2v N+1 +6 140 96.7 15.3
100 34 44 V+1 +6 -650 100.0 12.0| 13 98 3N O +1 v4 -630 95.7 16.3| 18 11 3v N= +6 140 96.7 15.3
114 105 4e V+1 45 -650 100.0 12.0| 58 57 3NO+1 v3 -630 95.7 16.3| 43 35 3vy N= +6 140 96.7 15.3
72 36 3N O +2 v6 -660 940 18.0| 65 81 3NO+1 v4 -630 95.7 16.3| 48 61 3v N= +6 140 96.7 15.3
92 91 3NO+2 v6 -660 940 18.0| 94 1 3NO+1 v3 -630 95.7 16.3| 59 115 3v N= +6 140 96.7 15.3
93 96 3N O +2 v8 -660 94.0 18.0|102 95 3NO+1 v4 -630 95.7 16.3| 62 96 3v S= «J 140 96.7 15.3
4 53 44 V +2 vA -680 69.0 43.0(114 37 3NO+1 v4 -630 95.7 163 8 7 3¢ S= «J 110 88.6 234
6 64 44 V+2 45 -680 69.0 43.0| 29 50 3NO +2 v4 -660 845 27.5| 93 63 1a N+1 +6 110 88.6 234
12 2 54 V+1 a5 -680 69.0 43.0| 62 96 3NO +2 v4 -660 845 275 8 34 540-2 v7 100 825 295
14 25 44 V+2 vyA -680 69.0 43.0|( 83 53 3NO+2 v4 -660 845 275| 32 60 44DO-1 +J 100 825 295
17 46 44 V+2 45 -680 69.0 43.0( 90 31 3NV +2 a4 -660 845 275|838 5 24 0-2 vJ 100 825 295
18 63 44 V+2 +6 -680 69.0 43.0| 2 97 3NO+3 v3 -690 723 39.7| 89 47 54 0-2 +A 100 825 295
20 112 44 V +2 +9 -680 69.0 43.0| 15 76 3NO+3 a2 -690 723 39.7| 58 57 2¢ N= +6 90 774 34.6
24 73 44 V +2 a4 -680 69.0 43.0| 24 17 3NV +3 a4 -690 723 39.7| 55 12 14 O-1 vJ 50 71.3 40.7
38 5 44 V+2 +9 -680 69.0 43.0| 44 68 3NV +3 v6 -690 723 39.7| 65 81 4#0-1 vJ 50 71.3 40.7
43 75 4e V +2 45 -680 69.0 43.0| 56 101 3NV +3 v6 -690 723 39.7| 78 28 44 0-1 vJ 50 71.3 40.7
52 80 44 O+2 v6 -680 69.0 43.0| 75 52 3NV +3 &4 -690 723 39.7(105 9 44 0-1 ¢A 50 71.3 40.7
57 33 44 V+2 +8 -680 69.0 43.0( 8 7 3NV+3 v6 -690 723 39.7 (111 20 44 V-1 *8 50 71.3 40.7
61 66 44 V+2 +6 -680 69.0 43.0( 91 110 3NV +3 v6 -690 723 397 4 16 4v S-1 *J -50 54.0 58.0
68 56 44 V+2 45 -680 69.0 43.0( 8 34 6¢ V= A -1370 418 703| 19 74 3v N-1 +6 -50 54.0 58.0
74 7 44 V+2 vA -680 69.0 43.0( 14 109 6¢ V= A -1370 418 70.3| 24 17 4v S-1 *J -50 54.0 58.0
77 71 44 V+2 vyA -680 69.0 43.0( 18 11 6¢ V= 4A -1370 418 70.3| 25 45 4v N-1 +6 -50 54.0 58.0
81 51 4e4 V+2 vyA -680 69.0 43.0( 19 74 6¢ V= 9 -1370 418 703| 29 50 4v S-1 *J -50 54.0 58.0
82 69 44 O+2 v6 -680 69.0 43.0( 23 100 6¢ V= A -1370 418 703| 30 6 4v N-1 +6 -50 54.0 58.0
83 3 44 V+2 vT -680 69.0 43.0( 32 60 6¢ V= A -1370 418 70.3| 44 68 4v N-1 +6 -50 54.0 58.0
90 29 44 V+2 +9 -680 69.0 43.0( 39 72 6¢ O= +3 -1370 418 70.3| 67 86 4v N-1 +6 -50 54.0 58.0
94 28 44 V+2 a4 -680 69.0 43.0( 41 103 6¢ V= A -1370 418 70.3| 70 10 4v S-1 *J -50 54.0 58.0
102 84 44 V+2 +6 -680 69.0 43.0( 42 80 6¢ V= A -1370 418 703| 79 27 3v N-1 A -50 54.0 58.0
9 59 3NV +3 +9 -690 34.0 78.0( 43 35 6¢ V= 42 -1370 418 70.3| 87 49 3vS-1 48 -50 54.0 58.0
16 62 4N O +2 v6 -690 340 78.0| 48 61 6¢ V= 2 -1370 418 70.3(114 37 4v N-1 +6 -50 54.0 58.0
19 88 3N O +3 v8 -690 34.0 78.0( 51 71 6¢ O= 46 -1370 418 703| 22 36 4vDN-1 +6 -100 346 77.4
21 1 3NO+3 v8 -690 34.0 78.0( 55 12 6¢ V= 42 -1370 418 703| 39 72 4vS-2 *J -100 346 774
47 13 4ANO+2 v6 -690 34.0 78.0( 64 84 6¢ V= 42 -1370 418 70.3| 56 101 4vDS-1 &5 -100 346 774
67 39 3N O +3 v4 -690 340 780| 69 40 6¢ V= 42 -1370 418 703 73 66 2NN-2 *4 -100 346 77.4
78 79 3N O +3 &3 -690 34.0 78.0( 70 10 6¢ O= 43 -1370 418 70.3| 82 54 4v S-2 *J -100 346 774
85 42 3NO+3 v6 -690 340 78.0| 78 28 6¢ V= 42 -1370 418 70.3| 91 110 4vyDN-1 &2 -100 346 774
87 26 3NO+3 v6 -690 34.0 78.0( 87 49 6¢ O= &3 -1370 418 70.3|102 95 4v S-2 *J -100 346 77.4
95 32 3NV+3 vJ -690 34.0 78.0( 89 47 6¢ V= A -1370 418 70.3 2 97 3#0+= vJ -110 255 86.5
98 106 5N O +1 v8 -690 34.0 78.0(105 9 6¢ V= A -1370 418 70.3| 41 103 3# 0= vJ -110 25,5 86.5
111 113 3N O +3 v8 -690 34.0 78.0 (106 104 6¢ V= +9 -1370 418 703 3 33 24 0+2 vJ -130 17.3 94.7
115 86 3N O +3 v8 -690 340 78.0|111 20 6¢ V= ¢9 -1370 418 70.3| 23 100 4% O = v7 -130 17.3 947
15 27 44 V+3 #K -710 150 970 4 16 6NO= 6 -1440 9.2 102.8| 26 113 44 O = v7 -130 17.3 94.7
35 101 44 V +3 vyA -710 15.0 97.0( 21 108 6N O = 3 -1440 9.2 1028 | 42 80 4# V= »8 -130 17.3 94.7
45 50 44 V+3 +9 -710 15.0 97.0( 38 77 6NV= +9 -1440 9.2 1028 90 31 2& O +2 v5 -130 17.3 947
48 44 44 V +3 «K -710 15.0 97.0| 67 86 6NV= a4 -1440 9.2 102.8 |106 104 4% O = vJ -130 17.3 94.7
55 49 44 V+3 vyA -710 15.0 97.0( 73 66 6NV= &2 -1440 9.2 102.8 | 21 108 4v S-3 *J -150 8.2 103.8
70 8 44 V43 vA -710 15.0 97.0( 79 27 6NV= &2 -1440 9.2 102.8 | 83 53 4v N-3 +6 -150 8.2 103.8
110 31 3NO+4 v6 -720 8.0 104.0| 82 54 6NO= +3 -1440 9.2 1028 94 1 INO+2 v5 -150 8.2 103.8
103 108 64 V = vA -1430 4.0 108.0| 88 5 6NO= 3 -1440 9.2 102.8| 38 77 24 N-4 *2 -200 4.1 107.9
107 60 64 V= vA -1430 4.0 108.0| 92 112 6NV = +9 -1440 9.2 1028 75 52 4¢DS-2 &J -300 2.1 109.9
109 97 64 O= ¢ K -1430 4.0 108.0| 93 63 6NV = A -1440 9.2 1028| 51 71 44DO= vJ -510 0.0 112.0
41 40 6NO= ¢ K -1440 0.0 112.0| 99 - 45.6 99 - 45.6
89 - 50.3 46 107 A+/A-  67.2 44.8| 46 107 A+/A-  67.2 44.8
25 « D105 26 494 27 «E5
Nord v KD962 Ost v32 Syd v KKn742
oV + 863 Alla + D98765 Ingen + 10863
#103 #1073 *K3
& EKN97 & K8643 4 86 & EDKn102 4K109 76
v 85 vKn10 vKD1074 v EKn9 v1086 v D53
¢ E72 + K95 ¢+ EKn2 +K + D92 + EKKn54
#Kn976 #EB84 #DKn2 #9865 #E1096 #DKn8
a2 « K753 « DKn8432
vE743 v 865 vE9
+ DKn104 + 1043 *7
#KD52 &EK4 7542
Par Kontr ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
66 1 4vDS= #4A 590 1120 0.0| 47 99 4v V-1 +6 100 1120 00| 8 30 24DS+1 +¢Q 570 112.0 0.0
7 23 44DO-2 42 500 109.0 3.0|115 98 3v V+1 &3 -170 1100 20| 14 24 3NV-6 v2 300 109.0 3.0
86 41 44DO-2 ¢Q 500 109.0 3.0|102 50 1INV +4 +6 -210 108.0 4.0| 46 60 4¢DO-2 «Q 300 109.0 3.0
16 73 44 O-2 +Q 200 97.0 150( 3 22 4v V= +8 -620 76.0 36.0| 6 110 44 V-5 v2 250 105.0 7.0
32 114 34 O-2 +Q 200 97.0 150 5 28 4v V= *7 -620 76.0 36.0( 36 98 5¢ O-5 «Q 250 1050 7.0
35 42 34 O-2 +Q 200 97.0 150(| 7 23 4v V= +6 -620 76.0 36.0 1 92 34 S+1 v6 170 95.0 17.0
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44 85 34 O-2 ¢+Q 200 97.0 15.0( 16 73 4v V= ¢9 620 76.0 36.0| 15 113 24 S+2 v6 170 95.0 17.0
48 26 44 O-2 ¢+Q 200 97.0 15.0( 18 100 4v V= ¢6 620 76.0 36.0| 41 39 24 N+2 ¢A 170 95.0 17.0
49 8 34 0-2 +Q 200 97.0 15.0| 20 21 4v V= ¢6 620 76.0 36.0( 53 114 34 S+1 49 170 95.0 17.0
69 27 34 O-2 ¢+Q 200 97.0 15.0( 24 10 44 O= #K -620 76.0 36.0| 64 32 34S+1 v6 170 95.0 17.0
89 9 340-2 ¢+Q 200 97.0 15.0( 25 70 4v V= v2 620 76.0 36.0( 70 50 24 S+2 v6 170 95.0 17.0
97 6 34 0-2 +Q 200 97.0 15.0( 32 114 4v V= ¢+8 620 76.0 360 77 54 24 N+2 ¢A 170 95.0 17.0
109 2 34 0-2 ¢+Q 200 97.0 15.0( 34 62 4v V= ¢6 620 76.0 36.0(115 99 34 S+1 ¢2 170 95.0 17.0
51 108 2¢y N+2 vJ 170 84.0 28.0( 35 42 4v V= ¢6 620 76.0 36.0| 38 86 3NV-3 A 150 86.0 26.0
60 96 2v N+2 vJ 170 84.0 28.0| 39 110 4v V= ¢6 620 76.0 360( 13 3 24 N+1 ¢A 140 72.0 40.0
115 98 3vy N+1 43 170 84.0 28.0( 40 75 4v V= ¢6 620 76.0 36.0| 18 74 24 S+1 v6 140 72.0 40.0
37 45 2vy N+1 vJ 140 77.0 350 44 85 4v V= ¢6 620 76.0 36.0( 20 97 24 N+1 ¢A 140 72.0 40.0
65 77 3v S= v8 140 77.0 35.0| 48 26 4v V= 3 -620 76.0 36.0| 25 55 34 S= ¢2 140 72.0 40.0
76 12 3v N= vJ 140 77.0 350( 49 8 4v V= ¢6 620 76.0 36.0| 27 80 34 S= ¢2 140 72.0 40.0
82 80 3v N= vJ 140 77.0 35.0( 53 57 4v V= #3 620 76.0 36.0| 43 69 24 N+1 ¢A 140 72.0 40.0
11 68 34 O-1 +Q 100 57.0 55.0| 59 91 4v V= 49 620 76.0 36.0| 48 28 34 S= ¢2 140 72.0 40.0
24 10 34 O-1 ¢J 100 57.0 55.0( 61 112 4v V= ¢6 620 76.0 36.0 51 35 24 N+1 ¢A 140 72.0 40.0
25 70 34 O-1 ¢+Q 100 57.0 55.0( 66 1 4v V= v3 620 76.0 36.0| 56 79 24 N+1 ¢A 140 72.0 40.0
30 29 34 0-1 +Q 100 57.0 55.0| 76 12 4v V= ¢6 620 76.0 36.0( 65 71 24 N+1 ¢A 140 72.0 40.0
40 75 34 O-1 +Q 100 57.0 55.0( 79 52 4v V= ¢6 620 76.0 36.0| 76 62 34 S= v6 140 72.0 40.0
55 19 44 O-1 ¢+Q 100 57.0 55.0( 83 33 4v V= ¢6 620 76.0 36.0| 96 59 34 N= ¢A 140 72.0 40.0
58 14 34 O-1 +Q 100 57.0 55.0| 86 41 4v V= ¢6 -620 76.0 36.0({100 75 34 S= v6 140 72.0 40.0
59 91 34 O-1 +Q 100 57.0 55.0( 92 63 4v V= ¢6 620 76.0 36.0| 87 11 24 N= ¢A 110 58.0 54.0
61 112 34 O-1 ¢+Q 100 57.0 55.0( 93 90 4v V= v3 620 76.0 36.0| 5 81 3NV-2 A 100 43.0 69.0
78 101 34 V-1 vK 100 57.0 55.0| 94 113 4v V= v2 620 76.0 360 7 42 4¢ O-2 vA 100 43.0 69.0
83 33 34 O0-1 +Q 100 57.0 55.0( 97 6 4v V= ¢8 620 76.0 36.0| 21 34 3NV-2 «A 100 43.0 69.0
84 17 34 V-1 «T 100 57.0 55.0({103 31 4v V= ¢6 620 76.0 36.0| 29 61 3NV-2 v2 100 43.0 69.0
94 113 34 O-1 +Q 100 57.0 55.0(109 2 4v V= ¢6 -620 76.0 36.0( 37 57 3NV-2 A 100 43.0 69.0
102 50 34 O-1 +Q 100 57.0 55.0(111 87 4v V= ¢6 620 76.0 36.0| 44 101 3# V-2 «A 100 43.0 69.0
104 4 34 0-1 ¢+Q 100 57.0 55.0( 37 45 3NV +1 ¢6 -630 43.0 69.0| 45 2 2NV-2 A 100 43.0 69.0
106 107 3«4 O-1 vA 100 57.0 55.0| 60 96 3NV +1 ¢7 630 43.0 69.0( 49 68 3NV-2 v2 100 43.0 69.0
3 22 4y N-1 3 -50 30.0 82.0| 11 68 4vV+l #T -650 23.0 89.0| 58 4 4¢ O-2 «Q 100 43.0 69.0
34 62 4v N-1 3 -50 30.0 82.0| 15 56 4vV+l #3 650 23.0 89.0| 66 108 4¢ O-2 vA 100 43.0 69.0
39 110 4v N-1 v] -50 30.0 82.0| 30 29 4vV+l 6 -650 23.0 89.0| 82 40 3NV-2 ¢6 100 43.0 69.0
47 99 4v S-1 &9 -50 30.0 82.0| 51 108 4vV+1 ¢7 -650 23.0 89.0|( 84 73 3¢ O-2 «Q 100 43.0 69.0
53 57 4v N-1 3 -50 30.0 82.0| 54 71 4vV+l #3 650 23.0 89.0( 91 104 34DO-1 «Q 100 43.0 69.0
54 71 4v N-1 3 -50 300 82.0| 55 19 4vV+1l &3 -650 23.0 89.0(102 90 3¢ O-2 +Q 100 43.0 69.0
64 74 4v N-1 vJ -50 300 82.0| 64 74 4vV+l #3 650 23.0 89.0| 23 109 3¢ O-1 vA 50 22.0 90.0
79 52 4v N-1 3 -50 30.0 82.0| 65 77 4vV+l #3 650 23.0 89.0| 33 67 3¢ O-1 vA 50 22.0 90.0
92 63 4v N-1 43 -50 300 82.0| 67 46 4vV+1l &3 -650 23.0 89.0| 47 9 3¢ O-1 ¢7 50 22.0 90.0
93 90 4v N-1 vJ -50 30.0 82.0| 69 27 4vV+l #3 650 23.0 89.0| 63 16 3NO-1 «Q 50 22.0 90.0
103 31 4v N-1 3 -50 30.0 82.0| 78 101 4v V+1 #3 650 23.0 89.0| 78 94 3¢ O-1 +4 50 22.0 90.0
5 28 4vDN-1 ¢J -100 12.0 100.0| 81 43 4vV+1l #3 -650 23.0 89.0| 85 31 3¢ O-1 vA 50 22.0 90.0
15 56 4vDN-1 43 -100 120 100.0| 84 17 4vV+l 49 -650 230 89.0| 95 83 3¢ O-1 vA 50 22.0 90.0
18 100 4vDN-1 43 -100 120 100.0| 89 9 4vV+l ¢7 -650 230 89.0| 10 12 34 S-1 v6 -50 13.0 99.0
20 21 4vDN-1 »J -100 120 100.0| 95 72 4v O+1 &A -650 230 89.0| 17 111 44 S-1 v6 -50 13.0 99.0
67 46 4vDN-1 vJ -100 120 100.0|104 4 4vV+1l v3 -650 230 89.0| 22 107 INV= v2 -90 9.0 103.0
81 43 4vDN-1 43 -100 12.0 100.0(105 13 4v V+l1 #3 -650 23.0 89.0(105 89 2¢ O= 48 -90 9.0 103.0
111 87 4vDN-1 43 -100 12.0 100.0 (106 107 4v V+1 #3 -650 23.0 89.0| 93 112 34 S-2 v6  -100 6.0 106.0
105 13 34 O= vA  -140 4.0 108.0| 38 88 3NV +2 ¢6  -660 2.0 110.0|103 26 3¢ O= &4  -110 4.0 108.0
38 88 5vDN-2 43 -300 1.0 111.0| 58 14 3NO+2 &A -660 2.0 110.0| 52 88 2NV = ¢6  -120 2.0 110.0
95 72 5vDN-2 vJ -300 1.0 111.0| 82 80 3NV +2 ¢+6  -660 2.0 110.0| 72 19 3NV= A -400 0.0 112.0
36 - 47.0 36 - 47.0 106 - 50.8
28 » EKn96 29 ~E74 30 4 K32
Vast v D98 Nord v 632 Ost v D96
NS 49543 Alla ¢ Kn87 Ingen + Knl109
#E8 #KKn83 #K1043
«K1042 «D8753 « KD86 453 109 874
v75 v43 vEKD107 vKn84 vKn84  vE107
¢KKn2 ¢ ED7Y ¢102 + 964 ¢ EKD 476543
#5432  #K107 «D2 #107654 #ED986 #52
a- 4 Kn1092 « EDKn65
v EKKn1062 v 95 v K532
+ 1086 ¢ EKD53 +82
#DKn96 *E9 &Kn7
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
78 94 44DO-4 vA 800 1110 10| 41 59 3vDO-2 +¢A 500 1120 00| 31 74 24aRDS= ¢A 640 1120 0.0
103 26 44DO-4 vA 800 1110 10| 45 98 3v V-2 v2 200 1080 4.0| 28 66 3«DV-3 ¢J 500 1100 20
91 104 4vDS= 44 790 108.0 4.0( 73 107 2v V-2 ¢7 200 1080 4.0| 15 8 34DV-2 42 300 1080 4.0
29 61 4vS+1 &3 650 1050 7.0| 89 13 3v V-2 ¢J 200 1080 40 36 99 44V-3 42 150 104.0 8.0
58 4 4v S+1 44 650 1050 70| 26 61 INN+2 &5 150 1030 9.0| 41 59 3#V-3 ¢J 150 1040 8.0
5 81 4v S= 4 620 78.0 34.0( 65108 INN+2 &5 150 103.0 9.0| 52 56 4¢ O-3 «A 150 1040 8.0
6 110 4v S= 44 620 78.0 34.0( 27 77 1la S+2 vK 140 98.0 14.0| 24 23 34 S= ¢A 140 92.0 20.0
8 30 4v S= K 620 78.0 34.0| 40 35 24 S+1 vA 140 98.0 14.0| 37 4 24 S+1 ¢A 140 92.0 20.0
10 12 4v S= «4 620 78.0 34.0( 63 55 1la S+2 vA 140 98.0 14.0( 39 2 24 S+1 ¢A 140 92.0 20.0
14 24 4v N= 3 620 78.0 34.0| 24 23 2¢ S+2 vA 130 78.0 34.0| 40 35 24 S+1 ¢A 140 92.0 20.0
17 111 4v S= «4 620 780 34.0| 30 96 3¢ S+1 vK 130 78.0 34.0| 62 19 24 S+1 ¢A 140 92.0 20.0
18 74 4v S= K 620 78.0 34.0( 34 112 4¢ S= vA 130 78.0 34.0( 64 72 24 S+1 ¢A 140 92.0 20.0
23 109 4v S= «4 620 780 34.0| 46 12 3¢ S+1 vA 130 78.0 34.0| 70 83 24 S+1 ¢A 140 92.0 20.0
27 80 4v S= K 620 78.0 34.0| 48 51 3¢ S+1 vA 130 780 34.0| 86 93 24 S+1 ¢A 140 92.0 20.0
37 57 4v S= 4 620 78.0 34.0( 50 84 4¢ S= vA 130 78.0 34.0( 97 111 34 S= ¢A 140 92.0 20.0
44 101 4v S= «4 620 78.0 34.0| 53 91 3¢ S+1 vK 130 78.0 34.0| 7 11 24 S= ¢A 110 66.0 46.0
46 60 4v S= v5 620 78.0 34.0| 58 10 2¢ S+2 vA 130 78.0 34.0( 9 115 24 S= ¢A 110 66.0 46.0
47 9 4v S= 42 620 78.0 34.0( 60 114 3¢ S+1  vK 130 78.0 34.0( 27 77 24 S= ¢A 110 66.0 46.0
48 28 4v S= «4 620 78.0 34.0| 62 19 3¢ S+1 vA 130 78.0 34.0| 38 76 24 S= ¢A 110 66.0 46.0
52 88 4v S= «4 620 780 34.0| 75 94 3¢ S+1 vA 130 78.0 34.0| 45 98 14 S+1 ¢A 110 66.0 46.0
72 19 4v S= ¢2 620 78.0 34.0( 80 43 3¢ S+1 vA 130 78.0 34.0( 48 51 24 S= ¢A 110 66.0 46.0
77 54 4v S= «4 620 78.0 34.0| 82 79 3¢ S+1 vA 130 78.0 34.0| 49 1 24 S= ¢A 110 66.0 46.0
82 40 4v S= «4 620 78.0 34.0| 90 21 3¢ S+1 vA 130 78.0 34.0( 60 114 24 S= ¢K 110 66.0 46.0
84 73 4v S= «4 620 78.0 34.0( 97 111 3¢ S+1 vA 130 78.0 34.0( 63 55 24 S= ¢A 110 66.0 46.0
85 31 4v S= &3 620 78.0 34.0(103 113 3¢ S+1 vA 130 78.0 34.0| 65 108 24 S= ¢A 110 66.0 46.0
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93 112 4v S= 3 620 78.0 34.0(109 17 3¢ S+1 vA 130 78.0 34.0( 73 107 24 S= ¢A 110 66.0 46.0
96 59 4v S= 4 620 78.0 34.0( 7 11 2NS= vA 120 59.0 53.0( 80 43 24 S= ¢A 110 66.0 46.0
100 75 4v S= «4 620 78.0 34.0|101 68 INN+1 ¢4 120 59.0 53.0| 82 79 24 S= ¢A 110 66.0 46.0
102 90 4v S= &5 620 78.0 34.0( 3110 3¢ S= vA 110 48.0 64.0| 85 102 24 S= ¢A 110 66.0 46.0
105 89 4v S= 42 620 78.0 34.0( 14 29 3¢ S= vA 110 48.0 64.0| 88 54 24 S= ¢A 110 66.0 46.0
21 34 3NN-= «3 600 520 60.0| 25 6 3¢ S= vA 110 480 64.0| 90 21 24 S= ¢A 110 66.0 46.0
1 92 44DO-3 vA 500 40.0 72.0| 28 66 3¢ S= vA 110 48.0 64.0| 92 87 24 S= ¢A 110 66.0 46.0
7 42 44DO-3 vA 500 40.0 72.0| 39 2 3¢ S= vA 110 480 640| 5 78 3aV-2 42 100 45.0 67.0
15 113 44DO-3 vK 500 400 720| 49 1 3¢ S= vA 110 480 640| 25 6 2&V-2 +J 100 450 67.0
38 86 44DO-3 vA 500 40.0 72.0| 52 56 3¢ S= vA 110 48.0 64.0| 58 10 4¢ O-2 +8 100 45.0 67.0
51 35 44DO-3 vA 500 400 72.0| 92 87 14 S+1 vA 110 48.0 64.0|103 113 34DV-1 42 100 45.0 67.0
53 114 44DO-3 vA 500 40.0 72.0|100 44 3¢ S= vA 110 480 64.0| 46 12 3¢ O-1 «A 50 38.0 74.0
56 79 44DO-3 vK 500 40.0 72.0| 9115 2v V-1 ¢7 100 340 78.0( 71 69 3¢ O-1 ¢2 50 38.0 74.0
63 16 44DO-3 vA 500 40.0 72.0| 16 42 2v V-1 v2 100 340 78.0( 81 18 3¢ O-1 ¢2 50 38.0 74.0
64 32 44DO-3 vA 500 400 72.0| 36 99 2v V-1 ¢7 100 340 78.0| 3110 24 S-1 ¢ A -50 23.0 89.0
87 11 44DO-3 vA 500 40.0 72.0| 37 4 2vV-1 ¢7 100 340 78.0( 14 29 34 S-1 ¢A -50 23.0 89.0
95 83 44DO-3 vA 500 40.0 72.0| 38 76 3v V-1 ¢7 100 340 78.0( 26 61 INN-1 *4 -50 23.0 89.0
13 3 34DO-2 vA 300 240 88.0| 85 102 14 S= vA 80 26.0 86.0| 30 96 24 S-1 +K -50 23.0 89.0
49 68 34DO-2 vA 300 240 88.0( 88 54 1la S= vA 80 26.0 86.0( 34 112 34 S-1 *A -50 23.0 89.0
65 71 34DO-2 vA 300 24.0 88.0(104 95 1a S= vA 80 26.0 86.0( 50 84 24 S-1 ¢A -50 23.0 89.0
66 108 34aDO-2 vA 300 240 88.0| 15 8 3NS-1 vQ -100 16.0 960 53 91 34 S-1 ¢A -50 23.0 89.0
76 62 34DO-2 vA 300 240 88.0( 32 20 24 S-1 vA -100 16.0 96.0| 67 57 34 S-1 ¢+ K -50 23.0 89.0
20 97 3v S+l &4 170 150 97.0| 64 72 3NS-1 vK -100 16.0 96.0| 75 94 34 S-1 ¢A -50 23.0 89.0
25 55 3y N+1 ¢4 170 150 970| 70 83 24 S-1 vA -100 16.0 960 89 13 24 S-1 ¢ A -50 23.0 89.0
33 67 3vyS+1 42 170 150 970 81 18 24 S-1 vA -100 16.0 96.0|100 44 3« S-1 *A -50 23.0 89.0
115 99 2v S+2 &5 170 150 97.0| 86 93 3NS-1 vA -100 16.0 96.0|106 47 34 S-1 ¢A -50 23.0 89.0
45 2 44 0O-3 vA 150 10.0 102.0 {105 22 24 S-1 vA -100 16.0 960 32 20 2v S-2 ¢A  -100 9.0 103.0
22 107 4v S-1 «4  -100 4.0 1080 5 78 2v V= ¢8 -110 4.0 108.0 (109 17 2v N-2 ¢7  -100 9.0 103.0
36 98 4v S-1 #5  -100 4.0 1080 31 74 2v V= +8 -110 4.0 108.0| 16 42 INV+1l v6 -120 5.0 107.0
41 39 4vS-1 ¢2  -100 4.0 1080 67 57 2v V= ¢7 -110 4.0 108.0 (105 22 INV+1 ¢J -120 5.0 107.0
43 69 5vS-1 4  -100 4.0 1080 71 69 2v V= «8 -110 4.0 108.0 (104 95 INV+2 #4 -150 2.0 110.0
70 50 5v S-1 4 -100 4.0 108.0 (106 47 2v V= ¢7  -110 4.0 108.0 (101 68 3¢DO= #J -470 0.0 112.0
106 - 50.8 33 - 55.5 33 - 55.5
31 97 32 « EKD97 33 & KKn954
Syd v 10532 Vast v 9742 Nord v 104
NS ¢ K3 ov ¢- Ingen + K64
#KDKn94 #8642 #E92
4ED3  #KKnl05 4« Kn6 4853 41073 aD
vK876 v9 vEDS5 v Kn83 v KKn965 v 832
¢ Knl08 ¢ ED9754 ¢ KD953 ¢ E10872 ¢ 102 ¢ ED953
#1085 #73 £975 #EKn #Kn64 #KD87
» 8642 #1042 » E862
v EDKn4 v K106 vED7
462 ¢ Kn64 ¢ Kn87
*E62 #KD103 #1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
33 98 3NDV-4 #Q 800 1120 00| 35 62 44DN= #A 590 1120 0.0| 13 99 4vDV-2 44 300 1120 0.0
16 11 2vDS= J 670 1100 20| 26 90 44 N= #A 420 1090 3.0| 33 47 34 N= «K 140 1100 20
14 34 3v N= v9 140 105.0 7.0| 47 36 44 N= ¢A 420 109.0 3.0| 12 41 24 N= &K 110 108.0 4.0
31 8 3vN-= ¢A 140 1050 7.0 40 71 4eDO-1 &2 200 1040 8.0(103 90 4vDV-1 44 100 1050 7.0
40 71 3v N= ¢A 140 105.0 7.0 67 115 4¢ V-2 A 200 104.0 8.0(106 115 44 0O-2 42 100 1050 7.0
51 28 3v N= &7 140 1050 7.0|109 96 5¢ V-2 A 200 1040 80| 84 6 Pass 102.0 10.0
10 25 2v N= v9 110 99.0 13.0( 18 108 34 N+1 ¢A 170 94.0 18.0( 2 107 34 N-1 &K -50 77.0 35.0
72 93 2v N= &7 110 99.0 13.0( 38 85 24 N+2 43 170 940 18.0| 4 96 34 N-1 +Q -50 77.0 35.0
20 103 24 V-1 «K 50 94.0 18.0( 50 57 34 N+1 43 170 940 18.0( 21 11 34 N-1 v8 -50 77.0 35.0
29 101 4¢ O-1 vA 50 940 18.0| 51 28 34 N+1 43 170 94.0 18.0( 26 102 34 N-1 &K -50 77.0 35.0
86 17 24 O-1 «A 50 940 18.0| 53 2 34 N+1 ¢3 170 940 18.0| 28 62 34 N-1 +Q -50 77.0 35.0
30 83 Pass 88.0 24.0( 56 100 34 N+1 v3 170 94.0 18.0( 29 44 34 N-1 &K -50 77.0 35.0
38 85 Pass 88.0 24.0( 64 46 34 N+1 ¢A 170 94.0 18.0( 32 53 34 N-1 &K -50 77.0 35.0
109 96 Pass 88.0 24.0| 12 73 34 N= A 140 80.0 32.0| 34 109 34 N-1 *K -50 77.0 35.0
1 97 3vyN-1 #7 -100 810 310| 15 75 24 N+1 &A 140 80.0 32.0( 36 105 34 N-1 v2 -50 77.0 35.0
5 49 3vy N-1 ¢A -100 81.0 31.0| 43 68 34 N= 43 140 80.0 32.0( 37 22 34 N-1 *8 -50 77.0 35.0
53 2 3vS-1 ¢J -100 810 310 55 58 24 N+1 &A 140 80.0 32.0| 45 89 34 N-1 *K -50 77.0 35.0
111 84 3v N-1 #7 -100 810 310| 77 69 34 N= «3 140 80.0 32.0( 46 86 34 N-1 &K -50 77.0 35.0
6 41 4¢ O= vA -130 57.0 55.0| 91 95 34 N= ¢A 140 80.0 32.0( 58 50 34 N-1 +Q -50 77.0 35.0
13 9 44 0= vA -130 57.0 550113 92 34 N= A 140 80.0 32.0| 60 95 34 N-1 *K -50 77.0 35.0
15 75 3¢ O+1 6 -130 570 550|112 81 24 N= «3 110 720 40.0( 64 19 34 N-1 v8 -50 77.0 35.0
27 65 3¢ O+1 #A -130 570 550| 1 97 4e V-1 A 100 63.0 49.0( 65 40 34 N-1 &K -50 77.0 35.0
37 32 2¢ V+2 &K -130 57.0 550( 31 8 4e V-1 «A 100 63.0 49.0| 66 7 34 N-1 *K -50 77.0 35.0
44 78 3¢ O+1 &A -130 57.0 55.0( 33 98 4¢ V-1 A 100 63.0 49.0( 73 39 34 N-1 «Q -50 77.0 35.0
47 36 3¢ O+1 &2 -130 57.0 55.0( 60 23 5¢ V-1 A 100 63.0 49.0( 82 108 34 N-1 &K -50 77.0 35.0
52 48 2¢ O+2 #A -130 57.0 550 61 19 4¢ V-1 «A 100 63.0 49.0| 83 23 34 N-1 *K -50 77.0 35.0
55 58 4¢ O= vA -130 57.0 55.0| 74 102 4¢ V-1 A 100 63.0 49.0( 85 10 34 N-1 v8 -50 77.0 35.0
56 100 4¢ O = vA -130 57.0 55.0| 80 54 4¢ V-1 A 100 63.0 49.0 (101 100 34 N-1 &K -50 77.0 35.0
61 19 2¢ O+2 &2 -130 570 55.0| 94 66 4¢ O-1 ¢4 100 63.0 49.0|111 24 34 N-1 *Q -50 77.0 35.0
67 115 2¢ O+2 #A -130 57.0 550|110 45 Pass 54.0 58.0(114 67 34 N-1 &K -50 77.0 35.0
74 102 3¢ O+1 #2 -130 570 550| 6 41 34 N-1 3 -50 450 670| 5 74 34 N-2 v2 -100 34.0 78.0
76 87 3¢ O+1 ¢2 -130 57.0 55.0| 24 21 34 N-1 &A -50 45.0 67.0| 18 68 34 N-2 v2 -100 34.0 780
80 54 4¢ O= vA -130 57.0 55.0( 27 65 3v N-1 *A -50 450 67.0| 25 30 44 N-2 &K -100 34.0 78.0
91 95 3¢ O+1 ¢6 -130 57.0 550( 29 101 34 N-1 3 -50 450 67.0| 42 15 34 N-2 v2 -100 34.0 78.0
99 106 3¢ O+1 48 -130 57.0 55.0| 42 79 34 N-1 3 -50 45.0 67.0| 43 56 34 N-2 «K -100 34.0 780
107 4 2¢ O+2 #2 -130 57.0 550 72 93 34 N-1 *A -50 450 67.0| 51 78 34 N-2 v2 -100 34.0 78.0
113 92 3¢ O+1 6 -130 57.0 550 76 87 34 N-1 *A -50 450 67.0| 52 71 34 N-2 v2 -100 34.0 78.0
114 22 3¢ O+1 #A -130 57.0 55.0| 82 88 34 N-1 3 -50 45.0 67.0| 70 59 34 N-2 v8 -100 34.0 780
3 8 3¢0+2 vA -150 270 85.0| 30 83 44 N-2 ¢A  -100 35.0 77.0[ 75 49 34 N-2 v2 -100 34.0 78.0
12 73 3¢ O+2 2 -150 27.0 850|114 22 44 N-2 ¢A -100 350 77.0( 76 61 44 N-2 «Q -100 34.0 78.0
18 108 3¢ O+2 ¢2 -150 270 850| 13 9 3¢ V= A -110 240 88.0| 77 80 34 N-2 v2 -100 34.0 780
24 21 3¢ O+2 2 -150 270 850| 14 34 3¢ V= A -110 240 88.0| 79 48 34 N-2 v2 -100 34.0 78.0
43 68 3¢ O+2 42 -150 27.0 850 16 11 3¢ V= A -110 240 88.0| 87 72 34 N-2 &K -100 34.0 78.0
50 57 2¢ O+3 4 -150 27.0 850| 20 103 3¢ V= A -110 240 88.0| 88 69 34 N-2 v2 -100 34.0 780
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60 23 4¢ O+1 vA -150 27.0 85.0| 52 48 3¢ V= 4A -110 240 88.0| 92 8 34 N-2 #K -100 34.0 78.0
63 7 2¢ O+3 44 -150 270 850| 70 39 3¢ V= 4A -110 240 88.0| 93 55 34 N-2 v2 -100 34.0 780
64 46 3¢ O+2 ¢2 -150 27.0 850 86 17 3¢ V= A -110 24.0 88.0| 97 112 44 N-2 «K -100 34.0 78.0
77 69 3¢ O+2 ¢6 -150 27.0 85.0|107 4 3¢ V= 4A -110 240 88.0(110 9 34 N-2 #K -100 34.0 78.0
70 39 24 O+2 ¢6 -170 150 97.0|111 84 3¢ V= 4A -110 24.0 88.0(113 14 34 N-2 v2 -100 34.0 78.0
112 81 24 O+2 44 -170 150 970 5 49 INV+1 A -120 12.0 100.0| 1 81 34 N-3 v2 -150 7.0 105.0
26 90 3v S-2 +J -200 10.0 102.0| 10 25 INV+1 4A -120 12.0 100.0| 16 20 44 N-3 K  -150 7.0 105.0
35 62 3y N-2 «T -200 10.0 102.0| 37 32 INV+1 4A -120 12.0 100.0| 17 63 44 S-3 ¢T -150 7.0 105.0
94 66 3v N-2 4T -200 10.0 102.0| 3 89 3¢ V+1 A -130 4.0 108.0( 35 31 44 N-3 K  -150 7.0 105.0
105 59 INV+4 &9 -210 6.0 106.0| 44 78 3¢ V+1 4Q -130 4.0 108.0| 38 94 44 N-3 v2 -150 7.0 105.0
42 79 3NV= &K  -400 3.0 1090 63 7 3¢ V+l 4A -130 4.0 108.0| 54 27 44 N-3 v3 -150 7.0 105.0
82 88 3NV= K -400 3.0 109.0| 99 106 3¢ V+1 &A -130 4.0 108.0| 91 57 44 N-3 «Q -150 7.0 105.0
110 45 4¢DO+1 vA -610 0.0 112.0 (105 59 3¢ V+1 4A -130 4.0 108.0| 98 104 44 N-3 v2 -150 7.0 105.0
104 - 50.1 104 - 50.1 3 - 52.6
34 « D95 35 4832 36 « EK94
Ost v 109 Syd v D42 Vast v EKn64
NS ¢ EDKn43 oV 49843 Alla + Kn109
S»E32 &KD8 102
476 4 EKn1084 4 Kn5 «D4 4732 « DKn10865
vKKn863 ¥D v1093 vKn8765 vK1097 vD8
+ K6 4975 ¢ E652 ¢ DKn7 +ED + K8
#10874  #KKn96 #10742 &E95 #E653 #D98
4 K32 4 EK10976 a-
v E7542 vEK v 532
¢ 1082 + K10 ¢ 765432
«D5 #Kn63 #KKn74
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
16 20 2NDN= T 690 1120 00| 39 30 44 S+2 &4 480 1120 0.0| 37 107 2¢DS+2 42 580 1120 0.0
21 11 3NN+1 4J 630 1100 20| 1 35 44 S+1 v3 450 91.0 21.0| 19 24 44 O-2 ¢3 200 108.0 4.0
52 71 3NS= v3 600 108.0 4.0 7 18 44 S+1 vT 450 91.0 21.0| 25 89 3NV-2 ¢J 200 108.0 4.0
26 102 2¢vDV-3 45 500 1060 6.0| 8 76 44 S+1 vT 450 91.0 21.0| 86 113 44 V-2 ¢J 200 108.0 4.0
43 56 INN+4 T 210 1040 80| 14 94 44 S+1 vT 450 91.0 21.0| 80 69 4¢ S= 42 130 1040 8.0
32 53 24 0-4 ¢2 200 101.0 11.0( 15 82 44 S+1 v3 450 91.0 21.0] 9 99 44 O-1 v5 100 91.0 21.0
38 94 340-4 ¢2 200 101.0 110 23 95 44 S+1 a5 450 91.0 21.0| 14 94 34 V-1 +J 100 91.0 21.0
54 27 2v V-3 vT 150 95.0 17.0| 37 107 44 S+1 vT 450 91.0 21.0| 23 95 INO-1 ¢7 100 91.0 21.0
85 10 34 O-3 ¢2 150 95.0 17.0| 38 34 44 S+1 vT 450 910 21.0| 38 34 44 O-1 «7 100 91.0 21.0
92 8 340-3 ¢2 150 95.0 17.0| 46 83 44 S+1 vT 450 91.0 21.0| 44 81 44 V-1 +J 100 91.0 21.0
110 9 24 O-3 ¢2 150 95.0 17.0| 47 70 44 S+1  #4 450 91.0 21.0| 56 51 34 V-1 T 100 91.0 21.0
4 96 3¢ N+1 vQ 130 840 28.0| 56 51 44 S+1 v9 450 91.0 21.0| 68 88 44 O-1 +3 100 91.0 21.0
17 63 3¢ N+1 vQ 130 840 28.0| 63 85 44 S+1 vT 450 91.0 21.0| 73 5 340-1 v2 100 91.0 21.0
34 109 2¢ N+2 vQ 130 84.0 28.0| 66 49 44 S+1 vT 450 91.0 21.0| 84 92 44 O-1 ¢7 100 91.0 21.0
58 50 3¢ N+1 vQ 130 840 28.0| 71 79 44 S+1 vT 450 91.0 21.0| 87 97 34 V-1 +J 100 91.0 21.0
64 19 3¢ N+1 vQ 130 840 28.0| 77 52 44 S+1 vT 450 91.0 21.0{ 91 2 3NV-1 +J 100 91.0 21.0
83 23 3¢ N+1 vQ 130 84.0 28.0| 90 109 44 S+1 ¢A 450 91.0 21.0|100 74 34 O-1 +5 100 91.0 21.0
93 55 3¢ N+1 vQ 130 840 28.0| 91 2 44 S+1 v3 450 91.0 21.0| 63 85 3¢ S-1 42 -100 78.0 34.0
73 39 2NN= vQ 120 76.0 36.0|100 74 44 S+1 vT 450 91.0 21.0| 6 50 24 O= ¢7 -110 63.0 49.0
36 105 3¢ N= vQ 110 71.0 41.0|103 101 44 S+1 vT 450 91.0 21.0| 8 76 24 O= +3 -110 63.0 49.0
84 6 2vS= «7 110 71.0 41.0|106 36 44 S+1 vT 450 91.0 21.0| 12 57 24 O= v2 -110 63.0 49.0
88 69 3¢ N= vQ 110 71.0 41.0| 19 24 3NN+1 v6 430 65.0 47.0| 15 82 24 O= ¢3 -110 63.0 49.0
103 90 3¢ N= vQ 110 710 41.0| 41 11 3NN+1 v6 430 65.0 47.0| 16 112 24 O= +3 -110 63.0 49.0
1 81 24 0-2 ¢2 100 49.0 63.0( 73 5 3NS+1 vT 430 65.0 47.0| 28 26 24 O= ¢3 -110 63.0 49.0
2107 2v V-2 «5 100 490 63.0| 78 65 3NS+1 vT 430 65.0 47.0| 46 83 24 O= v2 -110 63.0 49.0
5 74 INV-2 +3 100 49.0 63.0( 80 69 3NS+1 v3 430 65.0 47.0| 47 70 24 V= T -110 63.0 49.0
12 41 34V-2 vT 100 490 63.0|111 4 3NN+1 ¢Q 430 65.0 47.0| 71 79 24 O= v2 -110 63.0 49.0
25 30 3#V-2 vT 100 490 63.0| 6 50 44 S= vT 420 39.0 73.0| 78 65 24 V= +J -110 63.0 49.0
28 62 3% 0-2 ¢2 100 490 63.0| 9 99 44 S= T 420 39.0 73.0| 96 110 24 O= ¢7 -110 63.0 49.0
29 44 24 O-2 +2 100 49.0 63.0( 10 60 44 S= &5 420 39.0 73.0| 98 3 24 0= ¢7 -110 63.0 49.0
60 95 34 0-2 vA 100 490 63.0| 12 57 44 S= &7 420 39.0 73.0|104 67 24 O= v2 -110 63.0 49.0
70 59 34 0-2 ¢2 100 49.0 63.0| 16 112 44 S= vT 420 39.0 73.0|106 36 24 O= +3 -110 63.0 49.0
75 49 INV-2 +Q 100 49.0 63.0( 22 53 44 S= &4 420 39.0 73.0( 1 35 24 0+1 3 -140 32.0 80.0
76 61 INV-2 vT 100 490 63.0| 28 26 44 S= &4 420 39.0 73.0| 29 108 34 O= ¢5 -140 32.0 80.0
77 80 24 O-2 vA 100 49.0 63.0| 29 108 44 S= v9 420 39.0 73.0| 31 43 24 V+1 +J -140 32.0 80.0
79 48 24 O-2 +2 100 49.0 63.0( 31 43 44 S= &4 420 39.0 73.0| 39 30 24 V+1 +J -140 32.0 80.0
82 108 2# O -2 vA 100 490 63.0| 42 72 44 S= &4 420 39.0 73.0| 41 11 24 O+1 7 -140 32.0 80.0
87 72 24 O-2 ¢2 100 49.0 63.0| 48 54 44 S= 4 420 39.0 73.0| 42 72 34 0= v2 -140 32.0 80.0
97 112 2v V-2 vT 100 49.0 63.0( 62 21 44 S= &4 420 39.0 73.0| 58 32 24 V+1 +J -140 32.0 80.0
101 100 1INV -2 +Q 100 490 63.0| 64 61 44 S= «J 420 39.0 73.0| 59 45 24 O+1 2 -140 32.0 80.0
113 14 24 O-2 ¢2 100 49.0 63.0| 68 88 44 S= 4 420 39.0 73.0| 62 21 34 O= v2 -140 32.0 80.0
18 68 24 O-1 2 50 26.0 86.0| 84 92 44 S= &4 420 39.0 73.0( 64 61 24 O+1 ¢5 -140 32.0 80.0
33 47 24 O-1 ¢+8 50 26.0 86.0| 86 113 44 S= vT 420 39.0 73.0| 66 49 24 O+1 v2 -140 32.0 80.0
66 7 24 O-1 «Q 50 26.0 86.0| 87 97 44 S= 4J 420 39.0 73.0| 75 20 24 O+1 &7 -140 32.0 80.0
111 24 24 O-1 «Q 50 26.0 86.0| 98 3 44 S= vT 420 39.0 73.0| 77 52 34 O= ¢7 -140 32.0 80.0
114 67 24 0-1 ¢2 50 26.0 86.0|104 67 44 S= &2 420 39.0 73.0| 90 109 34 O= ¢7 -140 32.0 80.0
13 99 2v S-1 46 -100 17.0 95.0|115 13 44 S= 4J 420 39.0 73.0|103 101 24 O+1 3 -140 32.0 80.0
45 89 3NS-1 7 -100 17.0 95.0| 25 89 24 S+3 45 200 140 98.0(105 33 24 O+1 #4 -140 32.0 80.0
51 78 2vS-1 7 -100 17.0 950| 27 40 24 S+3 vT 200 140 98.0|111 4 24 O+1 v2 -140 32.0 80.0
65 40 2v S-1 7 -100 17.0 95.0| 58 32 24 S+3 vT 200 140 98.0| 7 18 INV+2 +J -150 14.0 98.0
35 31 2¢S-2 47 -200 7.0 105.0 (102 93 34 S +2 v3 200 140 980( 10 60 24 O+2 &7 -170 9.0 103.0
37 22 2vS-2 a7  -200 7.0 105.0 (105 33 14 S+4 v9 200 140 980 27 40 34 O+1 #4 -170 9.0 103.0
42 15 2v S-2 47  -200 7.0 105.0| 17 55 34 S+1 vT 170 5.0 107.0| 48 54 24 O+2 v2 -170 9.0 103.0
46 86 2v S-2 47 -200 7.0 105.0| 44 81 34 S+1 vT 170 5.0 107.0 (115 13 34 O+1 &7 -170 9.0 103.0
91 57 2vS-2 a7  -200 7.0 105.0| 75 20 24 S+2 vT 170 5.0 107.0 (102 93 1#4RDV= #4A -230 4.0 108.
106 115 3v S-2 47  -200 7.0 105.0| 96 110 34 S+1 vT 170 5.0 107.0| 17 55 3v N-3 4Q -300 2.0 110.0
98 104 2v S-3 46 -300 0.0 112.0| 59 45 44 S-1 45 -50 0.0 112.0| 22 53 44D O= &7 -790 0.0 112.0
3 - 52.6 114 - 56.3 114 - 56.3
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37 942 38 # 986 39 « Kn10953
Nord v 109754 Ost v E10963 Syd v 94
NS + K109 ov + K94 Alla ¢ 109742
#Kn8 %53 &E
« D10 4 Kn765 4E52  4K103 a2 «E64
vD3 v EKKn2 vDKn2 ¢8 vKDKn10 v763
¢ Kn873 ¢+ E64 ¢ ED53 ¢ 1072 ¢DKn53  +86
#E10932 #K7 #KKn6 #ED9872 #KD92 #Kn10763
» EK83 « DKn74 « KD87
v 86 v K754 v E852
¢ D52 ¢ Kn86 ¢ EK
+D654 «104 854
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
97 34 3NV-2 v4 100 1120 0.0 93 73 44 O-2 v4 200 1120 00| 1 11 24DN+3 8 1270 1100 20
12 94 3NO-1 A 50 1050 7.0| 41 25 5&V-1 vA 100 1100 20| 45 17 24DS+3 vK 1270 1100 20
15 48 3NO-1 «A 50 1050 7.0|51 29 44V+1l 49 -150 107.0 5.0(114 33 24DS+3 ¢Q 1270 1100 2.0
19 35 3NO-1 «3 50 1050 70|66 82 4+4V+l vA -150 107.0 5.0(106 2 34DS+1 42 930 106.0 6.0
32 84 3NO-1 «A 50 1050 7.0| 70 99 2NV +2 v3 -180 1040 80| 39 58 44aDN= 8 790 1040 8.0
38 21 3NO-1 v8 50 1050 70| 60 111 3NV= 49 -600 99.0 13.0| 15 52 44 S+1 vK 650 89.0 23.0
76 45 3NO-1 A 50 1050 7.0| 75113 3NV= 48 -600 99.0 13.0| 29 28 44 S+1 vK 650 89.0 23.0
30 23 INO-= &5 90 98.0 14.0| 80 65 3NV= 49 -600 99.0 13.0| 30 34 44 N+1 #J 650 89.0 23.0
3105 3# 0= A -110 96.0 16.0(114 106 5% V= #3 -600 99.0 13.0| 36 9 44 S+1 ¢vK 650 89.0 23.0
70 99 2NO= A -120 93.0 19.0| 1 62 3NV+1 v9 630 49.0 63.0| 41 85 44 S+1 vK 650 89.0 23.0
112 63 2NO= A -120 93.0 19.0| 2 98 3NV+1 v6 -630 49.0 63.0| 43 65 44 N+1 8 650 89.0 23.0
20 49 INO+2 &5 -150 840 28.0| 3105 3NV+1 v3 630 49.0 630 49 32 44 S+1 vK 650 89.0 23.0
26 44 2NO+1 8 -150 840 280| 9 22 3NV+1 v6 630 49.0 63.0| 51 20 44 S+1 vK 650 89.0 23.0
52 27 1INV +2 v4 -150 84.0 28.0| 12 94 3NV +1 v3 630 49.0 63.0( 53 6 44 N+1 8 650 89.0 23.0
55 61 INO+2 &5 -150 84.0 280 13 67 3NV +1 v3 630 49.0 630( 78 54 44 S+1 vK 650 89.0 23.0
58 83 2NO+1 &4 -150 84.0 28.0( 15 48 3NV +1 v9 630 49.0 63.0({101 55 44 S+1 vK 650 89.0 23.0
90 5 INO+2 43 -150 84.0 28.0( 16 86 3NV +1 v3 -630 49.0 63.0(103 86 44 S+1 vK 650 89.0 23.0
92 46 INO+2 A -150 84.0 280 18 14 3NV +1 v6 -630 49.0 63.0(104 22 44 S+1 vK 650 89.0 23.0
13 67 2NO+2 #A -180 730 39.0| 19 35 3NV+1 v3 630 49.0 63.0(111 23 44 S+1 vK 650 89.0 23.0
28 103 INO+3 #4 -180 730 39.0| 20 49 3NV +1 v3 -630 49.0 63.0| 57 35 44 S= vK 620 71.0 41.0
91 102 INO+3 &5 -180 73.0 390( 24 89 3NV+1 v6 630 49.0 630 76 90 44 S= vK 620 71.0 41.0
109 4 INO+3 #5 -180 730 39.0| 26 44 3NV +1 v3 630 49.0 63.0| 77 68 44 S= vK 620 71.0 41.0
2 98 INO+4 3 -210 68.0 44.0| 28 103 3NV +1 v6 -630 49.0 63.0| 81 27 44 S= vQ 620 71.0 41.0
9 22 3NO= A -400 520 60.0| 30 23 3NV+1 v3 -630 490 630 24 37 3vO-4 4K 400 66.0 46.0
24 89 3NO= v6 -400 520 60.0| 32 84 3NV+1 v3 630 49.0 63.0( 4 113 24 S+3 vK 200 45.0 67.0
37 50 3NO= A  -400 520 60.0| 33 6 3NV+1 v6 -630 49.0 63.0| 5109 24 S+3 vK 200 45.0 67.0
41 25 3NO= v8 -400 520 60.0( 37 50 3NV +1 v3 630 49.0 630( 13 10 24 N+3 ¢8 200 450 67.0
53 85 3NO= A 400 520 60.0| 38 21 3NV+1 v3 630 49.0 63.0| 18 44 34 S+2 vK 200 45.0 67.0
60 111 3NO= A  -400 520 60.0| 39 11 3NV+1 v3 -630 49.0 63.0| 19 87 34 N+2 #J 200 45.0 67.0
66 82 3NO= 3 -400 520 60.0| 40 54 3NV +1 v3 630 49.0 630( 26 38 24 S+3 vK 200 450 67.0
75 113 3NO= v8 -400 520 60.0| 42 64 3NV +1 v9 630 49.0 63.0( 40 80 34 N+2 ¢8 200 45.0 67.0
77 78 3NO= A  -400 520 60.0| 52 27 3NV+1 v9 630 49.0 63.0| 48 31 34 N+2 8 200 45.0 67.0
80 65 3NO= A -400 520 60.0| 53 85 3NV+1 v3 630 490 630( 56 69 34 S+2 vK 200 450 67.0
96 95 3NO= aK -400 520 60.0| 55 61 3NV+1 v3 630 49.0 63.0| 63 75 34 S+2 vK 200 45.0 67.0
101 72 3NO= A  -400 520 60.0| 57 8 3NV+1 v3 -630 49.0 63.0| 72 100 34 S+2 vK 200 45.0 67.0
104 10 3NO= A -400 520 60.0| 58 83 3NV+1 v6 -630 49.0 630( 73 97 34 S+2 vK 200 450 67.0
108 31 3NO= A 400 520 60.0| 59 47 3NV+1 v6 630 49.0 63.0|( 83 91 24 S+3 vK 200 45.0 67.0
114 106 3NO= 48 -400 520 60.0| 69 68 3NV+1 v3 -630 49.0 63.0( 88 79 24 N+3 8 200 45.0 67.0
1 62 3NV+1 42 -430 180 940( 71 56 3NV +1 v3 630 49.0 630 92 16 24 S+3 vK 200 450 67.0
7 81 3NO+1 A 430 180 94.0| 74 87 3NV +1 v3 630 49.0 63.0( 94 60 24 S+3 vK 200 45.0 67.0
16 86 3NO+1 ¢8 -430 180 940| 76 45 3NV +1 v3 -630 49.0 63.0| 96 105 24 N+3 ¢6 200 45.0 67.0
18 14 3NO+1 43 -430 180 94.0| 77 78 3NV +1 v6 630 49.0 630 99 3 24S+3 vK 200 450 67.0
33 6 3NO+1 43 -430 18.0 94.0( 88 43 3NV+1 v3 630 49.0 63.0({102 70 24 S+3 vK 200 45.0 67.0
36 115 3NO+1 &A -430 18.0 94.0( 90 5 3NV+1 v3 -630 49.0 63.0(112 62 34 N+2 ¢8 200 45.0 67.0
39 11 3NO+1 v8 -430 18.0 940 91 102 3NV +1 v3 630 490 630 8 64 34 S+1 vK 170 17.0 95.0
40 54 3NO+1 v8 -430 18.0 94.0| 92 46 3NV +1 v3 630 49.0 63.0 12 7 34 N+1 &J 170 17.0 95.0
42 64 3NO+1 &5 -430 18.0 94.0( 96 95 3NV +1 v9 630 49.0 63.0| 47 25 24 S+2 vK 170 17.0 95.0
51 29 3NO+1 #4 -430 18.0 940 97 34 3NV +1 v3 630 490 630( 66 14 34 S+1 vK 170 17.0 95.0
57 8 3NO+1 43 -430 18.0 94.0({100 79 3NV +1 v3 630 49.0 63.0| 71 108 34 S+1 vK 170 17.0 95.0
59 47 3NO+1 43 -430 18.0 94.0({101 72 3NV +1 v3 630 49.0 63.0| 84 46 24 S+2 vK 170 17.0 95.0
69 68 3NO+1 4A -430 18.0 94.0|104 10 3NV +1 v3 -630 49.0 63.0( 95115 24 N+2 ¢8 170 17.0 95.0
71 56 3NO+1 3 -430 180 94.0|108 31 3NV +1 v6 630 49.0 63.0| 98 107 24 S+2 vK 170 17.0 95.0
74 87 3NO+1 #A -430 180 940|109 4 3NV+1 v3 -630 49.0 63.0| 61 93 34 S= vK 140 7.0 105.0
88 43 3NO+1 48 -430 18.0 940110 17 3NV +1 v6 -630 49.0 63.0( 89 50 34 S= vK 140 7.0 105.0
93 73 3NO+1 43 -430 18.0 94.0(112 63 3NV +1 v9 630 49.0 63.0(110 67 1lv S+1 &K 110 4.0 108.0
100 79 3NO+1 8 -430 180 940| 7 81 3NV+2 v3  -660 1.0 111.0| 74 42 24V = [N -90 2.0 110.0
110 17 3NO+1 A -430 18.0 94.0( 36 115 3NV +2 v3 -660 1.0 111.0| 82 21 44 S-1 vK  -100 0.0 112.0
107 - 52.3 107 - 52.3 59 - 51.7
40 a7 41 «83 42 « Kng54
Vast vK7 Nord v D962 Ost vD7
Ingen ¢ 9752 (0)Y) + E86 Alla + D653
#1098432 #EDKn4 +D94
« EK1095 «D8632 « K4 «D1062 4763 « D92
v D983 v EKn65 v K743 vE10 v K109432 v EKn65
¢ Knl10 + D6 ¢ K10742 ¢ Kn953 *4 ¢ K82
«D6 *E7 #53 #1082 «E102 #KKn3
& Kn4 « EKn975 « EK10
v 1042 v Kn85 v8
¢ EK843 +D ¢ EKn1097
#KKn5 #K976 #8765
Par Kontr ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
43 65 54 V-2 ¢5 100 1120 0.0 1112 24 S+1 ¢2 140 96.0 16.0 (107 99 4v V-2 ¢5 200 1120 0.0
1 11 4e V-1 T 50 88.6 234| 15 68 24 N+1 5 140 96.0 16.0( 10 102 4v O-1 «A 100 98.8 13.3
4 113 44 V-1 T 50 88.6 234 29 32 24 S+1 &5 140 96.0 16.0( 12 86 4v V-1 ¢5 100 98.8 13.3
5109 44 V-1 T 50 88.6 234 34 45 24 S+1 &5 140 96.0 16.0( 18 72 4v V-1 ¢5 100 98.8 13.3
12 7 44 V-1 T 50 88.6 23.4| 40 43 24 S+1 &5 140 96.0 16.0( 20 28 4v O-1 «A 100 98.8 13.3
19 87 44 V-1 T 50 88.6 234 44 51 24 S+1 ¢4 140 96.0 16.0| 29 32 4v V-1 45 100 98.8 13.3
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24 37 44 V-1 &9 50 88.6 23.4| 63 46 24 S+1 &5 140 96.0 16.0| 38 52 4v V-1 +Q 100 98.8 13.3
40 80 44 V-1 &T 50 88.6 23.4| 67 91 24 S+1 ¢2 140 96.0 16.0| 63 46 4v V-1 &4 100 98.8 13.3
48 31 44 V-1 &3 50 88.6 23.4| 79 69 24 N+1 5 140 96.0 16.0| 80 78 4v V-1 +5 100 98.8 13.3
56 69 44 V-1 &T 50 88.6 23.4| 80 78 24 S+1 &5 140 96.0 16.0| 84 94 4v O-1 «K 100 98.8 13.3
63 75 44 V-1 +5 50 88.6 23.4| 88 71 24 S+1 ¢2 140 96.0 16.0| 85 83 3v V-1 +5 100 98.8 13.3
66 14 44 V-1 +5 50 88.6 23.4| 92 42 24 S+1 ¢2 140 96.0 16.0|101 21 4v V-1 +5 100 98.8 13.3
71 108 44 V-1 &T 50 88.6 23.4| 97 90 24 N+1 vA 140 96.0 16.0|103 66 4v V-1 +5 100 98.8 13.3
73 97 4e V-1 &8 50 88.6 23.4|100 93 24 S+1 ¢4 140 96.0 16.0| 41 60 4¢ S-1 v4 -100 845 275
77 68 4a V-1 &T 50 88.6 234|101 21 2v N+1 5 140 96.0 16.0| 88 71 4¢ S-1 v9 -100 845 275
81 27 4e4 V-1 &T 50 88.6 23.4|107 99 24 S+1 ¢2 140 96.0 16.0|105 2 2v V= +3 -110 81.4 30.6
82 21 44 V-1 &T 50 88.6 234|114 47 3v N= vA 140 96.0 16.0 8 50 3vV= +5 -140 63.1 489
83 91 4e V-1 &8 50 88.6 23.4| 81 77 3 N+1 &2 130 77.0 35.0 9 3 2vV+1 +3 -140 63.1 489
92 16 54 V-1 +5 50 88.6 23.4|106 110 3% S+1 ¢2 130 77.0 35.0| 23 89 2v V+1 +5 -140 63.1 489
95 115 4e V-1 &T 50 88.6 23.4| 20 28 INN+1 +3 120 720 40.0| 24 11 2v V+1 +5 -140 63.1 489
103 86 44 V-1 &T 50 88.6 234 27 108 2NN = &T 120 72.0 40.0| 34 45 3vO= oA -140 63.1 489
104 22 44 V-1 &T 50 88.6 23.4| 38 52 2NN= +5 120 72.0 40.0| 39 109 3v V= +5 -140 63.1 489
111 23 44 V-1 &3 50 88.6 234 8 50 24 S= &5 110 58.0 54.0| 44 51 3vO= aA -140 63.1 48.9
41 85 5¢DS-1 ¢J -100 64.1 479| 12 86 24 S= &5 110 58.0 54.0| 48 14 3v O= oA -140 63.1 489
101 55 64DS-1 4K -100 64.1 479| 18 72 24 S= ¢2 110 58.0 54.0| 53 113 2v V+1 a5 -140 63.1 489
96 105 34 O= ¢K -140 61.1 509| 24 11 24 N+1 vA 110 58.0 54.0| 56 54 3v V= +5 -140 63.1 489
47 25 2v O+3 s -200 59.1 529| 26 19 34 S= ¢2 110 58.0 54.0| 67 91 2v V+1 +3 -140 63.1 489
78 54 5¢DS-2 &A -300 550 57.0| 56 54 24 S= &5 110 580 540| 73 7 3v V= +5 -140 63.1 489
110 67 5¢DS-2 A -300 55.0 57.0( 74 25 24 N= 8 110 58.0 54.0| 74 25 3v V= +5 -140 63.1 489
112 62 5¢DS-2 #A -300 55.0 57.0( 87 55 2v S= &5 110 58.0 54.0| 95 13 2v V+1 a5 -140 63.1 489
8 64 44 V= +5 -420 316 80.4| 95 13 2v N= +5 110 58.0 54.0| 97 90 2v V+1 +5 -140 63.1 489
13 10 4e V= +5 -420 31.6 80.4|103 66 24 S= &5 110 58.0 54.0(|100 93 3v V= +5 -140 63.1 489
15 52 44 V= +5 -420 316 804|105 2 34 N-= vA 110 58.0 54.0|106 110 3v O = oA -140 63.1 489
18 44 4e V= +5 420 316 80.4| 16 76 2# N= &2 90 41.0 71.0( 16 76 3v V+1 +5 -170 356 76.4
30 34 44 V= +5 -420 316 80.4| 31 65 INN= +5 90 410 71.0| 30 111 3v O +1 aA -170 356 76.4
39 58 44 V= +5 -420 316 80.4| 33 115 INN= +5 90 41.0 71.0| 31 65 2vy O+2 4A -170 356 76.4
45 17 4e4 V= &T -420 316 804 | 48 14 INN= +5 90 41.0 71.0( 40 43 3v V+1 a5 -170 356 76.4
51 20 44 V= 7 -420 316 80.4| 49 82 INN= 46 90 410 71.0| 49 82 2v O+2 aA -170 356 76.4
53 6 44 V= &T -420 316 804| 73 7 INN= +5 90 410 71.0| 61 75 2v O+2 4A -170 356 76.4
57 35 44 V= +5 -420 316 804 6 58 3#S-1 &5 -50 26.0 86.0| 62 64 3v O+1 &8 -170 356 76.4
61 93 4e V= &T -420 31.6 80.4| 10 102 2NN-1 +5 -50 26.0 86.0( 79 69 3v O+1 aA -170 356 76.4
72 100 4e V= &T -420 316 80.4| 30 111 3NN-1 +5 -50 26.0 86.0( 87 55 3v O+1 &6 -170 356 76.4
74 42 46 V= &T -420 316 804 35 5 3vN-1 +3 -50 26.0 86.0| 92 42 3v V+1 +5 -170 356 76.4
76 90 4e V= &T -420 31.6 80.4| 37 104 4ANN-1 +5 -50 26.0 86.0| 81 77 4¢DS-2 ¥3 -500 244 87.6
84 46 44 V= &T -420 316 80.4| 39 109 44 S-1 &5 -50 26.0 86.0 1112 4v O= 4A  -620 122 998
88 79 4a4 V= +5 -420 316 804 61 75 2NN-1 +3 -50 26.0 86.0 4 57 4v V= +5 -620 12.2 99.8
94 60 44 V= &T -420 316 80.4| 62 64 2NN-1 +5 -50 26.0 86.0 6 58 4v O= aA  -620 122 99.8
102 70 44 V= &T -420 316 80.4| 8 83 2NN-1 +5 -50 26.0 86.0| 17 70 4v O= oA -620 122 99.8
106 2 44 V= &T -420 316 804 4 57 3NN-2 +5 -100  12.0 100.0| 26 19 4y O= aA  -620 122 99.8
114 33 44 V= &T -420 316 804 9 3 2NN-2 +5 -100  12.0 100.0| 27 108 4v O = 4K -620 122 99.8
26 38 4e V+1 vyK  -450 6.1 105.9| 23 89 2NN-2 +3 -100 12.0 100.0| 33 115 4v V= +5 -620 12.2 99.8
36 9 4e V+1 +9 -450 6.1 105.9| 53 113 3NN -2 +5 -100 12.0 100.0| 35 5 4vO= aA  -620 122 99.8
49 32 4v V+1 a7 -450 6.1 1059 96 36 3NN-2 +5 -100  12.0 100.0| 96 36 4y O = 4K -620 122 99.8
89 50 4e V+1 vyK  -450 6.1 1059| 84 94 3¢ O= &7 -110 6.0 106.0( 98 59 4v O= &8 -620 12.2 99.8
99 3 4e V+1 +5 -450 6.1 1059| 41 60 3NN-3 +3 -150 3.0 109.0 |114 47 4v O= 4K -620 122 99.8
29 28 5¢DS-3 ¢J -500 0.0 1120 98 59 3NN-3 +3 -150 3.0 109.0| 15 68 3vDV= +5 -730 0.0 112.0
59 51.7 17 70 3NN-5 ¢5 -250 0.0 112.0| 22 50.1
98 107 A+/A- 67.2 448 22 - 50.1 37 104 A+/A- 67.2 44.8
43 « 864 44 & D942 45 «D76
Syd v763 Vast v96 Nord v EK765
Ingen 4632 NS + E106 Alla +8
&#EK108 &ED109 &#Kn743
& K92 & DKn 4 KKn103 & E85 4 K10 & EKn
vE10 v KDKn982 vED108 vK32 v 3832 v DKn109
¢ KKn + D98 ¢ K972 + D853 ¢ EKD1097 +¢43
&#DKn9432 #76 &5 »K82 K10 &#ED985
«E10753 & 76 4985432
v54 v Kn754 v4
+ E10754 ¢+ Kn4 + Kn652
&5 &#Kn7643 »62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
35 84 3#V-2 44 100 1120 00| 30 74 4y V-3 A 150 1100 20| 26 49 6NO-4 45 400 112.0 0.0
5 97 4v0-1 s A 50 86.0 26.0| 83 45 3NO-3 &3 150 1100 20| 81 69 6NDO-1 ¥4 200 109.0 3.0
8 58 4v 0O-1 &5 50 86.0 26.0| 85 24 3NO-3 &3 150 110.0 2.0( 84 104 5% O -2 v4 200 109.0 3.0
12 112 4v V-1 S A 50 86.0 26.0 2 99 5¢ V-2 v9 100 940 18.0| 23 36 4¢ V= vA -130 1060 6.0
15 79 4v O-1 &5 50 86.0 26.0 3 115 3NO-2 &3 100 94.0 18.0 6 95 3NO= a3 -600 101.0 11.0
19 18 4v V-1 v7 50 86.0 26.0 5 97 3NO-2 &4 100 94.0 18.0| 37 105 3NV = vA -600 101.0 11.0
20 100 4v O-1 oA 50 86.0 26.0| 12 112 3NO-2 v5 100 940 180| 70 53 3NO= v4 -600 101.0 11.0
22 106 4v O-1 &5 50 86.0 26.0| 16 61 3NO-2 &3 100 940 18.0| 89 11 3NO= a2 -600 101.0 11.0
25 4 4v V-1 &A 50 86.0 26.0| 31 63 3NO-2 &3 100 94.0 18.0 4 39 3NO+1 v4 -630 79.0 33.0
29 27 4v 0O-1 &5 50 86.0 26.0| 33 36 3NV-2 «Q 100 94.0 18.0 5 27 3NV +1 46 -630 79.0 33.0
31 63 4v V-1 &A 50 86.0 26.0| 38 54 3NO-2 &3 100 940 18.0| 12 19 3NO+1 49 -630 79.0 33.0
34 86 4v V-1 *2 50 86.0 26.0| 52 44 3NO-2 &3 100 940 18.0| 18 92 3NO +1 v4 -630 79.0 33.0
38 54 4v O-1 &5 50 86.0 26.0| 69 101 4v V-2 v6 100 940 18.0| 30 85 4NO= »6 -630 79.0 33.0
42 60 4v O-1 s A 50 86.0 26.0| 93 51 3NO-2 &4 100 940 18.0| 33 13 3NV +1 a7 -630 79.0 33.0
48 103 4v O-1 A 50 86.0 26.0| 94 39 3NO-2 &4 100 940 18.0| 34 75 4NO= a3 -630 79.0 33.0
55 7 4v0O-1 &5 50 86.0 26.0|110 98 3N O -2 4 100 940 18.0| 48 101 3NO+1 49 -630 79.0 33.0
56 40 4v O-1 &5 50 86.0 26.0| 19 18 3NO-1 a7 50 69.0 43.0| 54 108 3NV +1 v6 -630 79.0 33.0
76 72 4v V-1 &K 50 86.0 26.0| 29 27 3NO-1 a7 50 69.0 43.0| 64 82 3NV +1 46 -630 79.0 33.0
77 43 4y V-1 &A 50 86.0 26.0| 35 84 5¢ V-1 a4 50 69.0 43.0| 66 62 3NO+1 48 -630 79.0 33.0
89 59 4v 0O-1 &5 50 86.0 26.0| 42 60 3NO-1 a7 50 69.0 43.0| 67 10 3NO+1 v4 -630 79.0 33.0
90 46 4v V-1 &A 50 86.0 260| 55 7 3NO-1 a7 50 69.0 43.0| 73 71 3NO+1 a5 -630 79.0 33.0
91 37 4v 0-1 &5 50 86.0 26.0| 64 66 3NV-1 a4 50 69.0 43.0| 76 112 3NV +1 v5 -630 79.0 33.0
92 73 4v V-1 &A 50 86.0 26.0| 67 11 3NO-1 v4 50 69.0 43.0| 80 56 4NO= a3 -630 79.0 33.0
102 13 4v O-1 s A 50 86.0 26.0| 81 78 5¢ V-1 v9 50 69.0 43.0| 87 83 3NO+1 a3 -630 79.0 33.0
104 53 4v O-1 &5 50 86.0 26.0| 88 108 3NO-1 a7 50 69.0 43.0| 98 96 3NO+1 a5 -630 79.0 33.0
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110 98 4v O-1 &5 50 86.0 26.0( 89 59 3NV-1 9 50 69.0 43.0(114 74 4NO= v4 -630 79.0 33.0
23 105 24 S-2 vA -100 58.0 54.0| 91 37 3NV-1 4 50 69.0 43.0| 1 41 3NO+2 ¢4 -660 37.0 75.0
47 95 34 S-2 vA -100 58.0 54.0(102 13 3NO-1 «3 50 69.0 430 7 8 3NO+2 #6 -660 37.0 75.0
83 45 3NS-2 4 -100 580 54.0| 14 65 2NO= «3 -120 550 570| 16 94 3NO+2 v4 -660 37.0 75.0

3115 3v O= A -140 520 60.0| 56 40 INO+1 ¥5 -120 55.0 57.0| 20 14 3NO+2 ¥4 -660 37.0 75.0
67 11 2vO+1 &5 -140 520 60.0| 47 95 2¢ O+2 &7 -130 510 61.0| 21 58 3NO+2 45 -660 37.0 75.0
87 32 3v0O= v5 -140 52.0 60.0| 48 103 2¢ V+2 v9 -130 51.0 61.0f 22 99 3NV +2 v5 660 37.0 75.0
33 36 44 S- vA -150 480 640 8 58 2NV+1 4 -150 440 680 24 61 3NO+2 v4 -660 370 75.0
52 44 3vO+1 &5 -170 430 690( 15 79 2NO+1 v4 -150 440 680 31 68 3NV +2 v5 660 37.0 75.0
64 66 3vyO+1 &5 -170 430 69.0| 22 106 2NO+1 3 -150 44.0 68.0| 38 40 3NO+2 v4 -660 37.0 75.0
75 26 3y O+1 «5 -170 430 69.0| 77 43 INO+2 v4 -150 440 68.0| 47 45 3NO+2 ¥4 -660 37.0 75.0
88 108 3y O+1 &5 -170 43.0 69.0(111 50 3¢ V+2 ¢6 -150 440 68.0| 51 55 3NO+2 v4 -660 37.0 75.0

1 28 3NV= 44 400 360 76.0| 90 46 2¢V+2 v6 -170 36.0 76.0| 57 90 3NO+2 v4 -660 37.0 75.0
81 78 3NV= #A -400 36.0 76.0| 92 73 24 V+2 v9 -170 36.0 76.0( 60 35 3NO+2 v4 -660 37.0 75.0
94 39 3NV= 4  -400 36.0 76.0(|107 114 2vV+2 #A -170 36.0 76.0| 72 50 3NO+2 ¥4 -660 37.0 75.0

6 10 4v O= A 420 250 870| 1 28 2#DS-1 7 -200 310 81.0| 77 15 3NV +2 v6 -660 37.0 75.0
14 65 4v O = &5 420 25.0 87.0| 70 41 24DS-1 &5 -200 31.0 81.0( 78 43 3NV +2 vyA -660 37.0 75.0
16 61 4v O= &5 420 250 87.0| 6 10 3NV= v9 -400 220 900( 79 29 4NO+1 v4 -660 37.0 750
21 49 4v O= v5 -420 25.0 87.0( 9 17 3NV= 9 -400 220 90.0| 8 65 3NO+2 43 -660 37.0 75.0
30 74 4v O = &5 -420 25.0 87.0| 20 100 3NO = v5 -400 220 900 91 3 3NO+2 ¥4 -660 37.0 75.0
71 82 4v O= &5 420 25.0 87.0| 21 49 3NO-= v5 400 22.0 90.0| 93 28 3NO+2 v4 -660 37.0 75.0
93 51 4v V= A 420 250 87.0| 34 86 3NO= v5 -400 22.0 90.0| 97 8 3NO+2 v4 -660 37.0 75.0

107 114 4v O = oA 420 250 87.0| 71 82 3NO= 47 -400 220 90.0|100 52 3NO+2 v4 -660 37.0 75.0

9 17 3NV+1 #8 -430 12.0 1000| 75 26 3NO= v4 -400 22.0 90.0(107 115 3NO+2 v4 -660 37.0 750
57 62 3NV+1 &4 -430 12.0 100.0( 57 62 4v O= a7 -420 140 98.0|111 46 3NO+2 v4 -660 37.0 75.0
69 101 3NO+1 ¢4 -430 120 100.0| 25 4 3NO+1 &7 -430 110 101.0| 17 102 3NO+3 &6 -690 8.0 104.0
70 41 3NV +1 ¢2 -430 12.0 100.0| 76 72 3NO+1 ¥5 -430 11.0 101.0( 44 103 3NV +3 v5  -690 8.0 104.0

111 50 3NV +1 ¢2 -430 12.0 100.0| 68 80 4v V+1 v9  -450 8.0 104.0| 59 110 3BNO+3 49  -690 8.0 104.0

2 99 44DS-3 vA -500 3.0 109.0| 23 105 3NO+2 47  -460 5.0 107.0| 63 42 3NV +3 vA  -690 8.0 104.0
68 80 44DS-3 vA -500 3.0 109.0( 87 32 3NO+2 v5 -460 5.0 107.0 (113 32 3NO+3 43 -690 8.0 104.0
85 24 44DS-3 vA -500 3.0 109.0 (104 53 1¢RDV+3 44  -830 20 1100|106 9 3NO+4 v4 -720 2.0 110.0

109 113 44DS-3 vA -500 3.0 109.0 (109 113 INRDO +3 47 -1160 0.0 112.0| 25 109 44DS-4 ¢A -1100 0.0 112.0
9% - 49.4 9% - 49.4 2 - 51.4

46 & Kn875 47 « E109543 48 472

Ost vE6 Syd vE976 Vast vK7532

Ingen ¢ ED NS *2 ov ¢ EKn82

#KD1073 *75 #K10
4E962 «KD3 472 a- 4E10 & Kn93
v 10853 vDKn42 vK v D8543 vKnl08 v D64
¢ Kn53 ¢ 10984 ¢ DKn10954 ¢ K87 ¢10754 +963
65 #Kn9 #KD43 #EKn982 #EDKN8 #7653

104 « KDKn86 « KD8654

v K97 v Knl102 vE9

¢ K762 ¢ E63 ¢+ KD

#E842 #106 #942

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

6 95 3NN+3 T 490 1120 00| 30 84 44DS+1 ¢Q 990 1120 0.0 34 60 3NN+2 ¢3 460 1120 0.0

1 41 3NN+2 T 460 86.0 26.0| 87 10 44DS= ¢vK 790 1100 20| 20 66 44 S+1 5 450 106.0 6.0

4 39 3NN+2 ¢T 460 86.0 26.0( 25 98 44 S+1 vK 650 106.0 6.0 79 101 44 S+1 5 450 1060 6.0

7 8 3NN+2 T 460 86.0 26.0( 39 17 44 N+1 7 650 106.0 6.0| 97 113 44 S+1 A 450 1060 6.0
12 19 3NN+2 T 460 86.0 26.0| 91 45 54 S= vK 650 106.0 6.0({107 105 44 S+1 #&A 450 106.0 6.0
17 102 3NS+2 46 460 86.0 26.0( 5 18 44 S= ¢+Q 620 99.0 13.0|115 23 44 S+1 A 450 106.0 6.0
18 92 3NN+2 vQ 460 86.0 26.0( 89 102 44 S= ¢+Q 620 99.0 13.0( 87 10 3NN+1 «J 430 100.0 120
21 58 3NN+2 T 460 86.0 26.0(|109 61 44 S= +Q 620 99.0 13.0| 9 33 44 S= ¢7 420 83.0 29.0
22 99 3NN+2 v2 460 86.0 26.0(111 6 44 S= K 620 99.0 13.0( 11 57 44 S= ¢7 420 83.0 29.0
23 36 3NN+2 vQ 460 86.0 26.0 (107 105 24 S+2 vK 170 94.0 18.0( 30 84 44 S= ¢5 420 83.0 29.0
24 61 3NN+2 T 460 86.0 26.0| 12 31 5¢4DV-1 A 100 85.0 27.0| 35 21 4y N= &5 420 83.0 29.0
26 49 3NN+2 T 460 86.0 26.0( 51 73 54DV-1 2 100 85.0 27.0( 46 76 44 S= ¢5 420 83.0 29.0
31 68 3NN+2 T 460 86.0 26.0( 52 40 6¢DV-1 vA 100 85.0 27.0( 48 29 44 S= vJ 420 83.0 29.0
33 13 3NN+2 T 460 86.0 26.0| 65 15 64DV-1 A 100 85.0 27.0| 50 7 44 S= ¢5 420 83.0 29.0
44 103 3NN+2 vQ 460 86.0 26.0( 79 101 64DV-1 A 100 85.0 27.0( 52 40 44 S= ¢5 420 83.0 29.0
47 45 3NN+2 ¢T 460 86.0 26.0( 82 26 6¢DV-1 vA 100 85.0 27.0( 56 77 44 S= ¢5 420 83.0 29.0
54 108 3NN+2 T 460 86.0 26.0| 88 14 64DV-1 A 100 85.0 27.0| 67 3 44 S= A 420 83.0 29.0
60 35 3NN+2 v4 460 86.0 26.0( 92 49 6¢DV-1 A 100 85.0 27.0( 78 38 44 S= SA 420 83.0 29.0
70 53 3NN+2 T 460 86.0 26.0( 50 7 5¢ V-1 &7 50 75.0 37.0( 91 45 44 S= &A 420 83.0 29.0
72 50 3NN+2 T 460 86.0 26.0| 99 96 6# V-1 A 50 75.0 37.0| 92 49 44 S= ¢5 420 83.0 29.0
73 71 3NN+2 v4 460 86.0 26.0( 4 114 54 S-1 vK -100 60.0 52.0( 93 1 44 S= ¢5 420 83.0 29.0
77 15 3NN+2 T 460 86.0 26.0( 20 66 54 S-1 ¢Q -100 60.0 52.0(103 69 44 S= ¢5 420 83.0 29.0
78 43 3NN+2 ¢T 460 86.0 26.0| 22 2 54 S-1 ¢Q -100 60.0 520104 59 44 S= vJ 420 83.0 29.0
84 104 3NN+2 v4 460 86.0 26.0( 27 19 54 S-1 ¢Q -100 60.0 52.0| 28 44 3NN= &5 400 63.0 49.0

106 9 3NS+2 v3 460 86.0 26.0( 42 100 54 S-1 ¢Q -100 60.0 52.0| 43 54 3NN-= +3 400 63.0 49.0

114 74 3NN+2 ¢T 460 86.0 26.0| 46 76 54 S-1 ¢Q -100 60.0 520( 72 90 3NN= &7 400 63.0 49.0

5 27 3NS+1 v8 430 38.0 74.0( 48 29 54 S-1 ¢Q -100 60.0 52.0{111 6 3NN= &7 400 63.0 49.0
16 94 3NN+1 v2 430 38.0 74.0( 55 62 54 S-1 ¢Q -100 60.0 52.0| 27 19 34 S+2 &A 200 55.0 57.0
20 14 3NN+1 T 430 380 74.0| 67 3 54 S-1 ¢Q -100 60.0 520 32 68 24 S+3 ¢5 200 55.0 57.0
25109 3NN+1 T 430 380 74.0( 71 63 54 S-1 ¢Q -100 60.0 52.0| 36 13 24 S+3 ¢5 200 55.0 57.0
30 85 3NN+1 T 430 38.0 74.0( 72 90 54 S-1 ¢Q -100 60.0 52.0( 74 47 2v N+3 &5 200 55.0 57.0
34 75 3NS+1 v8 430 38.0 74.0| 94 70 54 S-1 ¢Q -100 60.0 520 16 85 2y N+2 &5 170 36.0 76.0
37 105 3N S +1 v5 430 38.0 74.0(103 69 54 S-1 ¢Q -100 60.0 52.0[ 22 2 24S+2 ¢4 170 36.0 76.0
38 40 3NS+1 46 430 380 740 9 33 440+1 &K -150 450 67.0| 25 98 24 S+2 vJ 170 36.0 76.0
48 101 3NN+1 &K 430 380 74.0( 75 83 4#V+1l sA -150 450 67.0| 39 17 24 S+2 5 170 36.0 76.0
51 55 3NN+1 T 430 380 74.0( 11 57 54DS-1 &K -200 37.0 750 42 100 34 S+1 5 170 36.0 76.0
59 110 3NN+1 vQ 430 380 74.0( 34 60 54DS-1 ¢Q -200 37.0 750 51 73 34 S+1 5 170 36.0 76.0
63 42 3NN+1 vQ 430 380 74.0| 35 21 54DS-1 +Q -200 370 75.0( 55 62 34 S+1 #A 170 36.0 76.0
64 82 3NN+1 vQ 430 380 74.0( 58 24 54DS-1 +Q -200 37.0 750 58 24 24 S+2 #A 170 36.0 76.0
66 62 3NN+1 v4 430 380 74.0( 80 81 54DS-1 ¢Q -200 37.0 750 80 81 24 S+2 5 170 36.0 76.0
76 112 3NS+1 v5 430 38.0 74.0|112 86 54DS-1 +Q -200 37.0 75.0( 89 102 24 S+2 ¢5 170 36.0 76.0
79 29 3NN+1 &K 430 380 74.0( 36 13 5#V= A 400 270 850| 94 70 34 S+1 ¢5 170 36.0 76.0
80 56 3NS+1 v5 430 38.0 74.0(104 59 5# V= A -400 270 850|106 37 14 S+3 ¢5 170 36.0 76.0
81 69 3NN+1 v2 430 38.0 74.0(106 37 5¢ V= A -400 27.0 85.0(108 64 24 S+2 5 170 36.0 76.0
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88 65 3NS+1 46 430 38.0 74.0|115 23 5¢ V= A -400 27.0 850|109 61 34 S+l ¢5 170 36.0 76.0
91 3 3NS+1 46 430 380 74.0| 16 8 5¢DV= vA -550 12.0 100.0 110 53 14 S+3 vJ 170 36.0 76.0
93 28 3NN+1 v2 430 380 74.0| 28 44 5¢DV= 4A -550 12.0 100.0| 99 96 24 S+1 +5 140 20.0 92.0
97 86 3NN+1 vQ 430 380 740| 41 8 5¢DV= 4A 550 12.0 100.0(112 86 2NN = +3 120 18.0 94.0
107 115 3NN+1 ¢8 430 380 74.0| 43 54 5¢DV= sA -550 12.0 100.0| 4 114 3NN-1 *5 -50 9.0 103.0
67 10 INS+5 v3 240 140 980 56 77 5eDV= s4A -550 12.0 1000 5 18 3NN-1 »7 -50 9.0 103.0
100 52 INN+3 ¢T 180 12.0 1000 74 47 5¢DV= &4A -550 12.0 1000 41 8 3NN-1 +3 -50 9.0 103.0
57 90 3#N+2 ¢T 150 7.0 105.0| 78 38 54DV= ¢2 -550 12.0 100.0| 65 15 3NN-1 3 -50 9.0 103.0
87 83 3#N+2 &K 150 7.0 1050( 93 1 5¢DV= &A -550 12.0 100.0| 71 63 3NN-1 »5 -50 9.0 103.0
98 96 3#N+2 ¢T 150 7.0 105.0| 97 113 5¢DV= #4A -550 12.0 100.0| 75 83 3NN-1 +3 -50 9.0 103.0
111 46 3#N+2 ¢T 150 7.0 105.0 (108 64 5¢DV= #4A -550 12.0 100.0| 82 26 3NN-1 +3 -50 9.0 103.0
89 11 24 N= vQ 110 2.0 110.0 (110 53 5¢DV= vA -550 12.0 100.0| 88 14 3NN-1 *5 -50 9.0 103.0
113 32 2v0O-1 &4 50 0.0 112.0| 32 68 5¢DV+1 &A -650 0.0 112.0| 12 31 3NN-2 5 -100 0.0 112.0
2 - 51.4 95 - 52.8 95 - 52.8
49 « EKD9642 50 « KKn7 51 4 E3
Nord v85 Ost v EKn82 Syd v K932
Ingen ¢- NS +1076 ov 49873
&#E532 &EK6 £1042
4103 a- o E 49654 4D1096 & KKn874
v76 vE10943 v10643 vK5 v 387 v10
49653 + KDKn8742 ¢ DKn932 ¢ K84 ¢ E542 ¢ D106
#KKn1084 &7 #532 «D1094 #Kné5 #EKD7
4 Kn875 4 D10832 452
v KDKn2 v D97 v EDKn654
¢+ E10 ¢ E5 ¢ KKn
D96 #Kn87 %983
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 22 64 N= ¢K 980 1040 80| 16 10 3NN+2 #9 660 1068 52| 2 17 3v S= ¢A 140 1120 00
21 97 64 N= ¢K 980 1040 80| 21 97 3NN+2 &4 660 1068 52| 35 67 54 O-1 vA 100 109.0 3.0
53 11 64 N= vA 980 1040 80| 33110 3NN+2 #4 660 1068 52| 48 68 54 O-1 vA 100 109.0 3.0
67 41 64 N= vA 980 1040 80| 73 1 3NN+2 49 660 1068 52| 93 50 3v S-1 v8 -50 106.0 6.0
75 111 64 N= vA 980 1040 80| 76 24 3NN+2 46 660 1068 52| 16 97 3NN-2 4 -100 94.0 18.0
80 48 64 N= vA 980 1040 80| 77 79 3NN+2 #4 660 1068 52| 25115 4v S-2 v7 -100 94.0 18.0
81 40 64 N= vA 980 1040 80| 13 22 44 N+1 ¢4 650 985 135| 31 44 49 S-2 5 -100 94.0 180
87 90 64 N= vA 980 1040 80| 67 41 44 N+1 44 650 985 135| 33 37 4v S-2 49 -100 94.0 180
108 19 64 N= vA 980 1040 80| 78 68 3NN+1 &5 630 954 16.6| 43 52 4v S-2 49 -100 94.0 180
3102 66DO-3 47 500 90.0 22.0| 3102 44 N= 9 620 809 31.1| 59 36 3vDS-1 49 -100 94.0 18.0
23 2 7¢DO-3 vK 500 90.0 22.0| 12 69 44 S= +Q 620 809 31.1| 60 58 4v S-2 v8 -100 94.0 180
30 7 7¢DO-3 vK 500 90.0 22.0| 17 115 44 S= ¢Q 620 80.9 31.1| 74 98 4v S-2 4T -100 94.0 18.0
65 64 7¢DO-3 vK 500 90.0 22.0| 25 9 44 N= 4 620 809 31.1| 81 56 4v S-2 49 -100 94.0 180
73 1 66DO-3 47 500 90.0 22.0| 34 70 44 N= 45 620 809 31.1| 87 63 4v S-2 v8 -100 94.0 180
5 55 54 N+1  ¢K 480 68.0 44.0| 35 94 44 N= 4 620 809 31.1| 90 1 3vS-2 49 -100 94.0 180
14 103 54 N+1  ¢K 480 68.0 44.0| 36 74 44 S= ¢+Q 620 809 31.1| 23 10 34 O+1 vA -170 76.0 36.0
27 32 54 N+1 ¢K 480 68.0 44.0| 84 37 44 N= *4 620 809 31.1| 24 49 34 0+1 vA -170 76.0 36.0
35 94 54 N+1  ¢K 480 68.0 44.0| 85 114 44 N= 5 620 80.9 31.1| 55 82 34 V+1 v3 -170 76.0 36.0
46 93 54 S+1 ¢3 480 68.0 44.0| 88 44 44 S= ¢+Q 620 80.9 31.1| 62 12 34 V+1 v3 -170 76.0 36.0
47 39 54 N+1  ¢K 480 68.0 44.0(104 105 44 N= T 620 809 31.1| 65 38 34 O+1 &5 -170 76.0 36.0
60 109 54 N+1  ¢K 480 68.0 44.0|112 71 44 S= +Q 620 809 31.1| 80 29 34 O0+1 <vA -170 76.0 36.0
76 24 54 N+1 ¢Q 480 68.0 44.0|113 49 44 N= +4 620 80.9 31.1|102 106 34 O+1 vA -170 76.0 36.0
84 37 54 N+1  ¢K 480 68.0 44.0| 23 2 3NN= +4 600 62.2 498| 95 99 5¢vDS-2 ¢A -300 650 47.0
91 58 54 N+1  ¢K 480 68.0 44.0| 65 64 3NN= ¢4 600 62.2 49.8|100 108 4vDS-2 46 -300 650 47.0
92 50 54 N+1  ¢K 480 68.0 44.0| 80 48 3NN= 5 600 62.2 49.8|104 13 4vDS-2 49 -300 650 47.0
98 95 54 N+1  ¢K 480 68.0 44.0| 8 4 3NN= +4 600 62.2 49.8|107 57 4vDS-2 49 -300 650 47.0
99 59 54 N+1 ¢K 480 68.0 44.0| 99 59 3NN= «4 600 62.2 498| 8 73 5¢DS-3 49 500 53.0 59.0
101 82 54 N+1 vA 480 68.0 44.0| 14 103 INN+4 45 210 539 58.1| 18 15 5¢DS-3 49 -500 53.0 59.0
104 105 44 N+2 ¢K 480 68.0 44.0| 38 56 2NN+3 #9 210 539 58.1| 19 8 5vDS-3 49 -500 53.0 59.0
112 71 54 N+1  ¢K 480 68.0 44.0| 66 86 2NN+3 #9 210 539 58.1| 42 66 5¢DS-3 49 -500 53.0 59.0
113 49 54 N+1  ¢K 480 68.0 44.0| 5 55 34 N+2 44 200 46.7 65.3| 53 39 5vDS-3 4Q -500 530 59.0
36 74 54 N= &7 450 480 64.0| 57 61 24 N+3 &9 200 46.7 653| 96 22 5vDS-3 49 500 530 59.0
83 63 54 N= &7 450 480 64.0| 87 90 24 N+3 &4 200 46.7 65.3|103 78 5vDS-3 49 500 53.0 59.0
89 4 54 N= ¢K 450 48.0 64.0 (100 62 24 N+3 &9 200 46.7 653|109 7 5vDS-3 49 500 530 59.0
12 69 6¢DO-2 47 300 32.0 80.0|101 82 2NN+2 45 180 415 705| 4 84 44 O= vA -620 25.0 87.0
16 10 6¢DO-2 vK 300 32.0 80.0| 60 109 34 N+1 #9 170 394 726| 5 72 44 O= 8 -620 25.0 87.0
25 9 5¢DO-2 ¢A 300 32.0 80.0| 31 29 3¢ V-3 ¢6 150 36.3 75.7| 9 6 44 0= 9 -620 25.0 87.0
31 29 66DO-2 47 300 320 80.0| 92 50 2NN+1 ¢4 150 36.3 75.7| 14 54 44 O= vA -620 25.0 87.0
33110 64DO-2 vQ 300 320 80.0| 20 26 24 N+1 45 140 31.1 80.9| 27 21 44 O= vA -620 25.0 87.0
38 56 64DO-2 vK 300 320 80.0| 30 7 34S= ¢+Q 140 31.1 80.9| 34 114 44 O= vA -620 25.0 87.0
42 8 5¢DO-2 ¢A 300 32.0 80.0| 81 40 34 S= ¢+Q 140 31.1 80.9| 41 47 44 O= vA -620 25.0 87.0
51 72 64DO-2 vK 300 320 80.0| 15 43 3¢ V-1 «A 50 27.0 85.0| 45 105 44 O= 42 620 25.0 87.0
57 61 5¢DO-2 vK 300 32.0 80.0| 28 18 44 S-1 ¢Q -100 145 975( 51 112 44 V= v2 -620 25.0 87.0
66 86 6¢DV-2 4A 300 320 80.0| 42 8 44 S-1 v4 -100 145 975( 69 32 44 O= vA -620 25.0 87.0
77 79 6eDO-2 47 300 320 80.0| 46 93 44 S-1 ¢Q -100 145 975( 70 46 44 O= vA 620 25.0 87.0
88 44 64DO-2 47 300 32.0 80.0| 47 39 44 N-1 44 -100 145 975| 71 3 44 0= vA -620 25.0 87.0
100 62 6¢DO-2 vK 300 320 80.0| 51 72 44 S-1 ¢Q -100 145 975( 75 85 44 O= vA -620 25.0 87.0
6 107 54DO-1 K 100 12.0 100.0| 53 11 44 S-1 ¢Q -100 145 975( 79 40 44 O= vA -620 25.0 87.0
15 43 5¢DO-1 ¢A 100 12.0 1000 | 54 52 44 S-1 ¢Q -100 145 975 83 113 44 O= vA -620 25.0 87.0
20 26 5¢DO-1 47 100 12.0 100.0| 75 111 3NN-1 45 -100 145 975| 88 64 44 V= v3 -620 25.0 87.0
34 70 5¢DO-1 ¢A 100 12.0 100.0| 83 63 44 N-1 4 100 145 975| 89 91 44 O= vA 620 25.0 87.0
54 52 5¢DO-1 47 100 12.0 1000 91 58 44 S-1 ¢Q -100 145 975( 94 61 44 V= v3 -620 25.0 87.0
78 68 5¢DO-1 47 100 12.0 100.0 | 96 106 44 S-1 2 -100 145 975|101 20 44 O= vA -620 25.0 87.0
96 106 5¢DO-1 ¢A 100 12.0 100.0( 98 95 3NN-2 &9  -200 2.1 109.9 (111 11 44 O= vA -620 25.0 87.0
28 18 64 N-1 +K -50 3.0 109.0 (108 19 54 S-3 ¢+Q -300 0.0 112.0| 26 77 44DO= vA -790 4.0 108.0
85 114 64 N-1 +K -50 3.0 109.0| 45 - 53.4 30 28 5vDS-4 49 -800 1.0 111.0
17 115 4¢DO= vK -510 0.0 112.0( 6 107 A+/A- 67.2 448| 92 76 5vDS-4 49 -800 1.0 111.0
45 - 53.4 27 32 A-IA- 448 448|110 - 51.0
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52 « KD865 53 « KKn983 54 49
Vast vKD Nord vKKn Ost v 963
Alla + D6 NS + K854 ov ¢ Kn943
#K843 D10 #K8642
104 & Kn2 « D6 » 107 4 Kn10754 & EKD86
v1096 vEKn87 vD98432 v106 vKDKn7  *10
48432 ¢ EKKn5 ¢+ D92 + Kn73 + E6 + K82
#Kn975 #E102 &76 #EKKn853 #DKn #E753
« E973 « E542 @32
v 5432 vE75 v E8542
¢ 1097 ¢ E106 ¢+ D1075
D6 942 109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 72 34DN= ¢A 730 1099 21|59 2 54DO-5 A 1100 1120 00| 1 16 44 O+2 &T -680 83.0 29.0
88 64 3aDN= 42 730 1099 21|45 22 44N+l T 650 1100 20| 6 74 54 O+1 vA -680 83.0 29.0
90 1 34DN= ¢A 730 1099 21| 1 16 44 N= &K 620 62.0 50.0| 7 112 44 O+2 &T -680 83.0 29.0
30 28 24DN= ¢A 670 1059 61| 6 74 44 N= A 620 62.0 50.0| 18 88 4a V+2 v3 -680 83.0 29.0
74 98 4¢DO-2 T 500 103.8 82| 7 112 44 N= A 620 62.0 50.0| 20 55 44 O+2 #T -680 83.0 29.0
81 56 4+ V-4 K 400 101.8 10.2| 18 88 44 N= «A 620 62.0 50.0| 29 77 54 O+1 #T -680 83.0 29.0
42 66 3# V-3 «K 300 96.7 153| 20 55 44 N= &A 620 62.0 50.0| 33 71 44 O+2 vA -680 83.0 29.0
51 112 4« V-3 «K 300 96.7 153| 21 46 44 N= A 620 62.0 50.0| 34 3 44 0+2 <vA -680 83.0 29.0
62 12 44 V-3 «K 300 96.7 153| 27 35 44 N= «A 620 62.0 50.0| 39 49 44 O+2 vA -680 83.0 29.0
100 108 3%V -3 «K 300 96.7 15.3| 28 114 44 S= &7 620 62.0 50.0| 40 48 44 O+2 vA -680 83.0 29.0
8 73 3#0-2 a7 200 845 275| 29 77 44 N= A 620 62.0 50.0| 42 90 44 O+2 vA -680 83.0 29.0
31 44 340-2 A 200 845 275| 32 82 44 N= &K 620 62.0 50.0| 43 38 44 O+2 &3 -680 83.0 29.0
33 37 3#V-2 K 200 845 275| 33 71 44 N= &A 620 62.0 50.0| 44 69 4a V+2 ¢4 -680 83.0 29.0
45 105 5¢ V-2 vK 200 845 275| 34 3 44 N= A 620 62.0 50.0| 45 22 44 O+2 #T -680 83.0 29.0
65 38 3aV-2 K 200 845 275| 39 49 44 N= «A 620 62.0 50.0| 52 81 54 O+1 #T -680 83.0 29.0
75 85 24DV-1 vK 200 845 275| 40 48 44 N= &A 620 62.0 50.0| 58 75 44 O+2 #T -680 83.0 29.0
94 61 3&V-2 vK 200 845 27.5| 41 106 44 N= A 620 62.0 50.0| 66 30 54 O+1 7 -680 83.0 29.0
101 20 3+ V-2 K 200 845 275| 42 90 44 N= «A 620 62.0 50.0| 68 79 44 O+2 #T -680 83.0 29.0
2 17 34 N= ¢A 140 499 62.1| 43 38 44 N= A 620 62.0 50.0| 70 61 54 O+1 vA -680 83.0 29.0
4 84 34 N= ¢A 140 499 62.1( 44 69 44 N= A 620 62.0 50.0| 72 12 44 O+2 7 -680 83.0 29.0
9 6 24 N+1 ¢A 140 499 62.1| 52 81 44 N= «A 620 62.0 50.0| 73 14 44 O+2 #T -680 83.0 29.0
18 15 34 N= ¢+K 140 499 62.1| 57 10 44 N= A 620 62.0 50.0| 76 19 44 O+2 #T -680 83.0 29.0
19 86 34 N= ¢A 140 499 62.1| 60 67 44 N= A 620 62.0 50.0| 85 91 4e V+2 v3 -680 83.0 29.0
25 115 34 N= ¢+K 140 499 62.1| 62 54 44 N= «A 620 62.0 50.0| 92 51 44 O+2 #T -680 83.0 29.0
26 77 34 N= ¢A 140 499 62.1| 66 30 44 N= A 620 62.0 50.0| 97 4 44 O+2 #T -680 83.0 29.0
27 21 34 N= ¢A 140 499 62.1| 68 79 44 N= A 620 62.0 50.0| 98 37 44 O+2 #T -680 83.0 29.0
34 114 34 N= ¢+K 140 499 621 72 12 44 N= «A 620 62.0 50.0|107 47 44 O+2 vA -680 83.0 29.0
35 67 24 N+1 ¢A 140 499 62.1( 73 14 44 N= &A 620 62.0 50.0|111 53 44 O+2 #T -680 83.0 29.0
41 47 24 N+1  ¢K 140 499 621 76 19 44 N= A 620 62.0 50.0(113 63 44 O+2 #T -680 83.0 29.0
48 68 34 N= ¢A 140 499 62.1( 78 15 44 N= «A 620 62.0 50.0(|115 89 44 O+2 7 -680 83.0 29.0
55 82 34 N= ¢A 140 499 62.1| 80 31 44 N= A 620 62.0 50.0| 78 15 3NV +3 2 -690 52.0 60.0
59 36 34 N= ¢A 140 499 62.1| 83 94 44 N= A 620 62.0 50.0|105 95 44 O+3 ¢5 -710 50.0 62.0
60 58 24 N+1 ¢A 140 499 62.1( 84 24 44 N= &K 620 620 500| 8 26 64 O= T -1430 26.0 86.0
69 32 34 N= ¢A 140 499 62.1| 92 51 44 N= &A 620 62.0 50.0| 25 13 64 O= ¢7 -1430 26.0 86.0
71 3 24 N+1 ¢A 140 499 62.1| 93 101 44 N= A 620 62.0 50.0| 27 35 64 O= vA -1430 26.0 86.0
80 29 34 N= ¢A 140 499 621 96 9 44 N= «A 620 62.0 50.0| 28 114 64 O = T -1430 26.0 86.0
87 63 24 N+1 ¢A 140 499 62.1| 97 4 44 N= &A 620 62.0 50.0| 32 82 6a V= v3 -1430 26.0 86.0
92 76 34 N= ¢+K 140 499 62.1| 98 37 44 N= A 620 62.0 50.0| 41 106 64 O = T -1430 26.0 86.0
93 50 34 N= ¢+K 140 499 62.1( 99 110 44 N= &K 620 62.0 50.0| 57 10 64 O= ¢7 -1430 26.0 86.0
95 99 24 N+1 ¢A 140 499 62.1|100 5 44 N= «A 620 62.0 50.0| 59 2 64 O= vA -1430 26.0 86.0
96 22 24 N+1 ¢A 140 49.9 62.1(102 36 44 N= A 620 62.0 50.0| 60 67 64 O= 42 -1430 26.0 86.0
107 57 34 N= ¢+K 140 499 62.1(103 64 44 N= #A 620 62.0 50.0| 62 54 64 O= vA -1430 26.0 86.0
109 7 34 N= ¢A 140 49.9 62.1(104 23 44 N= «A 620 62.0 50.0| 65 56 64 O= vA -1430 26.0 86.0
111 11 24 N+1 ¢A 140 49.9 62.1|105 95 44 N= A 620 62.0 50.0| 80 31 64 O= vA -1430 26.0 86.0
16 97 24 N= ¢+A 110 224 89.6|107 47 44 N= &K 620 62.0 50.0| 83 94 64 O= vA -1430 26.0 86.0
23 10 3+ V-1 K 100 19.4 92.6 108 50 44 N= &K 620 62.0 50.0| 84 24 64 O= vA -1430 26.0 86.0
53 39 3&V-1 «K 100 19.4 92.6|109 11 44 N= A 620 62.0 50.0| 87 86 64 O= T -1430 26.0 86.0
24 49 44 N-1 ¢A -100 16.3 957 (111 53 44 N= #A 620 62.0 50.0| 93 101 64 O = vA -1430 26.0 86.0
14 54 3¢ O= ¢T -110 9.2 102.8 {115 89 44 N= &A 620 62.0 50.0| 96 9 64 O= vA -1430 26.0 86.0
43 52 3¢ O= v3 -110 9.2 1028 8 26 34 N+1 &A 170 7.0 105.0| 99 110 64 O = vA -1430 26.0 86.0
79 40 3¢ O= ¢7 -110 9.2 1028 | 25 13 24 N+2 &A 170 7.0 105.0 (100 5 64 O= vA -1430 26.0 86.0
83 113 34 O = «A -110 9.2 1028 58 75 34 N+1 #A 170 7.0 105.0 (102 36 64 O= vA -1430 26.0 86.0
102 106 2¢ O+1 4A -110 9.2 1028 65 56 34 N+1 &A 170 7.0 105.0 (103 64 64 O= vA -1430 26.0 86.0
103 78 3¢ O= A -110 9.2 1028 70 61 34 N+1 #A 170 7.0 105.0 (104 23 64 O= v8 -1430 26.0 86.0
70 46 INDN-1 &7 -200 1.0 111.0| 85 91 34 N+1 &K 170 7.0 105.0 (109 11 64 O= vA -1430 26.0 86.0
89 91 44DN-1 K -200 1.0 111.0| 87 86 34 N+1 #A 170 7.0 105.0( 21 46 6NV = v3 -1440 1.0 111.0
110 - 51.0 113 63 34 N+1 #A 170 7.0 105.0 (108 50 6NV = &4 -1440 1.0 111.0
104 13 A-IA+ 448 67.2| 17 - 54.5 17 - 54.5
55 «E7 56 « E107 57 « Kn108
Syd v82 Vast v DKn75 Nord v D532
Alla 493 Ingen +KD ov ¢ 873
#KD105432 #EKKn3 *EKn7
#6542 #DKn983 « K9532 4 DKn864 26432 #EKD5
vD76 v94 v 983 v K2 vEKn94 v1086
¢ 1054 +KD76 32 + E985 ¢4 + Kn92
#Kn76 #98 »764 #108 #KD83 #1064
« K10 @- 497
v EKKn1053 v E1064 vK7
¢ EKn82 ¢+ Kn10764 + EKD1065
&E D952 #952
Par Kontr ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
31 77 7#S-= 44 2140 111.0 1.0| 29 40 6vDN= A 1210 1120 0.0| 53 84 3¢DS= 46 470 1120 0.0
101 8 7#S= 4 2140 111.0 10| 47 16 6vy N= «Q 980 1100 20| 1 30 44 0-2 ¢A 200 1090 3.0
59 22 6v S+1 v6 1460 108.0 4.0( 32 55 44DO-4 ¢J 800 1080 4.0| 99 102 34 O-2 vyK 200 109.0 3.0
21 87 6NS= «4 1440 97.0 15.0| 20 73 44DO-3 +J 500 1040 8.0| 16 105 2NN= 4A 120 1040 8.0
29 40 6NS= 46 1440 97.0 15.0| 31 77 44DO-3 #5 500 1040 80| 80 18 INS+1 42 120 1040 8.0
43 62 6NS= ¢4 1440 97.0 15.0| 86 88 44DV-3 #A 500 1040 8.0| 87 60 INS+1 42 120 1040 8.0
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47 16 6NN-= ¢ K 1440 97.0 15.0( 25105 3NS+3 v8 490 1000 120 10 4 3¢ S= «3 110 76.0 36.0
61 85 6NN= «Q 1440 97.0 15.0( 4 106 4v N+2 &T 480 64.0 48.0( 14 100 3¢ S= &K 110 76.0 36.0
92 90 6NN-= «Q 1440 97.0 15.0( 7 28 4v N+2 «Q 480 640 48.0| 15 54 3¢ S= K 110 76.0 36.0
97 83 6NN-= ¢ K 1440 97.0 15.0| 9 95 4v S+2 3 480 64.0 48.0( 20 62 3¢ S= «3 110 76.0 36.0
107 84 6NS= 46 1440 97.0 15.0( 21 87 4v N+2 «Q 480 64.0 48.0( 23 71 3¢ S= &K 110 76.0 36.0
109 24 6NS= «5 1440 97.0 15.0| 30 108 4v N+2 T 480 640 48.0| 24 3 2¢ S+1 &K 110 76.0 36.0
110 104 6N S= 46 1440 97.0 15.0| 35 12 4v N+2 «Q 480 64.0 48.0( 26 52 3¢ S= &K 110 76.0 36.0
23 53 6v S= a4 1430 80.0 32.0( 36 37 4v N+2 «Q 480 64.0 48.0( 32 79 3¢ S= &K 110 76.0 36.0
49 111 6v S= a4 1430 80.0 32.0| 39 91 4vy N+2 &T 480 64.0 48.0| 37 96 3¢ S= «3 110 76.0 36.0
56 48 6v S= 44 1430 80.0 32.0| 43 62 4vy N+2 «Q 480 64.0 48.0( 39 112 3¢ S= «3 110 76.0 36.0
60 75 6v S= ¢4 1430 80.0 32.0( 45 41 4v N+2 «Q 480 64.0 48.0( 41 58 3¢ S= &K 110 76.0 36.0
67 34 6v S= «4 1430 80.0 32.0| 49 111 4vy N+2 4Q 480 64.0 48.0| 43 29 3¢ S= +3 110 76.0 36.0
68 65 6v S= ¢4 1430 80.0 32.0| 51 11 4v N+2 «Q 480 64.0 48.0( 55 113 2¢ S+1 &K 110 76.0 36.0
81 38 6v S= 46 1430 80.0 32.0( 56 48 5v N+1 4 480 64.0 48.0( 57 59 3¢ S= 46 110 76.0 36.0
57 74 6#S+1 &6 1390 69.0 43.0| 60 75 4vy N+2 «Q 480 640 48.0| 61 34 3¢ S= +3 110 76.0 36.0
72 103 64 N+1 &9 1390 69.0 43.0( 63 19 4v N+2 &T 480 640 48.0| 65 86 2¢ S+1 #K 110 76.0 36.0
76 14 6#S+1 44 1390 69.0 43.0( 64 15 5v N+1 «Q 480 64.0 48.0| 69 42 2¢ S+1 #K 110 76.0 36.0
115 10 6# S+1 &7 1390 69.0 43.0| 66 113 4y N+2 «Q 480 640 48.0| 82 63 3¢ S= K 110 76.0 36.0
4106 3BNN+3 4J 690 61.0 51.0( 67 34 4v N+2 &T 480 640 48.0| 83 6 2¢ S+1 «K 110 76.0 36.0
42 93 3NN+3 4Q 690 61.0 51.0( 68 65 4v S+2 ¢3 480 64.0 48.0( 97 70 3¢ S= 3 110 76.0 36.0
52 78 3NN+3 4Q 690 61.0 51.0| 69 50 5v S+1 ¢33 480 64.0 48.0( 98 89 3¢ S= ¢4 110 76.0 36.0
58 13 3NN+3 4Q 690 61.0 51.0( 70 33 5v N+1 «Q 480 64.0 48.0(101 64 3¢ S= «3 110 76.0 36.0
3 1 4vS+2 +4 680 40.0 72.0| 71 6 4vy N+2 &T 480 64.0 48.0|108 7 2¢ S+1 #K 110 76.0 36.0
7 28 4v S+2 44 680 400 72.0| 76 14 4v N+2 4Q 480 64.0 48.0(109 51 3¢ S= 6 110 76.0 36.0
30 108 4v S+2 46 680 40.0 72.0| 79 44 4v N+2 «Q 480 64.0 48.0|114 91 2¢ S+1 «K 110 76.0 36.0
32 55 4y N+2 4Q 680 40.0 72.0| 80 26 4v N+2 «Q 480 64.0 48.0( 35 8 440-1 ¢A 100 49.0 63.0
51 11 4v S+2 46 680 400 72.0| 81 38 4v N+2 4Q 480 64.0 48.0| 38 103 34 O-1 ¢A 100 49.0 63.0
54 18 4v S+2 44 680 40.0 72.0| 92 90 4v S+2 &7 480 64.0 48.0( 50 21 INS= 43 90 45.0 67.0
63 19 4v S+2 44 680 40.0 72.0| 96 2 4vy N+2 «Q 480 64.0 48.0(110 22 INS= 8 90 45.0 67.0
64 15 4v S+2 44 680 40.0 72.0|100 46 4v S+2 4K 480 64.0 48.0| 13 49 4¢ S-1 43 -50 30.0 82.0
69 50 4v S+2 ¢4 680 40.0 72.0|101 8 4vy N+2 &T 480 64.0 48.0( 28 90 3¢ S-1 46 -50 30.0 82.0
70 33 4v S+2 45 680 40.0 72.0|107 84 4y N+2 «Q 480 64.0 48.0( 36 95 3¢ S-1 43 -50 30.0 82.0
79 44 5v S+l 46 680 400 72.0|109 24 4v N+2 #J 480 640 48.0| 48 73 44 S-1 43 -50 30.0 82.0
80 26 4vS+2 44 680 40.0 72.0|112 94 5v N+1 «Q 480 64.0 48.0( 56 78 4¢ S-1 43 -50 30.0 82.0
86 88 4v S+2 44 680 40.0 72.0|114 27 5v N+1 «J 480 64.0 48.0( 67 66 3¢ S-1 43 -50 30.0 82.0
89 99 4v S+2 ¢T 680 40.0 72.0|115 10 4v S+2 ¢33 480 64.0 48.0| 74 115 44 S-1 *K -50 30.0 82.0
98 17 4v S+2 45 680 40.0 720 3 1 4vN+1 «Q 450 26.0 86.0( 81 31 4¢ S-1 43 -50 30.0 82.0
100 46 4v S+2 44 680 40.0 72.0| 52 78 4v N+1 «Q 450 26.0 86.0( 92 19 4¢ S-1 46 -50 30.0 82.0
112 94 4v S+2 44 680 40.0 72.0| 89 99 4y N+1 44 450 26.0 86.0| 93 12 3¢ S-1 43 -50 30.0 82.0
39 91 4vS+1 ¢4 650 19.0 930 59 22 54N+1 44 420 22.0 90.0( 94 11 4+ S-1 46 -50 30.0 82.0
66 113 4v S+1 44 650 19.0 930 42 93 3NN-= 46 400 170 950104 2 3¢ S-1 43 -50 30.0 82.0
71 6 4vS+1 ¢4 650 19.0 930 54 18 3NN-= 46 400 17.0 95.0(106 17 4¢ S-1 *K -50 30.0 82.0
82 5 4v S+1 46 650 190 930 8 5 3NN-= «Q 400 170 950 47 75 3¢ S-2 «3 -100 14.0 98.0
36 37 54S+2 44 640 140 98.0(110 104 3NN= «Q 400 170 950 88 76 3NN-2 4A  -100 14.0 98.0
114 27 4v S= 5 620 12.0 1000 23 53 34DO-2 &5 300 11.0 101.0 {111 33 4¢ S-2 4  -100 14.0 98.0
9 95 7NN-1 «Q -100 6.0 106.0| 97 83 34DO-2 ¢J 300 11.0 1010 27 72 24 O+1 ¢K -140 8.0 104.0
20 73 7v S-1 &6  -100 6.0 106.0| 58 13 4¢ S+2 42 170 7.0 105.0| 44 46 34 O= ¢A  -140 8.0 104.0
35 12 7vS-1 «6 -100 6.0 106.0| 61 85 4« N+2 44 170 7.0 105.0| 68 40 34 O= ¢A  -140 8.0 104.0
45 41 6v S-1 ¢4  -100 6.0 106.0| 57 74 3NN-1 a4 -50 2.0 1100 9 45 3«4 V+1l ¢7 -170 3.0 109.0
96 2 6NS-1 ¢5 -100 6.0 106.0| 72 103 7# N-1 ¢A -50 2.0 110.0|107 85 34 O+1 ¢A -170 3.0 109.0
25105 7¢DS-3 42 -800 0.0 112.0| 98 17 4« N-1 a4 -50 2.0 1100 5 77 44 O= ¢A  -620 0.0 112.0
102 - 51.8 102 - 51.8 25 - 51.9
58 « Kn763 59 473 60 « K873
Ost v Kn1093 Syd v KDKn102 Vast v EK984
Alla ¢42 Ingen ¢ EKn9 NS ¢-
+KD8 *875 #Kn653
~E84 4 K102 « 1064 « EK852 « EDKn42 410965
v 62 v KD vE5 v43 v 106 v32
¢108 ¢ DKn9753 ¢ 54 ¢ 8762 73 ¢ EKD92
#EKn7653 #94 #EK10942 #Kn3 »EK82 »104
D95 « DKn9 a-
vE8754 v 9876 v DKn75
¢ EK6 ¢+ KD103 + Kn108654
#102 «D6 «D97
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
39 112 3yDS= T 730 111.0 10| 96 104 4y N= A 420 1120 0.0| 20 86 54DV-3 vA 500 1099 21
94 11 3vDS= T 730 1110 1.0 88 93 2v N= «J 110 1100 20| 25 99 54DV-3 vA 500 1099 21
15 54 34DV-2 vJ 500 1060 6.0| 16 36 44 O-2 v7 100 106.0 6.0(105 110 64DV-3 vA 500 1099 21
28 90 4¢DO-2 &T 500 1060 6.0| 48 19 34 O-2 v7 100 1060 6.0 10 30 54DV-2 vA 300 1028 9.2
74 115 4¢DO-2 «T 500 1060 6.0|112 83 34 O-2 v9 100 106.0 6.0 33 34 54DV-2 vA 300 1028 9.2
1 30 4aV-2 vJ 200 97.0 15.0( 10 30 4+ V-1 vK 50 99.0 13.0( 57 2 54DV-2 vA 300 1028 9.2
13 49 3NO-2 v4 200 97.0 15.0| 14 82 34 O-1 v9 50 99.0 13.0| 96 104 54DO-2 +Q 300 1028 9.2
41 58 3#V-2 vJ 200 97.0 150( 24 6 34 0-1 v9 50 99.0 13.0( 7 94 44DV-1 vA 100 93.7 183
65 86 24 V-2 ¢4 200 97.0 15.0( 50 55 34 O-1 ¢K 50 99.0 13.0( 14 82 44DV-1 vA 100 93.7 183
80 18 34 V-2 vJ 200 97.0 15.0| 13 90 3v N-1 & A -50 85.0 27.0| 63 114 54 V-2 vA 100 93.7 183
82 63 3#V-2 vJ 200 97.0 15.0( 22 89 3v N-1 oA -50 85.0 27.0| 84 106 44 V-2 vA 100 93.7 183
5 77 3v S= ¢T 140 60.0 52.0( 52 65 3v N-1 s A -50 85.0 27.0|102 98 44DV-1 vA 100 93.7 183
10 4 3v S= ¢T 140 60.0 52.0( 59 95 3v N-1 LN, -50 85.0 27.0| 1113 44 V-1 vA 50 68.2 43.8
14 100 3v S= A 140 60.0 52.0( 73 54 3v N-1 oA 50 850 27.0| 4 71 44 V-1 vK 50 68.2 43.8
20 62 3v S= ¢T 140 60.0 52.0( 74 45 3v N-1 s A -50 85.0 27.0| 13 90 44 V-1 vA 50 68.2 43.8
23 71 3v S= ¢T 140 60.0 520 76 5 3v N-1 & A -50 85.0 27.0| 21 79 44 V-1 vA 50 68.2 43.8
24 3 2vS+1 T 140 60.0 52.0( 91 87 3v N-1 v4 -50 85.0 27.0| 22 89 4e V-1 vA 50 68.2 43.8
26 52 3v S= ¢T 140 60.0 52.0( 92 75 3v N-1 s A -50 850 27.0| 24 6 44V-1 vK 50 68.2 43.8
27 72 2v S+1 T 140 60.0 52.0(102 98 3v N-1 s A -50 85.0 27.0| 32 38 44 V-1 vA 50 68.2 43.8
32 79 29 S+1 ¢T 140 60.0 52.0( 23 47 4v N-2 K -100 70.0 42.0| 37 9 4eV-1 vA 50 68.2 43.8
35 8 3vS= ¢T 140 60.0 52.0( 39 35 4v N-2 A -100 70.0 42.0| 42 27 44 V-1 vA 50 68.2 43.8
36 95 3v S= ¢T 140 60.0 52.0| 41 53 4y N-2 A -100 700 42.0| 46 80 4e V-1 vA 50 68.2 43.8
37 96 3v S= A 140 60.0 52.0( 60 11 4vDN-1 A -100 700 420| 56 18 4e V-1 vK 50 68.2 43.8
38 103 3v S= ¢T 140 60.0 52.0( 64 12 4v N-2 A -100 70.0 42.0| 60 11 44 V-1 vA 50 68.2 43.8
48 73 3v S= ¢T 140 60.0 52.0| 46 80 2#V+1 vK -110 640 480| 62 72 4e V-1 vA 50 68.2 43.8
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